Svenska Bridgeférbundet
Silver 6, Festivalen 2011-08-03

Partavling, 83 bord, 166 par. Antal brickor: 42. Medel: 3442.9.

Plac Par
1 729
2 449
3 550
4 827
5 849
6 432
7 926
8 731
9 433
10 632
11 624
12 555
13 657
14 560
15 759
16 653
17 423
18 822
19 754
20 757
21 852
22 723
23 527
24 860
25 954
26 755
27 421
28 956
29 651
30 425
31 622
32 533
33 921
34 552
35 429
36 521
37 953
38 551
39 957
40 652
41 621
42 634
43 435
44 851
45 529
46 455
47 929
48 447
49 850
50 734
51 931
52 654
53 460
54 932
55 535
56 626
57 452
58 828
59 558
60 722
61 748
62 531
63 548
64 958
65 625
66 749
67 747
68 927
69 756
70 623
71 829
72 857
73 446
74 629
75 726
76 650
77 753
78 459
79 751
80 825
81 628
82 453
83 547
84 831
85 450

Poang

4292.8
4268.4
4148.6
4074.4
4067.3
4038.8
4030.7
4028.0
4009.5
4005.6
3972.7
3931.1
3931.0
3924.5
3907.7
3901.0
3895.6
3876.6
3857.5
3848.6
3848.4
3846.6
3842.8
3841.9
3834.1
3821.5
3809.2
3807.5
3806.6
3795.0
3793.2
3787.0
3775.0
3772.0
3766.6
3759.3
3757.0
3756.8
3753.9
3747.0
3718.5
3714.9
3708.9
3703.6
3701.5
3694.1
3665.3
3658.9
3655.9
3642.5
3633.9
3612.2
3609.5
3599.3
3595.9
3594.4
3586.2
3586.0
3585.3
3580.5
3579.8
3573.4
3568.6
3555.5
3554.5
3547.3
3534.5
3518.1
3512.5
3506.1
3503.5
3493.6
3483.9
3474.8
3472.9
3466.7
3464.9
3448.0
3444.9
3438.1
3431.2
3423.6
3403.4
3397.3
3391.8

%

62.32
61.97
60.23
59.15
59.05
58.64
58.52
58.48
58.21
58.15
57.68
57.07
57.07
56.98
56.73
56.64
56.56
56.28
56.00
55.87
55.87
55.84
55.79
55.78
55.66
55.48
55.30
55.28
55.26
55.10
55.07
54.98
54.81
54.76
54.68
54.58
54.54
54.54
54.50
54.40
53.99
53.93
53.85
53.77
53.74
53.63
53.21
53.12
53.08
52.88
52.76
52.44
52.40
52.25
52.20
52.18
52.06
52.06
52.05
51.98
51.97
51.88
51.81
51.62
51.60
51.50
51.31
51.08
50.99
50.90
50.86
50.72
50.58
50.45
50.42
50.33
50.30
50.06
50.01
49.91
49.81
49.70
49.41
49.32
49.24

Namn

Goran Andersson - Ann-Charlotte Tranvik
Albertas Tyla - Alvydas Saulis

Bjorn Sorling - Bjérn Thalén

Robert Back - Niklas Andrén

Mona Bergstrom - Magnus Hammar
Olof Bergstrom - Jan-Erik Thomasson
Jan-Crister Andersson - Bertil Persson
Pontus Silow - Erik Bergengren

Rolf Glyssner - Peter Juhlin

Jan-Erik Asmo - Peter Karlsson

Jan Ahlqvist - Jan Konar

Jan Andersson - Sten Ternblad
Gullbritt Trydefeldt - Ulla von Schlanbusch
Lars-Goran Niklasson - Hakan Tjarnemo
Goran Levan - Lars-Ingvar Hydén

Leif Bremark - Marten Gustawsson
Kenneth Fredriksson - Carina Hallkvist
Niclas Johansson - Per Jansson

Lars Ericson - Heikki Seppéanen

Pierre Carbonnier - Carl-Ake Hollander
Niels Krgjgaard - Mads Krgjgaard
Henrik Sallberg - Bjérn Ohlsson

David Bryder - Mats Berggren

Arttu Karhulahti - Seppo Sauvola
Torsten Astrand - Orjan Jacobsson
Simon Bech - Ida Gronkvist

Mikael Westerlund - Erika Rodin

UIf Backman - Gunnar Gothberg
Stefan Jonsson - Erik Fryklund

Simon Ekenberg - Markus Hedstréom
Johan Groénkvist - Maria Gronkvist
Matti Lepisto - Tommy Linder

Hakan Straaf - Mats Sjoberg

Stefan Lilja - Peter Backstrand

Leif Lysebring - Jordan Gachev

Elsa Persson - Anki Olofsson

Kjell Glans - Henrik Dellien

Henrik Noberius - Bo Roos

Leif Ruthstrém - Nils Ahlén

Per-Ake Jansson - Hernando Slottsdahl
Ann-Sofie Axelsson - Leif Axelsson
Sveinn Runar Eiriksson - Fredrik Alfredsson
Snorri Karlsson - Aron Thorfinnsson
Ola Stavas - Michael Lindhagen

Thor Simonsen - Lars-Goéran Larsson
Vidar Wahlestedt - Torbjorn Gustavsson
Lars-Eije Svensson - Staffan Rockler
Johan Wahlberg - Mans Berg

Bengt Jonsson - Rolf Andersson
Ragnar Hermannsson - Gumundur Snorrason
Bo Sundell - Morgan Svensson
Magnus Goransson - Tobias Bende
Mats Hall - Ake Rustad

Rasmus Andersson - UIf Andersson
UIf Wallin - Bernt Nas

Per-Ake Pettersson - Olle Morell
Andreas Skoglund - Jimmy Johansson
Hans-Olof Hallén - Rolf Bengtsson
Mats Danielsson - Pia Danielsson

Jan Holm - Eva Nyberg

Mats Allgéwer - Goran Selldén

Rainer Trapp - Anders Viklund

Bo Stanley - Peder Olrog

Jan Geiborg - Leif Norman

Lars Lundgren - Rune Svensson
Tomas Truedsson - Bo Andersson
Orjan Sjoberg - Mikael Karlin

Lars-Ake Svensson - Hakan Johansson
Johan Noberius - Mats Nilsland

Osten Andersson - Olle Agren

Hans Hultqvist - Ake Eed-Jonsson

Per Moberg - Eva Ek

Bengt Santesson - Nils Cederblad
Hans Bergh - Lars Nilsson

Jan Wistrom - Marie Ynner

Martin Johnsson - Bengt Emanuelsson
Per Larsson - Hans Bogeskéar

Anders Ljung - Lillemor Strindberg
Simon Hult - Daniel Gullberg

Adam Stokka - Olle Vikstrém

Ola Rimstedt - Lennart Eriksson
Anders Lindgren - Birgitta Ternblad
Goran Hammarstrom - Mikael Arnberg
Lennart Karlsson - Thomas Kaijser
Johnny Petersson - Nene Quimson
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MID

1857
+562
80438
11174
88203
1200
6897
87294
12502
2970
10458
11704
12048
11361
11679
11042
9842
14128
12536
5538
DEN1315
29785
3176
+535
1393
87173
9690
82648
13697
41685
8342
14649
1161
20858
10391
11278
15295
79008
13060
2714
1818
+509
36575
1134
30021
121
14309
23539
1651
+519
3413
1625
148
24965
16124
9960
23392
9896
4120
45
8386
36579
11020
12165
10275
6380
25534
1353
655
11742
2199
3961
20459
9382
4167
13345
10701
13459
36107
30515
88183
13951
11426
1196
10420

27165
+568
23411
1623
81627
1304
7366
51648
23716
2382
9717
9539
638
5534
5794
8699
6161
2485
3215
20591
DEN1314
5648
5549
+534
11240
31083
93303
14641
80722
87082
1076
13938
1198
13838
+469
1889
9577
13691
1169
8996
1706
83200
+520
17101
6849
1255
20114
12873
1576
+521
6177
27672
13652
5436
9848
2811
81411
4614
4116
11574
4863
9400
9180
8797
2635
5896
13772
17136
4773
6048
13454
5301
13875
50311
38957
4620
4476
8806
37167
43263
9020
1981
24686
85965
30052

Klubb

BK ALERT - Véxjobridgen
Lithuania

Bohus Nations BS - Filbyter Bridge
BK Lyx - Ystads BS

BK S:t Erik

Filbyter Bridge

Majstangens BK - BK Albrekts
BK S:t Erik - Visby BS
Ruterklubben i Umed - LUCK
BK Centrum

BK Lyx

BK S:t Erik

IFK Karlskrona

LUCK

Skévde BA - BK Lavec

BK S:t Erik - Nasby BS
Storsjobygdens BK - Sydjamten
Konga BK

Gavle BK - Séderhamns BS
LUCK - Kristinehamns BK
Akademisk Bridgeklub, Arhus
Karlshamns BK - Sélvesborgs BK
LUCK - BK Bridgehuset
Finland

Motala Bridgeallians

BK S:t Erik - Orebridgen

BK Lyx - BK S:t Erik
Kristinehamns BK - Orebridgen
Konga BK - Filbyter Bridge
Lilla Sallskapet - Skovde BA
Orebridgen

LUCK - Sorsele BK

Filbyter Bridge

BK Opalen

Varnamo BK - Bulgaria
Upphérads BK

Orust BK - Munkedals BS
Skara BS

Storsjobygdens BK - BK Everfresh
Smedstadens BK - ABB BK
Skoévde BA

Iceland - Karlstads BK
Karlstads BK - Iceland

BK S:t Erik - Blomstermala BK
Uddevalla BF

IFK Karlskrona - BK S:t Erik
Mjélby BK - Boxholms BS

BK S:t Erik

Skoévde BA

Iceland

Storsjébygdens BK

Skara BS - BS 53, Goteborg
Borlange BK - Malungs BK
Munka Ljungby BS
Storsjobygdens BK

BK Fyris

Karlstads BK - Askers. BK Singelton
Malmé BK

Kumla BS

Hedemora BS

MéInlycke BS - BK Lyx
Smedstadens BK

Orebridgen - BK S:t Erik
Gnesta BK

Arboga BK - Kdpings BS
Kullabygdens BK

Améls'BS

Overums BK - BK S:t Erik
BK Bridgehuset - Malmé BK
PBF Uppsala

BK S:t Erik - Lindesbergs BS
Boden-Séavast BS
Kullabygdens BK
Norrkopingsbridgen

BK Allians, Halmstad
Landskrona BK - LUCK
Falkopings BS - Alingsas BS
Amals BS - Arla BK

Lilla Sallskapet - BK S:t Erik
BK Bjorken

Harplinge BK - Arla BK

BK S:t Erik

BK S:t Erik

Filbyter Bridge

Varnamo BK - Ej medlem




115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166

430
830
522
752
658
456
930
859
549
951
559
422
656
856
534
853
655
746
823
546
428
826
955
633
928
959
556
760
821
952
424
5563
730
924
660
923
526
724
554
427
532
457
925
426
854
659
721
824
525
627
832
960
434
528
728
750
523
732
949
458
727
648
725
922
735
530
950
758
454
557
451
631
733
524
855
647
431
630
649
448
858

3386.8
3377.5
3373.0
3371.9
3356.7
3355.1
3342.5
3338.2
3335.1
3330.2
3329.6
3327.2
3324.1
3321.5
3320.7
3317.9
3311.3
3309.6
3302.9
3292.1
3290.9
3290.3
3288.5
3286.9
3286.8
3281.4
3275.3
3272.8
3270.9
3269.9
3267.7
3260.1
3258.4
3249.9
3245.7
3245.1
3243.6
3236.2
3227.4
3218.6
3201.7
3191.2
3183.5
3182.4
3182.3
3176.4
3176.2
3156.0
3153.2
3134.1
3128.1
3127.6
3112.7
3110.2
3103.5
3100.2
3100.0
3099.0
3097.1
3079.6
3079.5
3065.9
3065.6
3055.3
3049.6
2973.7
2951.5
2951.4
2920.6
2914.5
2898.4
2876.7
2863.5
2826.7
2793.1
2790.4
2778.6
2772.5
2762.5
2722.1
2658.0

49.17
49.04
48.97
48.95
48.73
48.71
48.53
48.46
48.42
48.35
48.34
48.30
48.26
48.22
48.21
48.17
48.07
48.05
47.95
47.79
47.78
47.77
47.74
47.72
47.72
47.64
47.55
47.51
47.49
47.47
47.44
47.33
47.31
47.18
47.12
47.11
47.09
46.98
46.86
46.73
46.48
46.33
46.22
46.20
46.20
46.12
46.11
45.82
45.78
45.50
45.41
45.41
45.19
45.15
45.06
45.01
45.01
44.99
44.96
4471
44.71
44.51
4451
44.36
44.27
43.17
42.85
42.85
42.40
42.31
42.08
41.76
41.57
41.04
40.55
40.51
40.34
40.25
40.11
39.52
38.59

Britt Cunat - Morgan Larsson

Bengt Nilsson - Peter Forsberg

Simon Nilsson - Jérgen Andersson
Hans Jakobsson - Claes-Hugo Larsson
Roland Myrvold - Marie Binglév

Lars Marjoniemi - Bengt Pettersson
Catrin Wahlestedt - Anton Lonqvist
Bengt Bellander - Gabor Barath
Anders Freij - Thomas Brehmer

Ted Jansson - Rolf Karlsson

Peter Wester - Magnus Melin

Jonas Dahlgren - Hans-Olov Gustafsson
Robert Storm - Claus Réhnisch
Henrik Oldenburg - Géran Strom

Tore Stormo - Ola Lindholm

Bengt Nilsson - Bengt Svedrell
Kerstin Ernby - Per-Olov Torngvist
Gudrun Strandberg - Lena Kérrstrand Nilsland
Bjorn Sanzén - Peter Billgren

Stefan Josefsson - Patric Holmberg
Per Andersson - Villy Havasi

Marie Johansson - Dan Johansson
Thomas Bouvin - Hans Lilja

Lars-Erik Moberg - Galina Nilsson
Karl Asplund - Marcus Hjelte

Birgitta R&dberg - Kjell Bjoérklund
Maud Satherstrom - Gun Hirvonen
Thomas Magnusson - Dejana Sverker
Sven-Erik Hallkvist - J6ns Johansson
Bosse Wisth - Tommy Overmark
Hans Otterstrom - Per Laving

Per Norberg - Leif Lundberg

Johan Karlsson - Anders Johansson
Lars Manneteg - Carmen Tuason
Sven Danielsson - Jan-Ake Hakanson
Goran Franke - Andrzej Luczynski
Micael Svensson - Jon Scheutz
Roland Andersson - Morgan Wiklander
Bo Ericson - Joakim Ericson

Anders Dellien - Mikael Olsson
Andrius Michailovas - Saulius Sakarauskas
Daisy Hajek - Gunnel Svensson
Anders Rosenlund - Stefan Ekman
Marito Karlsson - Peter Huotila

UIf Runze - Dorothy Lindoff

Dag Josefsson - Ann-Marie Josefsson
Ingemar Assarsjo - Arne Jordestedt
Lars Lundgvist - Lena Adolfsson

Leif Ernstsson - Hakan Persson
Gosta Nordenson - Britt Nordenson
John Ekdahl - Christer Nordstrom
Kent Karlsson - Bjorg Karlsson
Susanne Olausson - Micael Olausson
Nils Buck - Sonia Buck

Kenneth Hedman - Stefan Vestlund
Eddie Persson - Peter Carlsson
Birgitta Lénberg - Linnéa Pehrson
Pernilla Andreasson - Patricia Kronback
Bengt Eriksson - Birgitta Carlson
Ulrika Lindstrom - Mikael Rimstedt
Gunnar Jansson - Annelie Jansson
Jesper Rundin - Bengt Lindskog

Ella Olsson - Carina Eliasson

Ake livall - Lars Janeskéld

Claes Melin - Michael Jungstedt
Orjan Randhede - Bengt Andersson
Mikael Skoog - Solweigh Andersson
Christer Winther - Tommy Kellander
Anna Skau - Catarina Skau

Goran Magnusson - Bogdan Nowacki
Inger Mork - Ingrid Skoglund

Henning Tingvall - Lars Ekenlév

Lars Hamberg - Ulla Ridderstad

Inge Magnusson - Leif Johansson
Jorgen Peterson - Christer Palmqgvist
Markus Sandberg - Ingela Nelander Hall
Magnus Persson - Runa Persson
Ann-Christin Ahlstrdm - Therése Andersson
Nell Rindahl - Peter Gallmayer
Torbjorn Herngren - Jakob Sondén
Siv Jacobsson - Bengt Pagoldh

7921 2752
18043 51490
85753 22136
4844 18560
79001 83990
14508 2870
83325 89576
903 916
5548 4133
35998 83414
54 26213
84341 5401
92042 4081
9549 5370
78250 18569
10267 89485
3428 1862
4143 7677
5900 4458
2033 17031
17111 89205
17265 11809
24557 4659
8593 29991
80064 84282
17276 3139
7620 14428
3693 50940
12984 6143
9600 13861
1983 2603
20066 20271
32229 18441
2944 89810
5597 5598
1901 81105
2383 93748
1766 1785
2962 26279
7117 8561
+517 +518
4302 7601
532 18318
15214 4317
4967 2753
51 17734
647 4809
6692 25982
13674 12948
11392 6782
14874 11282
3918 5831
90653 83375
41941 40698
50538 13174
7345 11594
13579 5800
24710 33879
16175 84
26477 88184
51436 51435
80778 490
20412 78229
10802 89544
9105 9100
6043 9212
11067 11154
4583 14354
82924 21342
1123 15806
86266 3419
10744 8648
3696 25973
7398 945
92572 92256
34572 93856
87044 8000
31274 35554
DEN22681 DEN84004
26086 93481
7353 78230

Varo BK

ABB BK

Ho66rs BK - Landskrona BK
Partille BK

Filbyter Bridge
Hallstahammars BK

IFK Karlskrona - Boras BA
Véaxjobridgen

LUCK - Orebridgen
Mariehamns BK

Hedemora BS

BK Bjorken

Orebridgen

Luled BK

Arla BK - Karlstads BK
Lunds BK - Ystads BS
Skoévde BA

Arla BK - Karlstads BK

BK Lavec

Arla BK - Malungs BK

BK Albrekts

Karlshamns BK

Lindesbergs BS
Vanershorgs BS
LudvikaBygdens BK - Upsala BS
Gavle BK

BK Lyx - MéInlycke BS
Nasby BS - Orebridgen
Sydjamten
Norrkdpingsbridgen

Lidingd BK - Nasby BS
Lulea BK

Hallefors BK - Kristinehamns BK
Upsala BS - BK S:t Erik

BK Axet

Véanersborgs BS

Orebridgen

Véargarda BS - Alingsas BS
Gavle BK - Skutskars BK
Munkedals BS - Kungshamns BK
Lithuania

Ulricehamns BS - Boras BA
Ystads BS - Arla BK

BK Fyris

AsalFrillesds BK - Kungsbacka BS
Folkare BK

Véargarda BS

Filbyter Bridge - Valdemarsviks BK
Lindesbergs BS - Nora BK
Norrkdpingsbridgen
Sdderhamns BS - Bollnas BK
Uddevalla BF

Mariehamns BK

Strangnas BK Gripen

Géavle BK

Arla BK - BK S:t Erik

Boras BA - Ulricehamns BS
Bollnés BK - Gavle BK

BK S:t Erik - Tyres6 BK

BK Everfresh - Harplinge BK
BK Lyx

Hedemora BS - Visby BS
BK Lyx - BK Albrekts

BK S:t Erik

BK S:t Erik

Filbyter Bridge

Arvika BS - Karlstads BK
LUCK - BK Zonen
Kungshamns BK - Smedstadens BK
Vaxjobridgen

BK Skogsstjarnan

BK S:t Erik

BK Opalen

Vaxjobridgen

BK Allians, Halmstad
Borlange BK

Arboga BK

Orebridgen

Valby BridgeCenter

BK S:t Erik

BK Albrekts - Asper6-Branno BK
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1 «KD Basta kontrakt 2 « E1042 Basta kontrakt
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 Kn543 4« Kn6
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Par Kontr ut Res Poang Par Kontr ut Res Poang
556 525 4¢DN= *3 510 161.0 3.0| 447 434 5v O-1 ] 50 161.0
757 728 4¢DS= *7 510 161.0 3.0 456 425 4vO-1 ] 50 161.0
860 822 4¢DN= *2 510 161.0 3.0| 460 421 5v0O-1 *9 50 161.0
955 928 4¢DN= *6 510 161.0 3.0| 660 623 4v O-1 ] 50 161.0
921 923 3¢DN= s A 470 156.0 8.0 423 458 4v O= »5 -420 122.0
429 452 44D O -2 vJ] 300 150.0 14.0| 429 452 4v O= &T -420 122.0
522 559 5&D O -2 vJ] 300 150.0 140 435 446 4v O= &T -420 122.0
555 526 3NDV -2 v5 300 150.0 14.0| 449 432 4v O= vQ -420 122.0
750 735 44D O -2 vJ] 300 150.0 14.0| 453 428 4v O= ] -420 122.0
852 831 5&#D O -2 vJ] 300 150.0 140 455 426 4v O= »3 -420 122.0
453 428 44 O-3 vJ] 150 144.0 20.0| 459 422 4v O= *9 -420 122.0
449 432 3¢ S+1 *7 130 132.0 32.0| 522 559 4v O= «9 -420 122.0
626 659 4¢ N= *4 130 132.0 32.0| 535 546 4v O= »5 -420 122.0
650 647 3¢ N+1 *4 130 132.0 32.0| 549 532 4v O= *9 -420 122.0
660 623 2¢ N+2 LY 130 132.0 32.0| 551 530 4v O= &5 -420 122.0
751 734 3¢ N+1 8 130 132.0 32.0| 553 528 4v O= ] -420 122.0
753 732 3¢ N+1 *2 130 132.0 32.0| 555 526 4v V= *4 -420 122.0
756 729 4¢ N= *4 130 132.0 32.0| 556 525 4v O= 4] -420 122.0
758 727 4¢ N= *4 130 132.0 32.0| 622 624 4v O= »5 -420 122.0
760 723 4¢ N= *8 130 132.0 320 625 621 4y O= *7 -420 122.0
825 858 3¢ N+1 *6 130 132.0 32.0| 626 659 4v O= ] -420 122.0
857 826 3¢ N+1 *4 130 132.0 32.0| 633 652 4v O= *9 -420 122.0
451 430 2¢ N+1 46 110 109.0 55.0| 649 648 4y O= *9 -420 122.0
455 426 3¢ N= »2 110 109.0 55.0| 650 647 4v O= «5 -420 122.0
529 552 3¢ S= »5 110 109.0 55.0| 651 634 4v O= »5 -420 122.0
560 521 2¢ N+1 *6 110 109.0 55.0| 657 628 4y O= »5 -420 122.0
625 621 2¢ N+1 s A 110 109.0 55.0| 749 746 4v O= «9 -420 122.0
747 748 2¢ N+1 *6 110 109.0 55.0| 750 735 4v O= »5 -420 122.0
755 730 3¢ N= *6 110 109.0 55.0| 753 732 4v O= ) -420 122.0
850 849 3¢ N= #3 110 109.0 55.0| 755 730 4v O= &5 -420 122.0
925 958 3¢ N= *4 110 109.0 55.0| 758 727 4v O= ] -420 122.0
930 953 3¢ N= *6 110 109.0 55.0| 821 823 4v O= *9 -420 122.0
932 951 2¢ N+1 *7 110 109.0 55.0| 852 831 4v O= «5 -420 122.0
952 931 2¢ N+1 *6 110 109.0 55.0| 855 828 4v O= »5 -420 122.0
431 450 2NV -2 +5 100 86.0 78.0| 860 822 4v O= 3 -420 122.0
435 446 4#DO-1 vJ] 100 86.0 780 925 958 4y O= &5 -420 122.0
448 433 44D O-1 vJ] 100 86.0 78.0( 950 949 4v O= ] -420 122.0
460 421 44#DO-1 v] 100 86.0 78.0| 954 929 4v O= &5 -420 122.0
549 532 4#DO-1 vJ] 100 86.0 78.0( 955 928 4y O= vQ -420 122.0
622 624 44#DO-1 vJ] 100 86.0 78.0 424 457 4v O+1 ] -450 51.0
631 654 44DO-1 v] 100 86.0 78.0| 431 450 4v O+1 »5 -450 51.0
655 630 44DO-1 2 100 86.0 78.0| 451 430 4v O+1 &T -450 51.0
733 752 3NV-2 +3 100 86.0 78.0( 523 558 4v O+1 ] -450 51.0
830 853 3#DO-1 v] 100 86.0 78.0| 524 557 4y O+1 *7 -450 51.0
832 851 4#DO-1 vJ] 100 86.0 78.0| 529 552 4v O+1 *9 -450 51.0
423 458 34 0-1 vJ] 50 69.0 95.0| 531 550 4v O+1 &4 -450 51.0
424 457 34 0-1 v] 50 69.0 95.0| 547 534 4y O+1 *A -450 51.0
535 546 54 0O-1 vJ] 50 69.0 95.0| 548 533 4v O+1 *9 -450 51.0
722 724 3NV-1 *A 50 69.0 95.0| 554 527 4v O+1 ] -450 51.0
725 721 3NV-1 +5 50 69.0 95.0| 560 521 4v O+1 vQ -450 51.0
956 927 3#0-1 vJ] 50 69.0 95.0| 631 654 4v O+1 *9 -450 51.0
454 427 4¢ N-1 *6 -50 53.0 111.0| 653 632 4v O+1 *9 -450 51.0
524 557 4¢ N-1 *6 -50 53.0 111.0| 655 630 4y O+1 *9 -450 51.0
547 534 4¢ N-1 a2 -50 53.0 111.0| 656 629 4v O +1 &T -450 51.0
553 528 2v N-1 »8 -50 53.0 111.0| 658 627 4v O+1 ] -450 51.0
554 527 4¢ S-1 *7 -50 53.0 111.0| 722 724 4y O+1 *9 -450 51.0
657 628 3¢ N-1 *4 -50 53.0 111.0| 725 721 4v O+1 *A -450 51.0
726 759 4¢ N-1 *4 -50 53.0 111.0| 747 748 4v O+1 ] -450 51.0
731 754 4¢ N-1 *4 -50 53.0 111.0| 751 734 4y O+1 ] -450 51.0
957 926 44 N-1 *4 -50 53.0 111.0| 756 729 4v O +1 *9 -450 51.0
960 922 4¢ S-1 *7 -50 53.0 111.0| 757 728 4v O+1 *9 -450 51.0
459 422 4¢DS-1 *Q -100 36.0 128.0| 824 859 4v O+1 »5 -450 51.0
548 533 4¢DN-1 *4 -100 36.0 128.0| 825 858 4v O+1 s -450 51.0
653 632 4¢DN-1 *4 -100 36.0 128.0| 832 851 4v O+1 »5 -450 51.0
821 823 5¢ N-2 *4 -100 36.0 128.0| 850 849 4v O+1 3 -450 51.0
855 828 5¢DN-1 *4 -100 36.0 128.0| 856 827 4v O +1 s -450 51.0
856 827 5¢ N-2 *4 -100 36.0 128.0| 857 826 4v O+1 ] -450 51.0
924 959 5¢ N-2 *3 -100 36.0 128.0| 921 923 4y O+1 *9 -450 51.0
633 652 34 0= vJ] -110 25.0 139.0| 924 959 4v O +1 *9 -450 51.0
658 627 3# O= vJ] -110 25.0 139.0| 930 953 4v O+1 ] -450 51.0
749 746 3# 0= vJ] -110 25.0 139.0| 932 951 4v O+1 ] -450 51.0
854 829 24 0O +1 vJ] -110 25.0 139.0| 952 931 4v O+1 s -450 51.0
523 558 34 0O +1 vJ] -130 18.0 146.0| 956 927 4v O+1 ] -450 51.0
649 648 4# 0O = vJ] -130 18.0 146.0| 957 926 4y O+1 *9 -450 51.0
651 634 34 0O+1 vJ] -130 18.0 146.0| 960 922 4v O+1 *A -450 51.0
551 530 3NS-3 *Q -150 14.0 150.0| 731 754 4vDO= *9 -590 14.0
824 859 5¢DS-2 *7 -300 11.0 153.0| 454 427 54DN -3 &K -800 8.0
950 949 5¢DN-2 *6 -300 11.0 153.0| 726 759 54#DN-3 &A -800 8.0
531 550 3NV= 6 -400 8.0 156.0| 733 752 5#DN-3 vA -800 8.0
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447 434 44D O = vl] -510 3.0 161.0| 760 723 54D N -3 vA -800 8.0 156.0
456 425 44D O = v] -510 3.0 161.0| 854 829 5&4DN -3 *A -800 8.0 156.0
656 629 44D O = vJ] -510 3.0 161.0| 448 433 54DN-4 vA -1100 1.0 163.0
954 929 44D O= vl] -510 3.0 161.0| 830 853 54DN -4 *A -1100 1.0 163.0
631 654 Pen/Pen -82.0 0.0
3 « KDKn97 Bésta kontrakt 4 « EKn94 Bésta kontrakt
Syd vE10 44 S D -3-500 Vast v KKn3 44 N =620
oV ¢ DKn93 Alla ¢+ E763
#Kn2 & ¢ v & NT *D6 & ¢ v & NT
462 4853 N363765 41073 &aK2 N6 7 9 107
vKDKn987 v6 S363765 vE872 v105 S56897
+ K10 ¢ E842 O 107 105 7 ¢ 842 + KKn109 076 435
#E54 #KD963 V 107 105 7 #Kn105 #K9873 V761435
4 E104 4 D865
v 5432 v D964
¢ 765 +D5
#1087 #E42
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
425 458 24 N= v6 110 153.0 11.0| 648 633 44 N+1 vT 650 163.0 1.0
560 522 24 N= v6 110 153.0 11.0| 654 627 44 N+1 *3 650 163.0 1.0
648 633 24 N= v6 110 153.0 11.0| 421 423 44 N= vT 620 128.0 36.0
651 630 24 N= v6 110 153.0 11.0| 425 458 44 N= *3 620 128.0 36.0
729 752 24 N= v3 110 153.0 11.0| 432 451 44 N= *T 620 128.0 36.0
747 734 24 N= v6 110 153.0 11.0| 449 434 44 N= 3 620 128.0 36.0
748 733 24 N= v6 110 153.0 11.0| 450 433 44 N= vT 620 128.0 36.0
749 732 24 N= v6 110 153.0 11.0| 452 431 44 N= 3 620 128.0 36.0
754 727 24 N= v6 110 153.0 11.0| 456 427 44 N= *7 620 128.0 36.0
925 921 24 N= v6 110 153.0 11.0| 525 558 44 N= *7 620 128.0 36.0
931 954 24 N= v6 110 153.0 11.0| 550 533 44 N= »8 620 128.0 36.0
955 930 24 N= v6 110 153.0 11.0| 554 529 44 N= *T 620 128.0 36.0
751 730 44 0-1 s A 100 139.0 25.0| 555 528 44 N= vT 620 128.0 36.0
825 821 540-1 oA 100 139.0 25.0| 629 652 44 N= vT 620 128.0 36.0
421 423 34 N-1 v6 -50 122.0 42.0| 651 630 44 N= 3 620 128.0 36.0
430 453 34 N-1 v6 -50 122.0 42.0| 655 626 44 N= 3 620 128.0 36.0
432 451 34 N-1 v6 -50 122.0 42.0| 729 752 44 N= v3 620 128.0 36.0
452 431 34 N-1 v6 -50 122.0 42.0| 731 750 44 N= 3 620 128.0 36.0
455 428 34 N-1 v5 -50 122.0 42.0| 747 734 44 N= vT 620 128.0 36.0
460 422 34 N-1 v6 -50 122.0 42.0| 748 733 44 N= +J 620 128.0 36.0
525 558 34 N-1 v6 -50 122.0 42.0| 751 730 44 N= vT 620 128.0 36.0
549 534 34 N-1 v6 -50 122.0 42.0| 755 726 44 N= vT 620 128.0 36.0
624 657 34 N-1 v6 -50 122.0 42.0| 822 824 44 N= vT 620 128.0 36.0
656 625 34 N-1 v6 -50 122.0 42.0| 825 821 44 N= vT 620 128.0 36.0
723 758 34 N-1 v] -50 122.0 42.0| 826 859 44 N= *3 620 128.0 36.0
731 750 34 N-1 v6 -50 122.0 42.0| 849 852 44 N= 9 620 128.0 36.0
831 854 34 N-1 v6 -50 122.0 42.0| 851 850 44 N= 3 620 128.0 36.0
851 850 34 N-1 v6 -50 122.0 42.0| 853 832 44 N= *2 620 128.0 36.0
953 932 34 N-1 v6 -50 122.0 42.0| 857 828 44 N= 3 620 128.0 36.0
457 426 3¢ N-2 v6 -100 93.0 710 926 959 44 N= 3 620 128.0 36.0
521 523 44 S-2 vK -100 93.0 71.0| 949 952 44 N= vT 620 128.0 36.0
546 547 34DN-1 v6 -100 93.0 71.0| 951 950 44 N= 3 620 128.0 36.0
548 535 34DN-1 v6 -100 93.0 710 956 929 44 N= vT 620 128.0 36.0
550 533 34DN-1 v6 -100 93.0 71.0| 957 928 44 N= +J 620 128.0 36.0
659 622 34 N-2 v6 -100 93.0 71.0| 958 927 44 N= vT 620 128.0 36.0
724 757 34 N-2 v6 -100 93.0 71.0| 560 522 24 N+2 vT 170 92.0 72.0
735 746 34DN-1 v6 -100 93.0 71.0| 735 746 34 N+1 *6 170 92.0 72.0
756 725 34 N-2 v4 -100 93.0 71.0| 953 932 24 N +2 vT 170 92.0 72.0
759 722 34 N-2 v6 -100 93.0 71.0| 749 732 2NN +1 *J 150 88.0 76.0
826 859 34DN-1 v6 -100 93.0 71.0| 457 426 34 N= vT 140 83.0 81.0
849 852 34DN-1 v6 -100 93.0 71.0| 549 534 34 N= vT 140 83.0 81.0
853 832 34 N-2 v6 -100 93.0 710 623 658 24 N+1 vT 140 83.0 81.0
860 823 34 N-2 v5 -100 93.0 71.0| 723 758 34 N= vT 140 83.0 81.0
446 447 34 O +1 »8 -130 74.0 90.0| 653 628 INN+1 *3 120 78.0 86.0
524 559 44 0O= s A -130 74.0 90.0| 925 921 INO-1 *0Q 100 76.0 88.0
653 628 44 0= a A -130 74.0 90.0| 424 459 44 N-1 vT -100 42.0 122.0
755 726 34 Q+1 v4 -130 74.0 90.0 | 446 447 44 N-1 vT -100 42.0 122.0
958 927 44 0= s A -130 74.0 90.0| 448 435 44 N-1 vT -100 42.0 122.0
926 959 3v V= a K -140 68.0 96.0| 454 429 34 N-1 vT -100 42.0 122.0
424 459 2v V +2 a K -170 47.0 117.0| 455 428 44 N-1 vT -100 42.0 122.0
454 429 2v V +2 oK -170 47.0 117.0| 460 422 44 N-1 vT -100 42.0 122.0
456 427 2v V +2 a K -170 47.0 117.0| 521 523 44 N-1 +J -100 42.0 122.0
530 553 2v V+2 a K -170 47.0 117.0| 524 559 44 N-1 vT -100 42.0 122.0
554 529 2v V +2 oK -170 47.0 117.0| 530 553 44 N-1 #3 -100 42.0 122.0
555 528 2v V +2 a K -170 47.0 117.0| 532 551 44 N-1 43 -100 42.0 122.0
557 526 2v V +2 a K -170 47.0 117.0| 548 535 3NN-1 3 -100 42.0 122.0
623 658 2v V+2 oK -170 47.0 117.0| 552 531 44 N-1 LN -100 42.0 122.0
629 652 3v V+1 a K -170 47.0 117.0| 556 527 44 N-1 vT -100 42.0 122.0
631 650 2v V +2 a K -170 47.0 117.0| 557 526 44 N-1 vT -100 42.0 122.0
654 627 3v V+1 oK -170 47.0 117.0| 631 650 44 N-1 vT -100 42.0 122.0
655 626 3v V+1 a K -170 47.0 117.0| 647 634 44 N-1 v5 -100 42.0 122.0
753 728 2v V +2 4Q -170 47.0 117.0| 649 632 3NN-1 *5 -100 42.0 122.0
855 830 3v V+1 oK -170 47.0 117.0| 656 625 44 N-1 vT -100 42.0 122.0
856 829 3v V+1 a K -170 47.0 117.0| 659 622 44 N-1 vT -100 42.0 122.0
857 828 3v V+1 a K -170 47.0 117.0| 660 621 44 N-1 vT -100 42.0 122.0
858 827 3v V+1 oK -170 47.0 117.0| 724 757 44 N-1 vT -100 42.0 122.0
922 924 2v V +2 a K -170 47.0 117.0| 753 728 44 N-1 vT -100 42.0 122.0
949 952 2v V +2 a K -170 47.0 117.0| 754 727 44 N-1 vT -100 42.0 122.0
957 928 3v O +1 oK -170 47.0 117.0| 756 725 44 N-1 va -100 42.0 122.0
449 434 2v V +3 a K -200 25.0 139.0| 759 722 44 N-1 vT -100 42.0 122.0
660 621 3v V+2 a K -200 25.0 139.0| 831 854 44 S-1 L} -100 42.0 122.0
448 435 44D N-2 v6 -300 20.0 144.0| 855 830 44 N-1 vT -100 42.0 122.0
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552 531 34DN-2 v6 -300 20.0 144.0| 856 829 34 N-1 vT -100 42.0 122.0
760 721 44DN-2 v6 -300 20.0 144.0| 860 823 3NN-1 8 -100 42.0 122.0
450 433 44DN-3 v3 -500 14.0 150.0| 922 924 44 N-1 vT -100 42.0 122.0
647 634 44DN-3 v6 -500 14.0 150.0| 931 954 44 N-1 vT -100 42.0 122.0
951 950 34D N-3 v6 -500 14.0 150.0| 955 930 44 N-1 vT -100 42.0 122.0
556 527 4v V= a K -620 7.0 157.0| 960 923 44 N-1 vT -100 42.0 122.0
649 632 4v V= &K -620 7.0 157.0| 430 453 44 N-2 vT -200 4.0 160.0
822 824 4v V= s K -620 7.0 157.0| 546 547 44 N-2 vT -200 4.0 160.0
960 923 4v V= 4Q -620 7.0 157.0| 624 657 44 N-2 vT -200 4.0 160.0
532 551 4v O+1 43 -650 2.0 162.0| 760 721 4v N-2 vT -200 4.0 160.0
956 929 4v V +2 +Q -680 0.0 164.0| 858 827 3NN-2 *2 -200 4.0 160.0
5 a7 Basta kontrakt 6 «Kn4 Basta kontrakt
Nord v EKn 4¢ N =130 Ost v DKn52 44 O =-620
NS ¢ Kn10953 ov ¢ 8542
#EDKn82 & ¢ v & NT #Kn63 & ¢ v & NT
4 DKn108 & K9654 N 10107 6 8 » EK6 4 D872 NOOS520
v K92 vD1087 S 10107 6 8 v 874 v 103 S00520
+ KD7 +8 0326765 ¢ EDKn103 ¢ K7 O 11118 109
#1097 #643 V32675 *K2 #ED1084 V 11118 109
« E32 10953
v 6543 v EK96
¢ E642 496
&K5 #975
Par Kontr ut Res Poang Par Kontr ut Res Poang
560 523 3NS+1 2 Q 630 164.0 0.0| 748 735 54 O-2 vA 200 163.0 1.0
426 459 5¢ N= a4 600 144.0 200 954 927 5NO-2 vA 200 163.0 1.0
447 448 5¢ N= a4 600 144.0 20.0( 425 421 44 O-1 vA 100 144.0 20.0
449 446 5¢ N= 46 600 144.0 20.0( 433 452 44 O-1 vK 100 144.0 20.0
460 423 5¢ N= a4 600 144.0 20.0( 457 428 64 0-1 vK 100 144.0 20.0
531 554 5¢ N= a4 600 144.0 20.0( 533 552 64 O-1 vA 100 144.0 20.0
555 530 5¢ N= a4 600 144.0 20.0( 630 653 44 O-1 vA 100 144.0 20.0
556 529 5¢ N= 3 600 144.0 200 632 651 44 O-1 vK 100 144.0 20.0
632 651 5¢ N= a4 600 144.0 200 649 634 640-1 vK 100 144.0 20.0
656 627 5¢ N= a5 600 144.0 20.0( 750 733 6#0-1 vA 100 144.0 20.0
746 747 5¢ N= a7 600 144.0 200 829 852 44 O-1 vA 100 144.0 20.0
749 734 5¢ N= a4 600 144.0 20.0( 851 830 6¢ V-1 vQ 100 144.0 20.0
756 727 5¢ N= +8 600 144.0 20.0( 860 821 6¢ V-1 vQ 100 144.0 20.0
829 852 5¢ S= 5 600 144.0 200 924 957 44 O-1 vA 100 144.0 20.0
849 832 3NS= *Q 600 144.0 200 929 952 44 O-1 vA 100 144.0 20.0
851 830 5¢ N= a4 600 144.0 200 949 932 44 O-1 vA 100 144.0 20.0
854 827 5¢ N= a4 600 144.0 200 951 930 44 O-1 vA 100 144.0 20.0
951 930 5¢ N= a4 600 144.0 200 956 925 44 O-1 vA 100 144.0 20.0
953 928 5¢ N= 43 600 144.0 20.0( 960 921 6¢ O-1 vK 100 144.0 20.0
955 926 5¢ N= a4 600 144.0 20.0| 422 424 34 O= vA -140 125.0 39.0
624 659 34D O -2 &K 300 124.0 40.0| 531 554 34 O= vA -140 125.0 39.0
422 424 2¢ N+3 46 150 109.0 55.0| 624 659 3¢ V+2 vQ -150 120.0 44.0
453 432 3¢ N+2 3 150 109.0 55.0| 654 629 3¢ V+2 vQ -150 120.0 44.0
458 427 3¢ N+2 46 150 109.0 55.0( 856 825 4# O+1 vA -150 120.0 44.0
533 552 3¢ N+2 a2 150 109.0 55.0| 831 850 3¢ V+3 v5 -170 116.0 48.0
549 546 4¢ N+1 & K 150 109.0 55.0| 447 448 3NV = v5 -600 76.0 88.0
557 528 2¢ N+3 a4 150 109.0 55.0( 455 430 3NO= vA -600 76.0 88.0
558 527 4¢ N+1 v8 150 109.0 55.0| 458 427 5¢ V= v5 -600 76.0 88.0
625 658 3¢ N +2 +8 150 109.0 55.0| 522 524 3NV-= vQ -600 76.0 88.0
648 647 3¢ N+2 a4 150 109.0 55.0( 525 521 3NV= v5 -600 76.0 88.0
655 628 4¢ N+1 a4 150 109.0 55.0| 526 559 3NV-= v5 -600 76.0 88.0
755 728 3¢ N+2 a4 150 109.0 55.0| 547 548 3NV-= v5 -600 76.0 88.0
757 726 3¢ N+2 a4 150 109.0 55.0( 551 534 3NV= v5 -600 76.0 88.0
760 722 2¢ N+3 a4 150 109.0 55.0| 553 532 3NO= vA -600 76.0 88.0
959 922 2¢ N+3 46 150 109.0 55.0| 555 530 3NV-= vQ -600 76.0 88.0
433 452 44 N= v8 130 77.0 87.0| 556 529 3NV-= v4 -600 76.0 88.0
451 434 44 N= a4 130 77.0 87.0| 557 528 3NV-= vJ] -600 76.0 88.0
455 430 3¢ N+1 v5 130 77.0 87.0| 558 527 3NO-= vK -600 76.0 88.0
456 429 2¢ S +2 *Q 130 77.0 87.0| 560 523 3NO= vK -600 76.0 88.0
630 653 3¢ N+1 a4 130 77.0 87.0| 621 623 3NO= v9 -600 76.0 88.0
650 633 3¢ N+1 a4 130 77.0 87.0| 625 658 5# O= vA -600 76.0 88.0
657 626 3¢ N+1 a4 130 77.0 87.0| 648 647 3NO= v5 -600 76.0 88.0
721 723 2¢ N+2 v8 130 77.0 87.0| 650 633 3NV-= vQ -600 76.0 88.0
724 759 24 N +2 a7 130 77.0 87.0| 652 631 5 0= vA -600 76.0 88.0
732 751 24 N+2 a4 130 77.0 87.0| 656 627 3NV-= v5 -600 76.0 88.0
853 828 4¢ S= 2Q 130 77.0 87.0| 657 626 5# 0= vA -600 76.0 88.0
855 826 44 N= a4 130 77.0 87.0| 721 723 3NV= v5 -600 76.0 88.0
923 958 3¢ N+1 v8 130 77.0 87.0| 724 759 5¢ V= vQ -600 76.0 88.0
924 957 3¢ N+1 a5 130 77.0 87.0| 725 758 3NV= v2 -600 76.0 88.0
931 950 3¢ N+1 v8 130 77.0 87.0| 730 753 3NV= v2 -600 76.0 88.0
949 932 44 N= 3 130 77.0 87.0| 732 751 5¢ O= vA -600 76.0 88.0
954 927 2¢ N+2 v8 130 77.0 87.0| 746 747 54 0= vK -600 76.0 88.0
956 925 2¢ N +2 v4 130 77.0 87.0| 749 734 3NV= vQ -600 76.0 88.0
550 535 2NS= 2 Q 120 58.0 106.0| 755 728 3NV= v4 -600 76.0 88.0
725 758 34 O-2 &K 100 55.0 109.0| 756 727 3NV = v2 -600 76.0 88.0
824 857 34 O-2 &K 100 55.0 109.0| 760 722 3NO= vA -600 76.0 88.0
425 421 64 N-1 3 -100 30.0 134.0| 849 832 3NV= vQ -600 76.0 88.0
431 454 3NS-1 2 Q -100 30.0 134.0| 853 828 3NO= vA -600 76.0 88.0
450 435 5¢ N-1 3 -100 30.0 134.0| 854 827 3NV= vQ -600 76.0 88.0
522 524 3NS-1 s -100 30.0 134.0| 859 822 3NO= v6 -600 76.0 88.0
525 521 3NS-1 2 Q -100 30.0 134.0| 931 950 3NV= v5 -600 76.0 88.0
526 559 3NS-1 +Q -100 30.0 134.0| 953 928 3NO-= vK -600 76.0 88.0
547 548 5¢ N-1 a2 -100 30.0 134.0| 955 926 5# O= vA -600 76.0 88.0
551 534 5¢ S-1 2 Q -100 30.0 134.0| 959 922 3NV= v5 -600 76.0 88.0
553 532 5¢ N-1 5 -100 30.0 134.0| 431 454 44 O= vK -620 33.0 131.0




621 623 6¢ N-1 a5 -100 30.0 134.0| 450 435 5¢ V+1 v2 -620 33.0 131.0
652 631 5¢ N-1 a4 -100 30.0 134.0( 549 546 44 O= vA -620 33.0 131.0
654 629 5¢ N-1 v38 -100 30.0 134.0| 824 857 44 V= vQ -620 33.0 131.0
660 622 3NS-1 4Q -100 30.0 134.0| 855 826 5¢ V+2 *2 -640 28.0 136.0
730 753 3NS-1 a] -100 30.0 134.0( 550 535 3NO +2 vA -660 26.0 138.0
748 735 3NS-1 4Q -100 30.0 134.0| 449 446 3NV +3 a] -690 24.0 140.0
750 733 6¢ N-1 vT -100 30.0 134.0| 426 459 3NO +4 a3 -720 11.0 153.0
752 731 5¢ N-1 v8 -100 30.0 134.0| 451 434 3NV +4 +8 -720 11.0 153.0
754 729 5¢ N-1 a4 -100 30.0 134.0| 453 432 3NO+4 a3 -720 11.0 153.0
823 858 5¢ N-1 a5 -100 30.0 134.0| 456 429 3NV +4 &6 -720 11.0 153.0
859 822 5¢ N-1 a4 -100 30.0 134.0| 460 423 3NV +4 a] -720 11.0 153.0
860 821 5¢ N-1 a5 -100 30.0 134.0( 655 628 3NV +4 a] -720 11.0 153.0
929 952 3NS-1 4Q -100 30.0 134.0( 660 622 3NV +4 a] -720 11.0 153.0
960 921 5¢ N-1 a4 -100 30.0 134.0| 752 731 3NV +4 a] -720 11.0 153.0
457 428 5¢DN-1 v8 -200 3.0 161.0| 754 729 3NO +4 +9 -720 11.0 153.0
649 634 5¢DN-1 LY -200 3.0 161.0( 757 726 3NO+4 a3 -720 11.0 153.0
831 850 4v S-2 &Q -200 3.0 161.0( 823 858 3NV +4 a] -720 11.0 153.0
856 825 3NDS-1 &Q -200 3.0 161.0( 923 958 3NV +4 a] -720 11.0 153.0
7 «ED74 Basta kontrakt 8 «32 Basta kontrakt
Syd v KDKn6 4v S =620 Vast v 10875 5¢ VD -2300
Alla ¢ Kn103 Ingen + E1063
&32 & ¢ v & NT #1073 & ¢ v & NT
4 KKn1092 «65 N6 9 107 6 «ED9 #1085 N5 4 108 7
v 1054 v 83 S 6 9 107 6 vD2 v63 S5 4 108 7
¢ E87 ¢ D42 O7 4367 ¢ K94 + D8752 089346
&Kn9 &#EKD765 V74367 #KD982 #Kn64 V89 346
#3833 & KKn764
vE972 v EKKn94
+ K965 ¢ Kn
#1084 &E5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
560 524 3NDO -2 48 500 163.0 1.0| 451 446 4vDS= &K 590 164.0 0.0
756 735 3#D O -2 a8 500 163.0 1.0| 456 431 4vy N+1 *2 450 161.0 3.0
621 631 24 V-3 vK 300 159.0 50| 752 749 4v N+1 v6 450 161.0 3.0
628 624 34 V-3 vK 300 159.0 50| 432 455 4v N= v6 420 148.0 16.0
432 455 34 0-2 a8 200 141.0 23.0| 625 627 4y S= &K 420 148.0 16.0
452 435 3#0-2 48 200 141.0 23.0| 653 650 4v N= &4 420 148.0 16.0
460 424 340-2 a8 200 141.0 23.0| 729 723 4v N= &3 420 148.0 16.0
534 553 3& O -2 a8 200 141.0 23.0| 758 733 4v S= &K 420 148.0 16.0
550 547 24 V-2 vK 200 141.0 23.0| 827 823 4v N= 7 420 148.0 16.0
551 546 3# O-2 48 200 141.0 23.0| 860 825 4y S= &K 420 148.0 16.0
622 630 2v S+3 a2 200 141.0 23.0| 921 929 4v N= &4 420 148.0 16.0
634 657 34 0-2 48 200 141.0 23.0| 927 923 4v N= +5 420 148.0 16.0
652 651 34+ 0-2 48 200 141.0 23.0| 949 956 4v S= vQ 420 148.0 16.0
656 647 3& O -2 &T 200 141.0 23.0| 960 925 4v N= &3 420 148.0 16.0
658 633 24 V-2 vK 200 141.0 23.0| 526 522 3v N+2 a5 200 135.0 29.0
729 723 3#0-2 a8 200 141.0 23.0| 527 521 2v N+3 *5 200 135.0 29.0
828 822 34 0-2 48 200 141.0 23.0| 423 425 2v S+2 &K 170 82.0 82.0
851 854 3% 0O-2 48 200 141.0 23.0| 426 422 3v N+1 &4 170 82.0 82.0
860 825 24 V-2 vK 200 141.0 23.0| 427 421 3v N+1 v3 170 82.0 82.0
960 925 3NO-2 v2 200 141.0 23.0| 434 453 3vy N+1 *2 170 82.0 82.0
426 422 3v N+1 &A 170 104.0 60.0| 450 447 3v N+1 v4 170 82.0 82.0
456 431 2v N+2 &K 170 104.0 60.0| 452 435 2y S+2 &K 170 82.0 82.0
457 430 2y N+2 &K 170 104.0 60.0| 454 433 2v S+2 &K 170 82.0 82.0
532 555 2v S+2 & 170 104.0 60.0| 457 430 2v N+2 &6 170 82.0 82.0
548 549 3v S+1 & 170 104.0 60.0| 458 429 3v S+1 &K 170 82.0 82.0
554 533 3v N +1 &A 170 104.0 60.0| 459 428 2v S+2 &K 170 82.0 82.0
559 528 2v S+2 & 170 104.0 60.0| 460 424 2v S+2 *4 170 82.0 82.0
653 650 3v N +1 &K 170 104.0 60.0| 523 525 3v S+1 *4 170 82.0 82.0
654 649 2v N +2 &K 170 104.0 60.0| 534 553 2v S+2 &K 170 82.0 82.0
660 626 3v N+1 &A 170 104.0 60.0| 550 547 2v S+2 &K 170 82.0 82.0
721 731 3v N+1 SA 170 104.0 60.0| 551 546 3v N+1 &5 170 82.0 82.0
734 757 3v N+1 &K 170 104.0 60.0| 552 535 3v N+1 *4 170 82.0 82.0
759 732 3v N+1 46 170 104.0 60.0| 554 533 2v S+2 &K 170 82.0 82.0
760 726 3v N +1 SA 170 104.0 60.0| 556 531 2v S+2 &K 170 82.0 82.0
821 829 3v N+1 &A 170 104.0 60.0| 557 530 2v S+2 &K 170 82.0 82.0
827 823 3v N+1 &A 170 104.0 60.0| 558 529 3v N+1 *2 170 82.0 82.0
849 856 3v N+1 SA 170 104.0 60.0| 559 528 3v N+1 *2 170 82.0 82.0
921 929 3v N+1 &A 170 104.0 60.0| 560 524 3v S+1 &Q 170 82.0 82.0
928 922 3v N+1 &K 170 104.0 60.0| 621 631 3v N+1 *2 170 82.0 82.0
955 950 3v N+1 SA 170 104.0 60.0| 622 630 3v S+1 +4 170 82.0 82.0
959 930 3v S+1 & 170 104.0 60.0| 629 623 3v N+1 & 170 82.0 82.0
458 429 3v S= & 140 77.0 87.0| 634 657 2v S+2 &K 170 82.0 82.0
527 521 3v N= 46 140 77.0 87.0| 652 651 3v S+1 &K 170 82.0 82.0
725 727 2v N+1 &K 140 77.0 87.0| 658 633 3v N+1 v6 170 82.0 82.0
750 751 3v N= &A 140 77.0 87.0| 659 632 3v N+1 v6 170 82.0 82.0
857 832 3v N= SA 140 77.0 87.0| 660 626 3v N+1 &4 170 82.0 82.0
924 926 3v S= & 140 77.0 87.0| 721 731 3v N+1 &2 170 82.0 82.0
625 627 3¢ N+1 &A 130 69.0 95.0| 722 730 2v N+2 +3 170 82.0 82.0
728 724 3¢ N+1 SA 130 69.0 95.0| 725 727 2v S+2 &K 170 82.0 82.0
423 425 24 V-1 vK 100 54.0 110.0| 734 757 2v S+2 &K 170 82.0 82.0
451 446 24 V-1 vK 100 54.0 110.0( 746 755 3v N+1 &6 170 82.0 82.0
557 530 24 V-1 vK 100 54.0 110.0( 750 751 3v N+1 &4 170 82.0 82.0
558 529 24 V-1 vQ 100 54.0 110.0| 754 747 2v S+2 &K 170 82.0 82.0
648 655 24 V-1 vK 100 54.0 110.0( 756 735 3v N+1 *4 170 82.0 82.0
659 632 24 V-1 vK 100 54.0 110.0( 759 732 3v N+1 *2 170 82.0 82.0
722 730 24 V-1 vK 100 54.0 110.0( 760 726 2v N +2 *2 170 82.0 82.0
752 749 24 V-1 vK 100 54.0 110.0( 824 826 3v N+1 &4 170 82.0 82.0
754 747 24 V-1 vK 100 54.0 110.0| 828 822 2v S+2 &K 170 82.0 82.0
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824 826 34 0-1 +6 100 54.0 110.0| 849 856 2v S+2 &K 170 82.0 82.0
949 956 3& V-1 vK 100 54.0 110.0| 851 854 2v S+2 &K 170 82.0 82.0
951 954 24 V-1 vK 100 54.0 110.0| 853 852 2v S+2 &K 170 82.0 82.0
957 932 340-1 *6 100 54.0 110.0| 859 830 2v N+2 &K 170 82.0 82.0
927 923 24 0= *6 -90 40.0 124.0| 953 952 3v N+1 +5 170 82.0 82.0
434 453 3¢ N-1 A -100 36.0 128.0| 955 950 2v N +2 *2 170 82.0 82.0
953 952 INN-1 &K -100 36.0 128.0| 957 932 3v N+1 +5 170 82.0 82.0
958 931 INS-1 oT -100 36.0 128.0| 958 931 2v S+2 &K 170 82.0 82.0
427 421 34 0= a3 -110 19.0 145.0| 959 930 2v N +2 &4 170 82.0 82.0
448 449 34 0= 48 -110 19.0 145.0| 448 449 3v N= »6 140 24.0 140.0
450 447 3# 0= *5 -110 19.0 145.0| 532 555 24 S+1 &K 140 24.0 140.0
454 433 34 0= vA -110 19.0 145.0 656 647 2v N+1 *2 140 24.0 140.0
459 428 24 V= vK -110 19.0 145.0| 728 724 3v S= &K 140 24.0 140.0
523 525 24 V= vK -110 19.0 145.0| 855 850 2v S+1 &K 140 24.0 140.0
526 522 34 0= 48 -110 19.0 145.0| 857 832 24 S+1 vQ 140 24.0 140.0
552 535 34 0= 48 -110 19.0 145.0| 924 926 2v S+1 &K 140 24.0 140.0
556 531 3# 0= a8 -110 19.0 145.0| 654 649 2v S= +5 110 14.0 150.0
629 623 24 O +1 a8 -110 19.0 145.0| 858 831 24 S= &K 110 14.0 150.0
746 755 34 0= +6 -110 19.0 145.0| 951 954 24 S= &K 110 14.0 150.0
753 748 24 O +1 a8 -110 19.0 145.0| 928 922 INDV-1 *4 100 10.0 154.0
758 733 24 V= vK -110 19.0 145.0| 628 624 24 V-1 vQ 50 8.0 156.0
853 852 34 0= 48 -110 19.0 145.0| 548 549 24 S-1 &K -50 4.0 160.0
858 831 3&V+1 a8 -130 4.0 160.0| 648 655 24 S-1 &K -50 4.0 160.0
855 850 24 V+1 vK -140 1.0 163.0| 821 829 24 S-1 &K -50 4.0 160.0
859 830 24 V+1 vK -140 1.0 163.0| 753 748 3¢ O= vA -110 0.0 164.0
9 «E106 Béasta kontrakt 10 4 D7 Basta kontrakt
Nord v Kn10763 2¢ N =90 Ost v 32 64 O =-1430
ov +8 Alla ¢+ EKD8543
#Kn932 & ¢ v & NT &D4 & ¢ v o NT
4 Kn84 4 K932 N6 86 6 7 & Kn8 & EK10964 NO7 100
vKD9542 v8 S 68667 v K974 v E1085 S07100
¢- + Kn10942 O757 76 +96 *2 O 126 11126
#E1085 &K64 V74776 &#KKN1062 &E9 V 126 11126
« D75 4532
vE v DKn6
¢+ EKD7653 ¢ Kn107
&D7 #8753
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
455 434 44DO -4 *A 1100 164.0 0.0| 528 522 6v V-1 *A 100 164.0 0.0
421 429 24DO-3 *A 800 160.0 40| 421 429 3¢DN-1 aK -200 152.0 12.0
623 625 44DO-3 *A 800 160.0 40| 451 448 34 O+2 *J -200 152.0 12.0
723 725 4vDO-3 +8 800 160.0 40| 527 523 3v O+2 *J -200 152.0 12.0
555 534 2vyDV-2 *8 500 153.0 11.0| 553 546 3v O+2 *7 -200 152.0 12.0
652 647 2vDV-2 +8 500 153.0 11.0| 650 649 2¢DN-1 &K -200 152.0 12.0
822 830 3vDO-2 *A 500 153.0 11.0| 652 647 24 O+3 *J -200 152.0 12.0
825 827 2vyDV-2 +8 500 153.0 11.0| 656 631 3v O+2 *J -200 152.0 12.0
435 454 3NS= vK 400 146.0 18.0| 659 628 3v O+2 *J -200 152.0 12.0
549 550 3NS= a4 400 146.0 18.0| 726 722 3¢DN-1 aA -200 152.0 12.0
859 832 3NS= vK 400 146.0 18.0| 732 755 24 O+3 *J -200 152.0 12.0
756 731 4v V-3 +8 300 142.0 22.0| 958 949 3¢ N-2 aA -200 152.0 12.0
732 755 3v V-2 +8 200 140.0 24.0| 455 434 34 O+3 *J -230 137.0 27.0
659 628 3¢ S= vK 110 137.0 27.0| 521 529 34 O+3 *J -230 137.0 27.0
922 930 3¢ S= vK 110 137.0 27.0| 559 530 34 O+3 *J -230 137.0 27.0
727 721 2¢ S= a4 90 134.0 30.0| 860 826 34 O+3 *J -230 137.0 27.0
433 456 3¢ S-1 vK -50 106.0 58.0( 757 730 24 O+5 a2 -260 132.0 32.0
451 448 3¢ S-1 a4 -50 106.0 58.0| 555 534 34DN-2 aA -500 130.0 34.0
453 446 3NS-1 vK -50 106.0 58.0| 657 630 4v O= *J -620 127.0 37.0
457 432 3¢ S-1 vK -50 106.0 58.0| 828 824 4v O= *J -620 127.0 37.0
521 529 3¢ S-1 vK -50 106.0 58.0| 424 426 4v O+1 *J -650 76.0 88.0
528 522 3¢ S-1 vK -50 106.0 58.0| 427 423 4v O+1 T -650 76.0 88.0
533 556 3NS-1 a4 -50 106.0 58.0| 428 422 44 O+1 *J -650 76.0 88.0
535 554 3NS-1 »7 -50 106.0 58.0| 435 454 4y O+1 *J -650 76.0 88.0
557 532 3NN-1 v8 -50 106.0 58.0| 449 450 4v O +1 *J -650 76.0 88.0
558 531 3NN-1 v8 -50 106.0 58.0| 452 447 4v V +1 *A -650 76.0 88.0
559 530 3¢ S-1 vK -50 106.0 58.0( 453 446 44 O+1 *J -650 76.0 88.0
560 525 3NS-1 vK -50 106.0 58.0| 457 432 4v V+1 *K -650 76.0 88.0
627 621 3NS-1 vK -50 106.0 58.0| 459 430 44 O+1 *J -650 76.0 88.0
658 629 3¢ S-1 vK -50 106.0 58.0| 524 526 4v O +1 T -650 76.0 88.0
660 624 3N N-1 v8 -50 106.0 58.0| 533 556 5v O= *J -650 76.0 88.0
748 749 3NS-1 vK -50 106.0 58.0| 535 554 4y O+1 *J -650 76.0 88.0
750 747 3NS-1 vQ -50 106.0 58.0| 549 550 4v O+1 *J -650 76.0 88.0
821 831 3NS-1 vK -50 106.0 58.0| 551 548 4v O+1 *J -650 76.0 88.0
852 855 3NS-1 vK -50 106.0 58.0( 557 532 4v O+1 *7 -650 76.0 88.0
854 853 3NN-1 v8 -50 106.0 58.0| 558 531 4v V+1 +K -650 76.0 88.0
856 851 4¢ S-1 vK -50 106.0 58.0| 560 525 4v O+1 *J -650 76.0 88.0
860 826 3NS-1 a4 -50 106.0 58.0| 623 625 4v O+1 *J -650 76.0 88.0
923 929 3¢ S-1 vK -50 106.0 58.0| 626 622 4y O+1 *J -650 76.0 88.0
925 927 3NS-1 v4 -50 106.0 58.0| 627 621 4v O+1 *J -650 76.0 88.0
950 957 3¢ S-1 vK -50 106.0 58.0| 632 655 4v O+1 *J -650 76.0 88.0
958 949 3NS-1 vK -50 106.0 58.0( 634 653 44 O+1 *J -650 76.0 88.0
959 932 4¢ S-1 vK -50 106.0 58.0| 651 648 5v V= *A -650 76.0 88.0
427 423 3¢DS-1 vK -100 61.0 103.0| 654 633 4v O+1 *J -650 76.0 88.0
428 422 3N N-2 v8 -100 61.0 103.0| 658 629 4v O +1 *J -650 76.0 88.0
449 450 3N S-2 vK -100 61.0 103.0| 723 725 4v O+1 *J -650 76.0 88.0
452 447 3NS-2 vK -100 61.0 103.0| 727 721 4v V+1 *K -650 76.0 88.0
552 547 3NS-2 a4 -100 61.0 103.0| 734 753 4v O+l *J -650 76.0 88.0
626 622 3NN -2 43 -100 61.0 103.0| 748 749 4v O+1 *J -650 76.0 88.0
632 655 3NS-2 v4 -100 61.0 103.0| 750 747 4v O+1 *J -650 76.0 88.0
651 648 3NS-2 a4 -100 61.0 103.0| 751 746 4y V+1 *A -650 76.0 88.0
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654 633 3NS-2 vK -100 61.0 103.0| 754 733 4v O+l +J -650 76.0 88.0
656 631 3NS-2 8 -100 61.0 103.0| 758 729 4y O+1 +J -650 76.0 88.0
657 630 3¢DS-1 a4 -100 61.0 103.0| 759 728 4v O+1 +J -650 76.0 88.0
726 722 3NN-2 v8 -100 61.0 103.0| 821 831 44 O+1 vQ -650 76.0 88.0
751 746 3NS-2 vQ -100 61.0 103.0| 822 830 4v O+1 +J -650 76.0 88.0
757 730 3¢DS-1 vK -100 61.0 103.0| 825 827 4v O+1 *J -650 76.0 88.0
759 728 3NS-2 vK -100 61.0 103.0| 829 823 4v O+1 +J -650 76.0 88.0
928 924 3NS-2 v4 -100 61.0 103.0| 850 857 4v O+1 .7 -650 76.0 88.0
956 951 3NS-2 vQ -100 61.0 103.0| 852 855 4v O+1 *J -650 76.0 88.0
960 926 3NN-2 v8 -100 61.0 103.0| 854 853 44 O+1 +J -650 76.0 88.0
424 426 3NN -3 v8 -150 27.0 137.0| 856 851 4v O+1 +J -650 76.0 88.0
458 431 3NS-3 v5 -150 27.0 137.0| 921 931 4v O+1 *J -650 76.0 88.0
459 430 3NS-3 vK -150 27.0 137.0| 923 929 5v O= +J -650 76.0 88.0
524 526 3NN-3 v8 -150 27.0 137.0| 928 924 44 O+1 +J -650 76.0 88.0
551 548 3NS-3 vK -150 27.0 137.0| 950 957 4v V+1 ¢A -650 76.0 88.0
553 546 3NS-3 *2 -150 27.0 137.0| 952 955 44 O+1 +J -650 76.0 88.0
634 653 3NS-3 v5 -150 27.0 137.0| 954 953 4v V +1 *A -650 76.0 88.0
734 753 3NS-3 vQ -150 27.0 137.0| 959 932 4v V+1 *A -650 76.0 88.0
752 735 3NS-3 8 -150 27.0 137.0| 433 456 4v O +2 »8 -680 19.0 145.0
758 729 3NS-3 vK -150 27.0 137.0| 460 425 4y O +2 &5 -680 19.0 145.0
760 724 3NS-3 8 -150 27.0 137.0| 552 547 44 O +2 +J -680 19.0 145.0
829 823 3NN-3 vA -150 27.0 137.0| 752 735 4v O+2 »8 -680 19.0 145.0
850 857 3NS-3 a5 -150 27.0 137.0| 760 724 44 QO +2 +J -680 19.0 145.0
858 849 3NS-3 vK -150 27.0 137.0| 922 930 44 O+2 +*J -680 19.0 145.0
952 955 3N N-3 v8 -150 27.0 137.0| 956 951 4v V +2 2 Q -680 19.0 145.0
954 953 3NS-3 vQ -150 27.0 137.0| 960 926 44 O +2 ) -680 19.0 145.0
460 425 3ND S -2 a4 -300 7.0 157.0| 458 431 44 O+3 vQ -710 6.0 158.0
527 523 44¢DS-2 ] -300 7.0 157.0| 660 624 44 O +3 *6 -710 6.0 158.0
754 733 3¢DN-2 +9 -300 7.0 157.0| 756 731 44 O+3 vQ -710 6.0 158.0
828 824 44¢DS-2 vK -300 7.0 157.0| 858 849 44 O+3 a2 -710 6.0 158.0
650 649 5¢DN-3 v8 -500 1.0 163.0| 859 832 44 O+3 vJ] -710 6.0 158.0
921 931 5¢DS-3 vK -500 1.0 163.0| 925 927 5¢DN-4 & K -1100 0.0 164.0
11 498 Basta kontrakt 12 4« EKn82 Basta kontrakt
Syd v K9854 44 V D -1 100 Vast v EK9 64 V D -6 1400
Ingen ¢ EKn102 NS +D
#85 & ¢ v & NT #EK976 & ¢ v & NT
4 Kn642 «D105 N37967 4« K10754 D93 N 124 126 6
vD1063 v- S47 967 v 642 S 124 126 6
*4 + K9863 096 476 2 + EKKNn10943 01716 2
#ED104 &Kn9762 V9647°€6 D853 V17162
« EK73 46
v EKNn72 v Kn8753
¢+ D75 + 8765
#K3 #Kn102
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
932 955 5&D O -4 & K 800 164.0 0.0| 550 551 44DO-4 *] 800 160.0 4.0
559 532 54DV -3 v8 500 162.0 20| 621 629 44DV -4 vA 800 160.0 4.0
525 527 4v S= *4 420 159.0 50| 659 630 5¢DO-4 46 800 160.0 4.0
552 549 4y N= 2 Q 420 159.0 5.0| 827 821 5¢DO-4 a5 800 160.0 4.0
758 731 54DV -2 9 300 156.0 8.0| 857 830 44DV-4 vA 800 160.0 4.0
749 750 24 O-3 3 150 154.0 10.0( 521 531 5v S+1 2 680 146.0 18.0
446 455 3v S= *4 140 150.0 14.0| 546 555 44 S+2 *4 680 146.0 18.0
727 723 2v S+1 *4 140 150.0 140 | 553 548 4v S+2 2 680 146.0 18.0
755 734 2v N+1 a5 140 150.0 140( 624 626 4v S+2 *2 680 146.0 18.0
753 746 2v S= 46 110 146.0 18.0( 749 750 4v S+2 2 680 146.0 18.0
652 649 2v O-2 +5 100 144.0 200 757 732 4v S+2 2 680 146.0 18.0
421 431 4v S-1 *4 -50 105.0 59.0( 852 851 4v N+2 *A 680 146.0 18.0
429 423 4v S-1 *4 -50 105.0 59.0| 956 931 4v S+2 2 680 146.0 18.0
450 451 4v S-1 *4 -50 105.0 590.0| 959 928 4v S +2 2 680 146.0 18.0
459 432 4y N-1 a5 -50 105.0 59.0( 425 427 4v S+1 *2 650 124.0 40.0
460 426 4v S-1 *4 -50 105.0 59.0| 453 448 4v S+1 +6 650 124.0 40.0
528 524 4v S-1 *4 -50 105.0 50.0| 458 433 4v S+1 2 650 124.0 40.0
529 523 4v S-1 *4 -50 105.0 59.0( 559 532 4v S+1 2 650 124.0 40.0
534 557 4v S-1 *4 -50 105.0 59.0| 560 526 4v S+1 +5 650 124.0 40.0
554 547 3NS-1 3 -50 105.0 59.0| 628 622 4v S+1 2 650 124.0 40.0
556 535 4v S-1 *4 -50 105.0 59.0( 652 649 4v S+1 *2 650 124.0 40.0
560 526 4v N-1 +5 -50 105.0 59.0| 728 722 5v S= 2 650 124.0 40.0
621 629 4v S-1 *4 -50 105.0 59.0| 752 747 4v S+1 2 650 124.0 40.0
624 626 4v S-1 *4 -50 105.0 59.0( 760 725 4v S+1 *2 650 124.0 40.0
627 623 4v N-1 *4 -50 105.0 59.0| 832 855 4v S+1 2 650 124.0 40.0
628 622 4v S-1 *4 -50 105.0 590.0| 923 925 4v S+1 2 650 124.0 40.0
633 656 4v S-1 *4 -50 105.0 59.0( 927 921 4v S+1 2 650 124.0 40.0
651 650 4v S-1 *4 -50 105.0 59.0| 422 430 4v S= *A 620 107.0 57.0
653 648 4v S-1 *4 -50 105.0 59.0( 428 424 4v S= 2 620 107.0 57.0
655 634 3v N-1 a5 -50 105.0 59.0( 651 650 5& N+1 + K 620 107.0 57.0
658 631 4v S-1 &4 -50 105.0 59.0| 954 949 4v S= 2 620 107.0 57.0
721 729 4v S-1 a4 -50 105.0 59.0| 528 524 5# N-= * K 600 102.0 62.0
757 732 4v S-1 *4 -50 105.0 59.0( 525 527 44DV-3 &A 500 100.0 64.0
759 730 4v S-1 +5 -50 105.0 59.0| 554 547 34DV -2 vA 300 95.0 69.0
760 725 3NS-1 v3 -50 105.0 59.0| 755 734 5¢DO-2 a4 300 95.0 69.0
827 821 4v S-1 *4 -50 105.0 59.0( 860 824 5¢DO-2 46 300 95.0 69.0
852 851 4v S-1 *4 -50 105.0 59.0| 960 924 4¢DO-2 LN 300 95.0 69.0
856 831 4v S-1 *4 -50 105.0 59.0| 421 431 3v N+3 2 230 88.0 76.0
857 830 4v S-1 *4 -50 105.0 59.0( 751 748 3v N+3 *A 230 88.0 76.0
858 829 4v S-1 *4 -50 105.0 59.0| 952 951 2v S+4 2 230 88.0 76.0
859 828 4v N-1 4Q -50 105.0 50.0| 429 423 3v S+2 2 200 83.0 81.0
860 824 4v S-1 *4 -50 105.0 59.0( 932 955 2v S+3 *2 200 83.0 81.0
926 922 4v S-1 +3 -50 105.0 59.0| 459 432 3v S+l 2 170 77.0 87.0
927 921 4v S-1 *4 -50 105.0 59.0| 529 523 3v S+1 +5 170 77.0 87.0
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952 951 4v S-1 *4 -50 105.0 59.0| 759 730 3v S+l 2 170 77.0 87.0
956 931 4v S-1 *4 -50 105.0 59.0| 850 853 3v S+1 +6 170 77.0 87.0
957 930 4v N-1 *4 -50 105.0 59.0| 452 449 44 N +1 ¢A 150 67.0 97.0
958 929 4v S-1 *4 -50 105.0 59.0| 460 426 44 N +1 ¢A 150 67.0 97.0
960 924 4v S-1 *4 -50 105.0 59.0| 558 533 44 N +1 + K 150 67.0 97.0
422 430 4y N-2 *6 -100 39.0 125.0| 733 756 44 N+1 ¢A 150 67.0 97.0
428 424 4v S-2 46 -100 39.0 125.0| 753 746 4# N +1 +K 150 67.0 97.0
434 457 4y N-2 *9 -100 39.0 125.0| 823 825 44 N +1 *A 150 67.0 97.0
452 449 4v S-2 *4 -100 39.0 1250 826 822 3v S= 2 140 60.0 104.0
453 448 4v S-2 a4 -100 39.0 125.0| 854 849 44 N-= +K 130 58.0 106.0
454 447 4vyDS-1 *4 -100 39.0 125.0| 434 457 4¢DO-1 46 100 47.0 117.0
456 435 3NS-2 *4 -100 39.0 125.0| 450 451 34 Q-2 46 100 47.0 117.0
521 531 4v S-2 *4 -100 39.0 125.0| 454 447 3¢ O-2 46 100 47.0 117.0
522 530 4y N-2 *6 -100 39.0 125.0| 627 623 4¢DO-1 46 100 47.0 117.0
546 555 44 N-2 *4 -100 39.0 125.0| 658 631 34DO-1 46 100 47.0 117.0
550 551 4v S-2 a4 -100 39.0 125.0| 724 726 5¢DV-1 46 100 47.0 117.0
553 548 4y N-2 &K -100 39.0 125.0| 727 723 4¢DO-1 46 100 47.0 117.0
558 533 4y N-2 *2 -100 39.0 125.0| 758 731 34 V-2 *A 100 47.0 117.0
647 654 4v S-2 *4 -100 39.0 125.0| 950 953 34 V-2 *A 100 47.0 117.0
657 632 4v S-2 a2 -100 39.0 125.0| 957 930 24 V-2 A 100 47.0 117.0
659 630 4v S-2 a4 -100 39.0 125.0| 647 654 24 V-1 *A 50 36.0 128.0
660 625 4v S-2 +5 -100 39.0 125.0| 446 455 4v S-1 2 -100 25.0 139.0
724 726 4v S-2 *4 -100 39.0 125.0| 456 435 4v S-1 2 -100 25.0 139.0
728 722 4v S-2 *4 -100 39.0 125.0| 522 530 5# N-1 ¢ A -100 25.0 139.0
733 756 4v N-2 *2 -100 39.0 125.0| 534 557 5# N-1 ¢ A -100 25.0 139.0
752 747 4v S-2 a4 -100 39.0 125.0| 552 549 4v S-1 +6 -100 25.0 139.0
826 822 3¢ N-2 *2 -100 39.0 125.0| 655 634 5& N-1 ¢ A -100 25.0 139.0
832 855 4v N-2 a5 -100 39.0 125.0| 657 632 4v S-1 2 -100 25.0 139.0
850 853 4v S-2 43 -100 39.0 125.0| 721 729 4v S-1 +8 -100 25.0 139.0
854 849 4v N-2 *2 -100 39.0 125.0| 859 828 5& N-1 +K -100 25.0 139.0
950 953 4v N-2 *9 -100 39.0 125.0| 958 929 54 N-1 ¢ A -100 25.0 139.0
954 949 4v N-2 *6 -100 39.0 125.0| 660 625 3¢ O= 46 -110 14.0 150.0
959 928 4v N-2 *7 -100 39.0 125.0| 856 831 2¢ O+2 46 -130 11.0 153.0
923 925 6v S-3 *4 -150 10.0 154.0| 858 829 3¢ O+1 46 -130 11.0 153.0
751 748 24DV +1 49 -280 8.0 156.0| 556 535 4# N-2 *A -200 8.0 156.0
425 427 4vyDS-2 +5 -300 6.0 158.0| 633 656 3NN-3 *A -300 4.0 160.0
458 433 24DV +2 49 -380 4.0 160.0| 653 648 3NN-3 ¢A -300 4.0 160.0
735 754 3#DV= 49 -470 1.0 163.0| 926 922 44 N-3 *A -300 4.0 160.0
823 825 24DO= *K -470 1.0 163.0| 735 754 34 N-4 ¢ A -400 0.0 164.0
13 8 Basta kontrakt 14 « KD875 Basta kontrakt
Nord v 87654 ANT O =-630 Ost v7 3v O =-140
Alla + 8743 Ingen + E1064
&ED7 & ¢ v & NT #Kn65 & ¢ v & NT
4 EK9653 4Kn N4 3643 493 4 Knl04 N57 476
vD9 vE103 S43643 vE9 v KDKn632 S57476
+ E65 + DKn1092 O 8 107 9 10 + D83 4 KKn5 085957
*104 #K962 vV 8 107 8 10 #E107432 #D V85957
« D10742 « E62
v KKn2 v 10854
+ K 4972
#Kn853 K98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
631 627 3NS= v2 600 164.0 0.0| 747 721 34DN= vK 530 164.0 0.0
426 428 5¢ V-3 8 300 162.0 20| 631 627 4v S= a2 420 162.0 2.0
421 433 44 V-2 v4 200 149.0 150 921 951 34 N= vK 140 160.0 4.0
423 431 44 V-2 v4 200 149.0 15.0| 651 658 3# V-2 v2 100 157.0 7.0
529 525 3NO-2 »5 200 149.0 150 856 855 3#V-2 v7 100 157.0 7.0
535 558 44 V-2 v8 200 149.0 15.0( 457 446 3v O-1 *9 50 147.0 17.0
553 550 44 V-2 *4 200 149.0 15.0| 460 427 4v O-1 v5 50 147.0 17.0
624 634 44 V-2 v4 200 149.0 150( 526 528 4v O-1 v4 50 147.0 17.0
628 630 44 V-2 v8 200 149.0 150 547 556 4v O-1 2 50 147.0 17.0
747 721 44 V-2 v6 200 149.0 15.0| 560 527 3#0-1 v5 50 147.0 17.0
749 758 4a V-2 v8 200 149.0 150( 624 634 3#V-1 & K 50 147.0 17.0
756 751 44DV-1 v4 200 149.0 150 760 729 4v O-1 v5 50 147.0 17.0
821 851 3NDV-1 v8 200 149.0 150( 931 925 4v O-1 8 50 147.0 17.0
958 953 4e V-2 v8 200 149.0 150 557 546 34 S-1 vA -50 136.0 28.0
455 448 34 V-1 v4 100 126.0 38.0| 622 648 34 N-1 vK -50 136.0 28.0
526 528 34 V-1 v8 100 126.0 38.0| 632 626 34 N-1 vK -50 136.0 28.0
530 524 34 V-1 v6 100 126.0 38.0| 554 549 44 N-2 vK -100 127.0 37.0
555 548 3NO-1 *3 100 126.0 38.0| 821 851 34 N-2 *Q -100 127.0 37.0
632 626 34 V-1 v8 100 126.0 38.0| 830 826 34 N-2 *Q -100 127.0 37.0
660 629 4e V-1 *4 100 126.0 38.0| 860 828 34DN-1 *Q -100 127.0 37.0
725 733 24 V-1 v5 100 126.0 38.0| 954 957 34 N-2 vK -100 127.0 37.0
759 748 34 V-1 v8 100 126.0 38.0| 958 953 34DN-1 *Q -100 127.0 37.0
927 929 64 O-1 vK 100 126.0 38.0| 426 428 3v O= v4 -140 104.0 60.0
930 926 44 V-1 v4 100 126.0 38.0| 447 456 2v O+1 +3 -140 104.0 60.0
952 959 34 V-1 v7 100 126.0 38.0| 455 448 3v O= s A -140 104.0 60.0
435 458 14 S-1 *A -100 113.0 51.0( 521 533 3vO= a2 -140 104.0 60.0
856 855 2&#S-1 vQ -100 113.0 51.0| 529 525 2v O+1 +9 -140 104.0 60.0
422 432 24 V= v8 -110 102.0 62.0| 530 524 3v O= .7 -140 104.0 60.0
554 549 24 V= v8 -110 102.0 62.0( 553 550 3v O= s A -140 104.0 60.0
623 647 24 V= v6 -110 102.0 62.0( 625 633 3v O= .7 -140 104.0 60.0
657 652 24 V= v8 -110 102.0 620 723 735 3v O= s A -140 104.0 60.0
722 746 24 V= v3 -110 102.0 62.0| 725 733 2v O+1 a2 -140 104.0 60.0
757 750 24 V= v4 -110 102.0 62.0( 732 726 3v O= v4 -140 104.0 60.0
823 849 24 V= v8 -110 102.0 620 749 758 3v O= a4 -140 104.0 60.0
830 826 24 V= v4 -110 102.0 62.0( 755 752 3v O= a2 -140 104.0 60.0
922 950 24 V= v8 -110 102.0 62.0| 823 849 2v O+1 2 -140 104.0 60.0
429 425 44 O= a4 -130 89.0 75.0( 852 859 3v O= aA -140 104.0 60.0
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457 446 2¢ O +2 aT -130 89.0 75.0| 922 950 2v O +1 +2 -140 104.0 60.0
459 434 3¢ O+1 a2 -130 89.0 75.0| 923 949 2v O+1 *7 -140 104.0 60.0
755 752 2¢ O+2 &5 -130 89.0 75.0| 522 532 34 N-3 vK -150 85.0 79.0
453 450 24 V +1 v2 -140 82.0 82.0| 956 955 44 N-3 *Q -150 85.0 79.0
760 729 34 V= v4 -140 82.0 82.0| 421 433 3v O+1 a2 -170 61.0 103.0
954 957 34 V= v4 -140 82.0 82.0| 429 425 2v O+2 7 -170 61.0 103.0
451 452 2NV +1 48 -150 76.0 88.0| 430 424 3v O+l aA -170 61.0 103.0
731 727 3¢ O+2 a2 -150 76.0 88.0| 435 458 3v O+1 *2 -170 61.0 103.0
931 925 2¢ O+3 a2 -150 76.0 88.0| 451 452 2v O +2 a A -170 61.0 103.0
858 853 24 V +2 48 -170 72.0 92.0| 453 450 3v O+1 a2 -170 61.0 103.0
460 427 14 S-2 &4 -200 66.0 98.0| 523 531 3v O+1 a A -170 61.0 103.0
521 533 14 S-2 *A -200 66.0 98.0| 535 558 3v O+1 a A -170 61.0 103.0
860 828 14 S-2 &T -200 66.0 98.0| 555 548 3v O+1 aA -170 61.0 103.0
921 951 14 S-2 vQ -200 66.0 98.0| 628 630 3v O+1 v5 -170 61.0 103.0
956 955 2v N-2 +Q -200 66.0 98.0| 655 654 3v O+1 a A -170 61.0 103.0
625 633 34 S-3 aA -300 59.0 105.0| 656 653 3v O +1 v4 -170 61.0 103.0
822 850 14 S-3 *A -300 59.0 105.0 | 660 629 3v O+1 *2 -170 61.0 103.0
723 735 INN-4 *+Q -400 56.0 108.0 722 746 2v O+2 a2 -170 61.0 103.0
547 556 1INN-5 *Q -500 51.0 113.0| 728 730 3v O+1 a2 -170 61.0 103.0
728 730 34 N-5 *Q -500 51.0 113.0| 731 727 2v O+2 a8 -170 61.0 103.0
824 832 3#S-5 oK -500 51.0 113.0| 753 754 3v O+1 aJ -170 61.0 103.0
923 949 1aDS-2 vQ -500 51.0 113.0| 756 751 3v V+1 aK -170 61.0 103.0
447 456 3NV = v4 -600 36.0 128.0 757 750 3v O+1 a A -170 61.0 103.0
551 552 3NO= vK -600 36.0 128.0 759 748 3v O+1 a2 -170 61.0 103.0
559 534 3NO= a4 -600 36.0 128.0| 858 853 2v O+2 +8 -170 61.0 103.0
649 621 3NV= a8 -600 36.0 128.0| 930 926 3v O+1 a A -170 61.0 103.0
651 658 3NV= v8 -600 36.0 128.0| 422 432 3v O+3 +9 -230 38.0 126.0
659 650 3NO= a4 -600 36.0 128.0| 927 929 44DN-2 *Q -300 36.0 128.0
732 726 3NO= &5 -600 36.0 128.0 423 431 4v O= *2 -420 20.0 144.0
827 829 3NV= v8 -600 36.0 128.0 454 449 4v O= a A -420 20.0 144.0
831 825 3NV= 48 -600 36.0 128.0| 459 434 4v O= aA -420 20.0 144.0
854 857 3NV= v8 -600 36.0 128.0 551 552 4v O= &2 -420 20.0 144.0
960 928 3NO= vJ -600 36.0 128.0| 559 534 4y O= v4 -420 20.0 144.0
454 449 3N O +1 &5 -630 18.0 146.0| 623 647 4v O= aA -420 20.0 144.0
522 532 3NO+1 &5 -630 18.0 146.0 | 657 652 4v O= a A -420 20.0 144.0
523 531 3NO+1 *3 -630 18.0 146.0| 659 650 4v O= +9 -420 20.0 144.0
557 546 3N O +1 a4 -630 18.0 146.0| 724 734 4v O= aA -420 20.0 144.0
560 527 3NO+1 vK -630 18.0 146.0 824 832 4v O= a2 -420 20.0 144.0
852 859 3NV +1 48 -630 18.0 146.0| 827 829 4v O= a A -420 20.0 144.0
924 932 3NO+1 &5 -630 18.0 146.0| 854 857 4v O= aA -420 20.0 144.0
430 424 3NO+2 &3 -660 8.0 156.0 | 924 932 4v O= a A -420 20.0 144.0
724 734 3N QO +2 *3 -660 8.0 156.0| 952 959 4v O= a A -420 20.0 144.0
753 754 3N O +2 a3 -660 8.0 156.0| 960 928 4v O= aA -420 20.0 144.0
656 653 3ND O = &5 -750 4.0 160.0 | 822 850 4v O+1 a A -450 3.0 161.0
622 648 24D S -3 aK -800 2.0 162.0| 831 825 4v O+l s A -450 3.0 161.0
655 654 34#DS-6 &4 -1700 0.0 164.0| 649 621 4vDO= aA -590 0.0 164.0
622 648 Pen/Pen 0.0 -16.4
15 493 Béasta kontrakt 16 « EK63 Basta kontrakt
Syd vED1074 3¢ VD-1100 Vast v762 7% N D -5-1100
NS +3 ov 54
#108542 & ¢ v & NT #»E872 & ¢ v o NT
4Knl08 «&KD54 N8 5865 4D10975 &2 N81153
vK985 vKn6 S95865 v D954 v EKKn103 S81153
¢ KKn65 ¢ 10974 048577 ¢ K1096 ¢ ED82 O5 11128 9
&E7 #DKn9 V48577 &»- #KKn3 V 5 11128 9
4 E762 & Kng84
v32 v8
+ ED82 ¢ Kn73
K63 #D109654
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
755 748 2v N +1 *Q 140 164.0 0.0| 649 656 6vyDO-1 &Q 200 164.0 0.0
552 553 3& N+1 oK 130 162.0 2.0| 855 858 44 V-1 5 100 162.0 2.0
452 453 2N S= A 120 159.0 50| 653 652 2v O+4 a4 -230 160.0 4.0
959 954 2N S= A 120 159.0 50| 546 559 5&DN -3 vA -500 158.0 6.0
422 434 2v S= »6 110 144.0 20.0| 530 526 4v V= +5 -620 153.0 11.0
430 426 3« N= oK 110 144.0 20.0| 647 658 4v O= a2 -620 153.0 11.0
459 446 2y N= *Q 110 144.0 20.0| 729 725 4v O= aA -620 153.0 11.0
556 549 2v N= »Q 110 144.0 20.0| 925 949 4v V= v7 -620 153.0 11.0
560 528 2y N= N 110 144.0 20.0| 422 434 3NO+1 »6 -630 143.0 21.0
623 631 2v N= *Q 110 144.0 20.0| 552 553 3NO+1 &9 -630 143.0 21.0
657 648 2v N= »Q 110 144.0 20.0| 657 648 3NO +1 &5 -630 143.0 21.0
726 728 2v N= 20 110 144.0 20.0| 721 733 3NO+1 &5 -630 143.0 21.0
735 758 2v N= a K 110 144.0 20.0| 722 732 3NO+1 *6 -630 143.0 21.0
759 734 2# N +1 vJ 110 144.0 20.0| 923 951 3NO+1 &4 -630 143.0 21.0
823 851 2y N= *Q 110 144.0 20.0| 454 451 4v O+1 v8 -650 131.0 33.0
824 850 2#& N +1 a K 110 144.0 20.0| 531 525 4v V+1 v2 -650 131.0 33.0
932 926 34 S= aJ 110 144.0 20.0| 623 631 4v O+1 &4 -650 131.0 33.0
558 547 24 O-2 v2 100 129.0 350| 735 758 4v O+1 &5 -650 131.0 33.0
721 733 2¢ V-2 49 100 129.0 350| 824 850 4v O+1 *4 -650 131.0 33.0
431 425 2& N= &K 20 123.0 41.0| 859 854 4v O+1 &9 -650 131.0 33.0
454 451 INN-= *Q 90 123.0 41.0| 421 435 4v O+2 a4 -680 73.0 91.0
647 658 INN= *Q 90 123.0 41.0| 423 433 4y O +2 *6 -680 73.0 91.0
924 950 INN-= »Q 20 123.0 41.0| 427 429 5v O+1 »6 -680 73.0 91.0
831 827 14 S= +6 80 118.0 46.0| 430 426 4v O +2 »6 -680 73.0 91.0
522 534 34 O-1 v3 50 112.0 52.0| 432 424 4v O+2 &9 -680 73.0 91.0
530 526 14 O-1 v3 50 112.0 52.0| 448 457 5v O+1 &5 -680 73.0 91.0
531 525 3¢ V-1 49 50 112.0 52.0| 452 453 5v O +1 &5 -680 73.0 91.0
629 625 24 O-1 v3 50 112.0 52.0| 455 450 5v O +1 &5 -680 73.0 91.0
832 826 34 0-1 &3 50 112.0 52.0| 456 449 4v O +2 48 -680 73.0 91.0
423 433 2¢ O= v3 -90 104.0 60.0| 458 447 5v O+1 »9 -680 73.0 91.0
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523 533 2¢ O= v3 -90 104.0 60.0( 460 428 5v O+1 *9 -680 73.0 91.0
655 650 2¢ O= 3 -90 104.0 60.0| 521 535 4v O+2 48 -680 73.0 91.0
427 429 14 S-1 v5 -100 84.0 80.0| 522 534 4v O +2 +3 -680 73.0 91.0
432 424 2v N-1 T -100 84.0 80.0| 524 532 4v O+2 8 -680 73.0 91.0
456 449 2v N-1 *0Q -100 84.0 80.0| 548 557 4y O +2 *9 -680 73.0 91.0
458 447 2v N-1 a K -100 84.0 80.0| 554 551 4v O+2 a4 -680 73.0 91.0
521 535 2v N-1 *Q -100 84.0 80.0| 556 549 4v O+2 a4 -680 73.0 91.0
546 559 2v S-1 ] -100 84.0 80.0| 558 547 4v O +2 *6 -680 73.0 91.0
622 632 2v S-1 *Q -100 84.0 80.0| 621 633 4v O+2 *6 -680 73.0 91.0
626 628 2v N-1 *Q -100 84.0 80.0| 622 632 4v V+2 s A -680 73.0 91.0
653 652 2v N-1 *T -100 84.0 80.0| 626 628 4v O +2 29 -680 73.0 91.0
659 634 2v N-1 *Q -100 84.0 80.0| 629 625 4v O +2 *9 -680 73.0 91.0
722 732 2v N-1 *] -100 84.0 80.0| 630 624 5v O+1 a5 -680 73.0 91.0
729 725 2v N-1 +9 -100 84.0 80.0| 655 650 4v O +2 &5 -680 73.0 91.0
822 852 2v N-1 *Q -100 84.0 80.0| 659 634 4v O+2 »5 -680 73.0 91.0
860 829 INN-1 T -100 84.0 80.0| 660 627 5v V+1 & K -680 73.0 91.0
928 930 2v N-1 *Q -100 84.0 80.0| 723 731 4y O +2 *9 -680 73.0 91.0
931 927 2v N-1 *Q -100 84.0 80.0| 726 728 4v O+2 LY -680 73.0 91.0
960 929 14 S-1 *A -100 84.0 80.0| 730 724 5v O+l »5 -680 73.0 91.0
853 821 24 O= v8 -110 66.0 98.0| 747 756 4v V+2 s A -680 73.0 91.0
859 854 INV+1 v4 -120 63.0 101.0| 751 752 4v V+2 aA -680 73.0 91.0
957 956 1INV +1 *2 -120 63.0 101.0| 753 750 4v O +2 »5 -680 73.0 91.0
555 550 2NV +1 *4 -150 59.0 105.0| 754 749 4y O +2 *9 -680 73.0 91.0
828 830 2N O +1 v3 -150 59.0 105.0| 755 748 4v O+2 *9 -680 73.0 91.0
448 457 2v S-2 aT -200 43.0 121.0| 757 746 5v O+1 a4 -680 73.0 91.0
460 428 INN-2 *Q -200 43.0 121.0| 759 734 4v V+2 s A -680 73.0 91.0
524 532 14 S-2 s -200 43.0 121.0| 760 727 4v O +2 a4 -680 73.0 91.0
548 557 INN-2 *Q -200 43.0 121.0| 822 852 4v O +2 +3 -680 73.0 91.0
649 656 2v S-2 ] -200 43.0 121.0| 823 851 4y O +2 &5 -680 73.0 91.0
654 651 INN-2 *Q -200 43.0 121.0| 825 849 5v O+1 »5 -680 73.0 91.0
660 627 INN-2 +9 -200 43.0 121.0| 828 830 4v O+2 v2 -680 73.0 91.0
751 752 2v S-2 ] -200 43.0 121.0| 832 826 4v V+2 s A -680 73.0 91.0
754 749 1NN -2 *Q -200 43.0 121.0| 860 829 4v O +2 «5 -680 73.0 91.0
760 727 INN-2 *Q -200 43.0 121.0| 922 952 4v O +2 a4 -680 73.0 91.0
922 952 INS-2 ] -200 43.0 121.0| 924 950 4v O +2 &5 -680 73.0 91.0
923 951 5& N-2 o K -200 43.0 121.0| 931 927 4v V +2 aA -680 73.0 91.0
925 949 2v S-2 a5 -200 43.0 121.0| 932 926 5v O+1 »5 -680 73.0 91.0
955 958 2¢vyDN-1 *0Q -200 43.0 121.0| 953 921 4v O+2 *6 -680 73.0 91.0
455 450 INN-3 T -300 21.0 143.0| 955 958 5v V+1 aA -680 73.0 91.0
554 551 INN-3 T -300 21.0 143.0| 957 956 5v V+1 *A -680 73.0 91.0
723 731 INN-3 *T -300 21.0 143.0| 959 954 4y O +2 *9 -680 73.0 91.0
747 756 1NN -3 +9 -300 21.0 143.0| 960 929 5v O+1 &T -680 73.0 91.0
753 750 INN-3 *4 -300 21.0 143.0| 560 528 5#DS-4 v5 -800 19.0 145.0
757 746 1INN-3 *] -300 21.0 143.0| 928 930 5#DN -4 vA -800 19.0 145.0
855 858 INS-3 s -300 21.0 143.0| 459 446 4vDO+1 «9 -990 16.0 148.0
857 856 2v N-3 *T -300 21.0 143.0| 527 529 4v¥D O +2 »5 -1190 14.0 150.0
421 435 3y N-4 s K -400 8.0 156.0| 431 425 6v O= *2 -1430 7.0 157.0
630 624 2NS-4 s -400 8.0 156.0| 555 550 6v V= a K -1430 7.0 157.0
730 724 4v N-4 & K -400 8.0 156.0| 654 651 6v O= 43 -1430 7.0 157.0
825 849 3NS-4 ] -400 8.0 156.0| 831 827 6y O= *4 -1430 7.0 157.0
953 921 3NS-4 s -400 8.0 156.0| 853 821 6v O= «9 -1430 7.0 157.0
621 633 3vDS-2 ] -500 2.0 162.0| 857 856 6v O= a4 -1430 7.0 157.0
527 529 44D N-3 *] -800 0.0 164.0| 523 533 6v O+1 &T -1460 0.0 164.0
17 4« EKDKn Basta kontrakt 18 4 EK10 Basta kontrakt
Nord v52 4v O =-420 Ost vKD108 4¢ O =-130
Ingen ¢ KKn76 NS *74
#952 & ¢ v & NT #ED109 & ¢ v & NT
48732 4654 N47 3 44 4 D8543 a2 N827 76
vKKn1076 vED3 S 47 344 v2 v EKn654 S82776
¢- 4109542 O 7 5 105 5 ¢ ED10983 ¢ Kn52 O5 105 6 6
#EKKNn8 «D3 vV 7 5 105 5 L Y #Kn763 vV 5 105 6 6
109 4 Kn976
v 984 v 973
+ ED83 + K6
£10764 #K854
Par Kontr ut Res Poang Par Kontr ut Res Poang
459 448 1IND N +1 *4 280 164.0 0.0| 449 458 3NN-= v4 600 160.0 4.0
957 952 2¢DN= 5 180 162.0 20| 654 653 3NN-= v3 600 160.0 4.0
532 526 24 O-3 3 150 160.0 40| 658 649 3NN-= a2 600 160.0 4.0
921 949 3¢ N= vA 110 158.0 6.0| 731 725 3NN= v5 600 160.0 4.0
449 458 44D O-1 »6 100 156.0 8.0| 760 728 3NN-= v4 600 160.0 4.0
721 735 24 O-1 oT 50 154.0 10.0( 921 949 3NDV-3 &A 500 154.0 10.0
522 546 24 N-1 2 -50 151.0 13.0( 660 628 3¢ N+2 vK 150 151.0 13.0
731 725 2¢ N-1 a5 -50 151.0 13.0| 930 924 3¢ N+2 s A 150 151.0 13.0
460 429 4¢ N-2 2 -100 140.0 240( 528 530 34 S= v2 140 148.0 16.0
623 633 3¢ N-2 46 -100 140.0 240( 755 750 2N N= *2 120 146.0 18.0
624 632 3¢DN-1 *2 -100 140.0 24.0| 423 435 5¢DV-1 7 100 144.0 20.0
650 657 4¢ N-2 a4 -100 140.0 240( 428 430 3NN-1 3 -100 127.0 37.0
727 729 INS-2 v6 -100 140.0 240 447 421 34S-1 v2 -100 127.0 37.0
760 728 3¢ N-2 vK -100 140.0 240( 453 454 3NS-1 *2 -100 127.0 37.0
821 849 3¢ N-2 *Q -100 140.0 240( 522 546 2NN-1 v5 -100 127.0 37.0
822 832 INS-2 vJ] -100 140.0 240( 555 552 3NN-1 v4 -100 127.0 37.0
930 924 3¢DN-1 *2 -100 140.0 240( 557 550 3NS-1 *T -100 127.0 37.0
622 634 2# O +1 oT -110 130.0 34.0| 621 647 3NS-1 +8 -100 127.0 37.0
432 426 2v O +1 v4 -140 125.0 39.0| 721 735 3NS-1 +8 -100 127.0 37.0
555 552 2v V+1 v2 -140 125.0 39.0| 723 733 34 S-1 v2 -100 127.0 37.0
724 732 2v V+1 s A -140 125.0 39.0| 730 726 4# N-1 +*J -100 127.0 37.0
851 858 24 V +1 s A -140 125.0 39.0| 752 753 3NS-1 +Q -100 127.0 37.0
723 733 2¢ N-3 *4 -150 119.0 45.0| 758 747 3NN-1 &4 -100 127.0 37.0
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826 828 3¢ S-3 *A -150 119.0 45.0| 829 825 3NS-1 oT -100 127.0 37.0
422 446 2v V +2 s A -170 72.0 92.0( 926 928 2NN-1 v2 -100 127.0 37.0
423 435 2v V+2 A A -170 72.0 92.0| 953 956 2NN-1 a2 -100 127.0 37.0
424 434 3v V+1 & A -170 72.0 92.0| 957 952 3NN-1 v5 -100 127.0 37.0
425 433 3v V+1 s A -170 72.0 92.0| 623 633 3¢ V= s A -110 110.0 54.0
428 430 3v V+1 4 A -170 72.0 92.0| 455 452 3¢ V+1 *7 -130 104.0 60.0
447 421 3v O+1 oT -170 72.0 92.0( 456 451 3¢ V+1 *7 -130 104.0 60.0
453 454 2v V +2 s A -170 72.0 92.0( 460 429 2¢ V+2 *7 -130 104.0 60.0
455 452 2v V +2 A A -170 72.0 920 754 751 4e V= *2 -130 104.0 60.0
456 451 2v V+2 & A -170 72.0 92.0( 923 931 3¢ V+1 +4 -130 104.0 60.0
457 450 2v V +2 oK -170 72.0 92.0( 431 427 4¢ V+1 & A -150 93.0 71.0
525 533 2v V+2 A A -170 72.0 92.0| 523 535 4¢ V+1 aA -150 93.0 71.0
528 530 3v V+1 & A -170 72.0 92.0 631 625 3¢ V+2 & A -150 93.0 71.0
547 521 3v V+1 s A -170 72.0 92.0( 722 734 3¢ V+2 vK -150 93.0 71.0
549 558 3v O+1 aT -170 72.0 92.0| 851 858 44 V+1 vK -150 93.0 71.0
553 554 3v v+l & A -170 72.0 92.0 960 927 2¢ V+3 vQ -150 93.0 71.0
557 550 2v V+2 & A -170 72.0 92.0| 424 434 44DS-1 v2 -200 77.0 87.0
559 548 2v V+2 v4 -170 72.0 92.0| 459 448 2NN-2 *2 -200 77.0 87.0
560 529 2v V+2 v2 -170 72.0 92.0| 531 527 44DS-1 v2 -200 77.0 87.0
627 629 3v O+1 oT -170 72.0 92.0| 547 521 3NN-2 v5 -200 77.0 87.0
631 625 2v V+2 aA -170 72.0 92.0| 549 558 3NS-2 a4 -200 77.0 87.0
648 659 2v V+2 aK -170 72.0 92.0| 627 629 44 S-2 v2 -200 77.0 87.0
654 653 2v V+2 s A -170 72.0 92.0( 746 759 44 N-2 *A -200 77.0 87.0
655 652 2v V+2 A A -170 72.0 92.0| 748 757 34 S-2 v8 -200 77.0 87.0
656 651 3v V+1 & A -170 72.0 92.0| 922 932 34 S-2 v2 -200 77.0 87.0
660 628 2v V +2 oK -170 72.0 92.0| 959 950 44 S-2 v2 -200 77.0 87.0
722 734 2v V+2 A A -170 72.0 92.0| 556 551 44 S-3 ¢ A -300 62.0 102.0
730 726 3v V+1 & A -170 72.0 92.0| 630 626 3NN-3 3 -300 62.0 102.0
746 759 3v V+1 oK -170 72.0 92.0( 821 849 3NN-3 ¢J -300 62.0 102.0
752 753 3v V+1 A A -170 72.0 92.0| 857 852 44 S-3 *A -300 62.0 102.0
754 751 2v V +2 & A -170 72.0 92.0| 859 850 3NN-3 ¢J -300 62.0 102.0
755 750 2v V +2 s A -170 72.0 92.0| 559 548 34 S-4 v2 -400 53.0 111.0
756 749 2v V+2 A A -170 72.0 920| 624 632 24 S-4 a2 -400 53.0 111.0
829 825 3v V+1 & A -170 72.0 92.0| 655 652 4v N-4 a2 -400 53.0 111.0
853 856 2v O+2 oT -170 72.0 92.0| 823 831 34S-4 *2 -400 53.0 111.0
855 854 2v V+2 A A -170 72.0 920 724 732 3¢DV= *7 -470 48.0 116.0
857 852 2v V+2 & A -170 72.0 92.0| 650 657 2¢DV+3 & A -480 46.0 118.0
859 850 1v V+3 oK -170 72.0 92.0| 432 426 34 S-5 v3 -500 39.0 125.0
860 827 3v O+1 aT -170 72.0 92.0| 457 450 44 N-5 +3 -500 39.0 125.0
922 932 2v V+2 oK -170 72.0 92.0| 727 729 34 S-5 &2 -500 39.0 125.0
926 928 3v O+1 oT -170 72.0 92.0| 822 832 3vyDN-2 a2 -500 39.0 125.0
929 925 2v V+2 aA -170 72.0 92.0| 929 925 34 S-5 *5 -500 39.0 125.0
951 958 2v V+2 +K -170 72.0 92.0| 951 958 34DS-2 v2 -500 39.0 125.0
953 956 2v V+2 oK -170 72.0 92.0| 422 446 4¢DV = s A -510 31.0 133.0
955 954 2v V +2 aA -170 72.0 92.0| 756 749 4e¢DV= *4 -510 31.0 133.0
960 927 2v V+2 aK -170 72.0 92.0| 560 529 5¢DV= 4 A -550 26.0 138.0
523 535 2y V+3 s A -200 25.0 139.0( 826 828 5¢DV= vK -550 26.0 138.0
748 757 3¢ N-4 *6 -200 25.0 139.0| 860 827 5¢DV= & A -550 26.0 138.0
431 427 4¢DN-2 a4 -300 22.0 142.0| 525 533 34DV +1 & A -570 21.0 143.0
524 534 4y V= 4K -420 14.0 150.0 [ 553 554 3¢DV+1 *7 -570 21.0 143.0
531 527 4v V= A A -420 14.0 150.0| 656 651 44 N-6 *2 -600 18.0 146.0
556 551 4y V= & A -420 14.0 150.0( 532 526 4¢DO+1 43 -610 15.0 149.0
758 747 4v V= 4 A -420 14.0 150.0 853 856 4¢DV+1 s A -610 15.0 149.0
830 824 4y V= A A -420 14.0 150.0| 425 433 3¢DV+2 vK -670 7.0 157.0
923 931 4v V= & A -420 14.0 150.0 524 534 3¢DV+2 vQ -670 7.0 157.0
959 950 4y V= 4 A -420 14.0 150.0 648 659 3¢DV+2 s A -670 7.0 157.0
658 649 4v O+1 ¢ A -450 6.0 158.0| 830 824 34DV +2 aA -670 7.0 157.0
630 626 4¢DN-3 ¢5 -500 3.0 161.0| 855 854 34DV +2 & A -670 7.0 157.0
823 831 INDS-3 *A -500 3.0 161.0| 955 954 34D O +2 s A -670 7.0 157.0
621 647 4vDV= s A -590 0.0 164.0| 622 634 3NDN-3 *2 -800 0.0 164.0
19 1074 Basta kontrakt 20 » EK1096 Basta kontrakt
Syd v 1043 56 S =450 Vast v K73 5NT N =660
ov ¢ EKn2 Alla + D965
#KDKn9 & ¢ v & NT &3 & ¢ v & NT
» K93 «D N8 6 9 117 4Kn843 &2 N 8 11101111
v Kn2 v K985 S 858 117 vKn96 v10852 S 8 11101111
+D1076 ¢ K8543 057425 + 874 ¢ E102 052322
#7542  #EG63 V57425 #Knl109 #E8652 V52322
« EKn8652 D75
vED76 vED4
+9 ¢ KKn3
«108 #KD74
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
731 733 3¢DO-3 & A 800 164.0 0.0| 826 852 14RDN +4 a2 2320 164.0 0.0
623 653 44D S+1 *4 690 162.0 20| 850 828 2#DO-3 5 800 162.0 2.0
423 447 44 S+1 *7 450 128.0 36.0| 425 435 3NS+3 v6 690 156.0 8.0
424 446 44 S+1 vJ 450 128.0 36.0 456 453 3NS+3 v6 690 156.0 8.0
429 431 44 S+1 *7 450 128.0 36.0| 523 547 3NS+3 *] 690 156.0 8.0
433 427 44 S+1 *7 450 128.0 36.0| 621 655 4NN +2 *2 690 156.0 8.0
456 453 4e N +1 +3 450 128.0 36.0| 634 630 3NN+3 *2 690 156.0 8.0
521 549 44 S+1 *7 450 128.0 36.0 | 433 427 44 N+2 v7 680 146.0 18.0
523 547 44 S+1 vJ 450 128.0 36.0| 460 430 44 N+2 *A 680 146.0 18.0
532 528 44 S+1 vJ 450 128.0 36.0| 554 555 44 N+2 v5 680 146.0 18.0
548 522 44 S+1 v] 450 128.0 36.0 | 627 649 44 N+2 v5 680 146.0 18.0
550 559 4e S+1 vJ] 450 128.0 36.0 628 648 44 S+2 v5 680 146.0 18.0
560 530 44 S+1 +6 450 128.0 36.0| 423 447 3NS+2 *4 660 124.0 40.0
627 649 44 S+1 *7 450 128.0 36.0| 429 431 3NS+2 *] 660 124.0 40.0
628 648 44 S+1 3 450 128.0 36.0| 448 422 3NS+2 *J 660 124.0 40.0
634 630 44 S+1 vJ 450 128.0 36.0| 548 522 3NN +2 v5 660 124.0 40.0
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652 624 44 S+1 43 450 128.0 36.0| 550 559 3NS+2 L} 660 124.0 40.0
659 656 44 S+1 v] 450 128.0 36.0| 560 530 3NS+2 ] 660 124.0 40.0
660 632 44 S+1 .7 450 128.0 36.0| 631 633 3NS+2 +8 660 124.0 40.0
723 751 44 S+1 +Q 450 128.0 36.0| 660 632 3NS+2 ] 660 124.0 40.0
728 746 44 S+1 6 450 128.0 36.0| 723 751 3NS+2 *Q 660 124.0 40.0
752 722 44 S+1 v] 450 128.0 36.0| 759 754 3NN+2 v5 660 124.0 40.0
758 755 44 S+1 *7 450 128.0 36.0| 827 851 3NN+2 v5 660 124.0 40.0
822 856 44 S+1 +6 450 128.0 36.0| 849 829 3NN +2 v5 660 124.0 40.0
825 853 44 S+1 43 450 128.0 36.0 925 953 3NS+2 &T 660 124.0 40.0
849 829 44 S+1 *7 450 128.0 36.0| 926 952 3NN +2 v2 660 124.0 40.0
857 821 44 S+1 *7 450 128.0 36.0| 930 932 3NN +2 v2 660 124.0 40.0
860 831 44 S+1 *T 450 128.0 36.0 950 928 3NS+2 v6 660 124.0 40.0
924 954 44 S+1 vl] 450 128.0 36.0| 957 921 3NN +2 v5 660 124.0 40.0
926 952 44 S+1 +6 450 128.0 36.0| 426 434 44 N+1 *A 650 62.0 102.0
927 951 44 S+1 43 450 128.0 36.0| 432 428 44 N+1 & A 650 62.0 102.0
950 928 44 S+1 *7 450 128.0 36.0| 450 459 54 N= v3 650 62.0 102.0
955 923 44 S+1 vl] 450 128.0 36.0| 454 455 44 N+1 v5 650 62.0 102.0
957 921 44 S+1 *4 450 128.0 36.0| 457 452 44 N+1 v5 650 62.0 102.0
959 958 44 S+1 +6 450 128.0 36.0| 458 451 44 N+1 *A 650 62.0 102.0
421 449 3NN +1 +Q 430 93.0 71.0| 521 549 54 N= v5 650 62.0 102.0
735 729 3NN+1 4Q 430 93.0 71.0| 524 546 44 N+1 v7 650 62.0 102.0
425 435 44 S= vl] 420 78.0 86.0| 526 534 54 N= 2 650 62.0 102.0
524 546 44 S= vl] 420 78.0 86.0| 529 531 44 N+1 .7 650 62.0 102.0
526 534 44 S= *4 420 78.0 86.0| 532 528 54 N= ¢ A 650 62.0 102.0
533 527 44 S= vl] 420 78.0 86.0| 533 527 44 N+1 *A 650 62.0 102.0
556 553 44 S= v] 420 78.0 86.0| 556 553 44 N+1 v5 650 62.0 102.0
626 650 44 S= »7 420 78.0 86.0| 557 552 54 N= ¢ A 650 62.0 102.0
726 748 44 N= v] 420 78.0 86.0| 558 551 44 N+1 v5 650 62.0 102.0
750 724 44 S= *7 420 78.0 86.0| 623 653 44 N+1 v5 650 62.0 102.0
759 754 44 S= .7 420 78.0 86.0| 625 651 44 N+1 v5 650 62.0 102.0
832 830 44 S= *4 420 78.0 86.0| 626 650 54 N= ¢ A 650 62.0 102.0
855 823 44 S= *4 420 78.0 86.0| 647 629 44 N+1 ¢ A 650 62.0 102.0
859 858 44 S= v] 420 78.0 86.0| 652 624 44 N+1 v5 650 62.0 102.0
960 931 44 S= vl] 420 78.0 86.0| 654 622 44 N+1 *A 650 62.0 102.0
426 434 24 S+3 v] 200 56.0 108.0| 721 753 54 N= ¢ A 650 62.0 102.0
448 422 24 S +3 vJ] 200 56.0 108.0| 725 749 54 N= v5 650 62.0 102.0
458 451 24 S+3 vl] 200 56.0 108.0| 726 748 44 N+1 *A 650 62.0 102.0
525 535 34 S+2 v] 200 56.0 108.0 | 727 747 44 N+1 v5 650 62.0 102.0
529 531 34 S+2 vJ] 200 56.0 108.0| 728 746 54 N= ¢ A 650 62.0 102.0
631 633 34 S+2 v] 200 56.0 108.0| 731 733 54 N= ¢ A 650 62.0 102.0
734 730 24 S+3 *7 200 56.0 108.0| 734 730 44 N+1 v5 650 62.0 102.0
760 732 24 S+3 v] 200 56.0 108.0| 735 729 44 N+1 v5 650 62.0 102.0
826 852 24 S+3 +6 200 56.0 108.0| 750 724 44 S+1 +4 650 62.0 102.0
432 428 24 S+2 43 170 43.0 121.0| 752 722 44 N+1 a2 650 62.0 102.0
654 622 34 S+1 .7 170 43.0 121.0| 756 757 44 N+1 v4 650 62.0 102.0
756 757 24 S+2 *2 170 43.0 121.0| 760 732 54 N= *A 650 62.0 102.0
949 929 34 S+1 v] 170 43.0 121.0| 822 856 44 N+1 v8 650 62.0 102.0
727 747 34 S= .7 140 38.0 126.0| 824 854 54 N= *A 650 62.0 102.0
450 459 44 S-1 *7 -50 23.0 141.0| 825 853 44 N+1 v5 650 62.0 102.0
454 455 44 S-1 43 -50 23.0 141.0| 832 830 54 N= *A 650 62.0 102.0
457 452 44 S-1 43 -50 23.0 141.0| 855 823 44 N+1 *A 650 62.0 102.0
460 430 44 S-1 v] -50 23.0 141.0| 859 858 44 N+1 v4 650 62.0 102.0
558 551 44 S-1 *7 -50 23.0 141.0| 860 831 54 N= ¢ A 650 62.0 102.0
621 655 44 S-1 +5 -50 23.0 141.0| 924 954 44 N+1 *A 650 62.0 102.0
625 651 3NN-1 +3 -50 23.0 141.0| 927 951 54 N= *A 650 62.0 102.0
647 629 44 S-1 v] -50 23.0 141.0| 949 929 44 N+1 v8 650 62.0 102.0
658 657 64 S-1 v] -50 23.0 141.0| 959 958 44 N +1 *A 650 62.0 102.0
721 753 44 S-1 vl] -50 23.0 141.0| 960 931 44 N+1 v3 650 62.0 102.0
725 749 44 S-1 43 -50 23.0 141.0| 758 755 3NS+1 ] 630 15.0 149.0
827 851 44 S-1 +5 -50 23.0 141.0| 922 956 3NS+1 LN 630 15.0 149.0
850 828 44 S-1 *7 -50 23.0 141.0| 955 923 34 N +2 *A 200 12.0 152.0
922 956 44 S-1 v] -50 23.0 141.0| 421 449 64 N-1 v8 -100 7.0 157.0
554 555 44 S-2 *7 -100 5.0 159.0| 424 446 6NS-1 a4 -100 7.0 157.0
557 552 44 S-2 vl] -100 5.0 159.0| 658 657 64 N-1 *A -100 7.0 157.0
925 953 3NN-2 ¢4 -100 5.0 159.0| 659 656 64 N-1 a2 -100 7.0 157.0
930 932 44 S-2 *7 -100 5.0 159.0| 525 535 6NDS-1 *J -200 1.0 163.0
824 854 3NN-3 43 -150 0.0 164.0| 857 821 64DN-1 ¢ A -200 1.0 163.0
21 » EK976 Basta kontrakt 22 » K10643 Basta kontrakt
Nord v KKn976 3NT O =-400 Ost v KKn107 54 S =450
NS +4 oV +10
#DKn & ¢ v & NT &KKn2 & ¢ v & NT
a4 4 DKn1052 N3 3544 4752 & EKn N6 7 11117
vED1085 v- S 33544 v542 v 86 S 6 6 11117
¢ EKn53 ¢ D1076 09 108 9 9 + K62 + EDKn83 076226
%953 #EK82 vV 9 108 9 9 #10963 #D754 V76226
483 4 D98
v 432 vED93
¢ K982 49754
#10764 *E8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
921 959 4vDV-3 a A 500 164.0 0.0| 425 447 4v S+1 v2 450 127.0 37.0
534 528 3NDO -2 48 300 161.0 3.0| 458 453 4v S+1 &T 450 127.0 37.0
729 731 3NDO-2 v2 300 161.0 3.0| 459 452 4v N+1 v8 450 127.0 37.0
558 553 4v V-4 aK 200 158.0 6.0 522 550 4v N+1 +5 450 127.0 37.0
956 924 2v N +1 v4 140 156.0 8.0 533 529 44 N+1 ¢ A 450 127.0 37.0
424 448 3N O -2 48 100 151.0 13.0( 549 523 4v S+1 6 450 127.0 37.0
458 453 4¢DV-1 a A 100 151.0 13.0| 557 554 4v N+1 ¢ A 450 127.0 37.0
527 535 3NDO-1 v2 100 151.0 13.0| 558 553 44 N+1 *9 450 127.0 37.0
632 628 5¢ V-2 +4 100 151.0 13.0| 560 531 4v S+1 +5 450 127.0 37.0
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422 450 3NO-1 48 50 132.0 32.0| 621 651 4v N+1 *3 450 127.0 37.0
459 452 2N O-1 48 50 132.0 32.0| 623 649 44 N+1 &5 450 127.0 37.0
460 431 3#0-1 8 50 132.0 32.0| 625 647 4v N+1 v8 450 127.0 37.0
560 531 4¢ V-1 2 50 132.0 32.0| 626 634 4v S+1 v2 450 127.0 37.0
624 648 3NO-1 a5 50 132.0 32.0| 629 631 4v S+1 2 450 127.0 37.0
625 647 2NO-1 8 50 132.0 32.0| 632 628 54 N= ¢ A 450 127.0 37.0
656 655 4¢ V-1 s A 50 132.0 32.0| 657 654 44 N+1 »5 450 127.0 37.0
657 654 3NO-1 48 50 132.0 32.0| 660 630 4v S+1 +3 450 127.0 37.0
721 749 44 V-1 *Q 50 132.0 320| 726 734 4v N+1 »5 450 127.0 37.0
748 722 2N O-1 48 50 132.0 32.0| 729 731 4v N+1 »5 450 127.0 37.0
757 752 3NO-1 48 50 132.0 32.0| 733 727 4v N+1 v8 450 127.0 37.0
826 854 2NO-1 8 50 132.0 32.0| 754 755 4v S+1 &T 450 127.0 37.0
925 955 2v V-1 s A 50 132.0 32.0| 756 753 4v N+1 ¢A 450 127.0 37.0
928 952 2v V-1 s A 50 132.0 32.0| 757 752 4v S+1 2 450 127.0 37.0
960 932 4¢ V-1 & K 50 132.0 32.0| 758 751 44 N+1 »5 450 127.0 37.0
951 929 14 O= v2 -80 116.0 48.0| 760 730 44 N +1 »5 450 127.0 37.0
629 631 2v N-1 *A -100 113.0 51.0| 821 859 4v S+1 &T 450 127.0 37.0
958 922 14 N-1 *K -100 113.0 51.0| 823 857 4v S+1 2 450 127.0 37.0
426 446 3¢ V= s A -110 103.0 61.0( 825 855 44 N+1 s A 450 127.0 37.0
434 428 2v V= *4 -110 103.0 61.0( 826 854 4v N+1 v8 450 127.0 37.0
551 521 2v V= s A -110 103.0 61.0( 827 853 4v S+1 +5 450 127.0 37.0
633 627 3# 0= 8 -110 103.0 61.0( 831 849 44 N+1 ¢A 450 127.0 37.0
658 653 3& V= *4 -110 103.0 61.0( 851 829 44 N+1 v8 450 127.0 37.0
724 746 3¢ V= s A -110 103.0 61.0| 921 959 4v S+1 2 450 127.0 37.0
733 727 2y V= s A -110 103.0 610 926 954 4v S+1 &T 450 127.0 37.0
931 949 3¢ V= *4 -110 103.0 61.0| 927 953 4v N+1 v6 450 127.0 37.0
457 454 2N O = 43 -120 89.0 75.0| 931 949 4v S+1 + K 450 127.0 37.0
549 523 2NO= 48 -120 89.0 75.0( 950 930 44 N+1 v8 450 127.0 37.0
555 556 2N O = +3 -120 89.0 75.0( 951 929 4v S+1 2 450 127.0 37.0
623 649 2NO= 8 -120 89.0 75.0| 422 450 44 N= v6 420 81.0 83.0
823 857 2NO= 48 -120 89.0 75.0 434 428 44 N= v9 420 81.0 83.0
851 829 2NO= 48 -120 89.0 75.0( 551 521 44 N= v8 420 81.0 83.0
525 547 3¢ V+1 s A -130 81.0 83.0| 650 622 4v S= T 420 81.0 83.0
559 552 4¢ V= s A -130 81.0 83.0| 656 655 44 N= v9 420 81.0 83.0
828 852 24 O+1 v2 -140 78.0 86.0| 725 735 4v S= &T 420 81.0 83.0
427 435 2NV +1 +3 -150 75.0 89.0| 850 830 4v S= .7 420 81.0 83.0
626 634 2N O +1 48 -150 75.0 89.0| 960 932 4v S= &T 420 81.0 83.0
725 735 2vyDN-1 *A -200 71.0 93.0| 424 448 34 N +2 *A 200 42.0 122.0
926 954 2v N-2 *A -200 71.0 93.0| 426 446 2v S+3 +3 200 42.0 122.0
430 432 24 N-3 *A -300 68.0 96.0| 427 435 3v S+2 2 200 42.0 122.0
425 447 3NV = a7 -400 46.0 118.0| 430 432 2v S+3 v2 200 42.0 122.0
433 429 3NO= a7 -400 46.0 118.0| 433 429 3v N +2 »6 200 42.0 122.0
455 456 3N O= 48 -400 46.0 118.0| 449 423 14 N+4 »5 200 42.0 122.0
522 550 3NO= 48 -400 46.0 118.0| 451 421 34 S+2 v8 200 42.0 122.0
524 548 3NO= 43 -400 46.0 118.0| 455 456 24 N +3 v8 200 42.0 122.0
526 546 3NO= 48 -400 46.0 118.0| 460 431 3v S+2 2 200 42.0 122.0
557 554 3NO= 48 -400 46.0 118.0| 524 548 2v S+3 2 200 42.0 122.0
621 651 3NV= s A -400 46.0 118.0| 525 547 24 N +3 v8 200 42.0 122.0
660 630 3NO= 48 -400 46.0 118.0| 526 546 3v S +2 2 200 42.0 122.0
723 747 3NO= 48 -400 46.0 118.0| 530 532 3v N+2 &4 200 42.0 122.0
726 734 3NO= 48 -400 46.0 118.0| 534 528 24 N +3 v8 200 42.0 122.0
732 728 3NO= 48 -400 46.0 118.0| 559 552 3v S+2 2 200 42.0 122.0
754 755 3NO= 48 -400 46.0 118.0| 624 648 34 N+2 &5 200 42.0 122.0
756 753 3NO= 2 -400 46.0 118.0| 633 627 34 N+2 »5 200 42.0 122.0
760 730 3NO= 48 -400 46.0 118.0| 652 659 24 N+3 v8 200 42.0 122.0
821 859 3NO= 48 -400 46.0 118.0| 658 653 3v S+2 2 200 42.0 122.0
831 849 3NO= *4 -400 46.0 118.0| 724 746 34 N +2 »6 200 42.0 122.0
850 830 3NO= *4 -400 46.0 118.0| 732 728 34 N+2 v8 200 42.0 122.0
856 824 3NO= 2 -400 46.0 118.0| 748 722 2v S+3 +6 200 42.0 122.0
860 832 3NO= 8 -400 46.0 118.0| 750 759 24 N +3 ¢A 200 42.0 122.0
923 957 3NO= 3 -400 46.0 118.0| 828 852 3v N+2 &4 200 42.0 122.0
650 622 3NO+1 +8 -430 20.0 144.0| 856 824 2v S+3 *6 200 42.0 122.0
652 659 3N O +1 2 -430 20.0 144.0| 858 822 34 N +2 »5 200 42.0 122.0
825 855 3NO+1 48 -430 20.0 144.0| 860 832 24 N+3 s A 200 42.0 122.0
858 822 3NO+1 2 -430 20.0 144.0| 923 957 34 N+2 &5 200 42.0 122.0
927 953 3N O +1 48 -430 20.0 144.0| 925 955 2v S+3 +5 200 42.0 122.0
750 759 2vyDN-2 *A -500 11.0 153.0| 928 952 2v S+3 2 200 42.0 122.0
758 751 2vyDN-2 *A -500 11.0 153.0| 958 922 14 N+4 v6 200 42.0 122.0
827 853 2vDN-2 *A -500 11.0 153.0| 457 454 34 N+1 v8 170 7.0 157.0
950 930 24D N-2 *A -500 11.0 153.0| 527 535 3v S+l v2 170 7.0 157.0
449 423 2ND O +1 a2 -590 6.0 158.0| 555 556 3v S+1 2 170 7.0 157.0
530 532 14DN-3 &K -800 3.0 161.0| 723 747 24 N +2 3 170 7.0 157.0
533 529 24DN-3 2 Q -800 3.0 161.0| 956 924 2v N+1 v8 140 2.0 162.0
451 421 2vDN-4 *A -1100 0.0 164.0| 721 749 4v S-1 2 -50 0.0 164.0
23 « ED654 Basta kontrakt 24 a7 Basta kontrakt
Syd vK73 34V =-110 Vast vD10962 44 V =-420
Alla * K7 Ingen ¢+ KKn764
#1072 & ¢ v & NT 64 & ¢ v & NT
a7 & KKn1032 N46 56 6 4 KD982 4 E65 N25833
vED1092 ¢8 S$46566 vK v EKn S$25833
4103 + EKn82 097877 ¢ ED2 + 10953 O 108 5 109
#D8654  #K93 V97877 #E732 #D1085 V 108 5 109
98 «Kn1043
v Kn654 v 87543
¢ D9654 +8
&EKn &KKn9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
624 650 24D N= v8 670 164.0 0.0| 757 754 6NV -5 *6 250 164.0 0.0
550 524 24 O-2 v5 200 158.0 6.0| 423 451 64 V-4 v2 200 159.0 5.0
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Béasta kontrakt

5¢ N =450
& ¢ v & NT
N8 8 117 10
S8 7 117 10
05526 3
V55263
Res Poang
800 163.0
800 163.0
500 160.0
480 156.0
480 156.0
480 156.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
450 118.0
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450 118.0
450 118.0
450 118.0
450 118.0
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430 82.0
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420 52.0
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-50 7.0
-50 7.0
-50 7.0
-50 7.0
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Basta kontrakt

5 O =-600
& ¢ v & NT
N25435
S25435
O 118 8 7 7
vV 118 8 7 7
Res Poang
300 161.0
300 161.0
300 161.0
300 161.0
200 149.0
200 149.0
200 149.0
200 149.0
200 149.0
200 149.0
200 149.0
200 149.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
100 113.0
-120 84.0
-150 82.0
-300 80.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-600 61.0
-630 38.0
-630 38.0
-630 38.0
-630 38.0
-630 38.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
-660 17.0
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730 750 6v N-1 s] -50 7.0 157.0| 858 826 3NV +2 v2 -660 17.0 147.0
823 822 6v N-1 s] -50 7.0 157.0| 925 959 3NV +2 v8 -660 17.0 147.0
921 924 6v N-1 46 -50 7.0 157.0| 929 955 3NV +2 v2 -660 17.0 147.0
953 931 5v N-1 46 -50 7.0 157.0| 630 652 54D O = +K -750 0.0 164.0
923 922 Pen/Pen -16.4 0.0
27 41083 Bésta kontrakt 28 « KKn82 Bésta kontrakt
Syd v2 3NT VD -1100 Vast v 873 24 N =110
Ingen ¢ K6432 NS +82
&#EDKnN10 & ¢ v & NT &#ED53 & ¢ v & NT
4 Kn52 s E7 N8 8394 « D63 41095 N7 7887
vKKn853 vED10974 S 88394 v KKn6é vD54 S77887
¢ EDKn + 105 0449 48 ¢ DKn105 ¢ E63 06 6 556
»K3 »874 V459438 *Kn84 #K1092 V66556€6
4 KD964 A E74
v6 v E1092
¢ 987 + K974
#9652 £76
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
648 630 6v V-3 43 150 164.0 0.0| 826 821 24DN+1 a5 870 164.0 0.0
421 457 5v V-2 43 100 154.0 10.0| 828 858 INDV-2 v3 300 160.0 4.0
447 431 5v V-2 43 100 154.0 10.0( 850 852 2NDV -2 v8 300 160.0 4.0
522 556 5v V-2 a4 100 154.0 10.0| 928 958 INDV -2 48 300 160.0 4.0
533 535 5v V-2 43 100 154.0 10.0( 547 531 2NS+1 +Q 150 156.0 8.0
546 532 5v V-2 43 100 154.0 10.0| 422 456 14 N+2 *2 140 146.0 18.0
653 625 5v V-2 43 100 154.0 10.0| 446 432 1a N+2 «9 140 146.0 18.0
726 750 5v O -2 *2 100 154.0 10.0| 521 557 1e N+2 *2 140 146.0 18.0
822 825 5v V-2 43 100 154.0 10.0| 629 649 14 N+2 *9 140 146.0 18.0
953 949 54DV-1 v3 100 154.0 10.0| 659 658 14 N+2 *9 140 146.0 18.0
423 455 4v V-1 43 50 103.0 61.0| 727 749 24 N+1 *9 140 146.0 18.0
427 451 4v V-1 48 50 103.0 61.0| 759 756 24 N+1 *9 140 146.0 18.0
428 450 5v V-1 *A 50 103.0 61.0| 760 733 1a N+2 *2 140 146.0 18.0
429 449 4v V-1 48 50 103.0 61.0( 854 832 24 N+1 *9 140 146.0 18.0
430 448 4v V-1 48 50 103.0 61.0| 421 457 INN+1 *2 120 132.0 32.0
433 435 4v O -1 43 50 103.0 61.0| 626 652 INS+1 +Q 120 132.0 32.0
452 426 4v O -1 *5 50 103.0 61.0( 628 650 INN+1 *9 120 132.0 32.0
458 459 6v V-1 *A 50 103.0 610 824 823 2NN= *2 120 132.0 32.0
460 434 4v V-1 43 50 103.0 61.0| 960 951 INS+1 +Q 120 132.0 32.0
521 557 4v V-1 LY:] 50 103.0 61.0| 427 451 1e N+1 *9 110 110.0 54.0
525 553 4v O-1 43 50 103.0 61.0( 429 449 1s N+1 49 110 110.0 54.0
528 550 6v V-1 *A 50 103.0 61.0| 447 431 1a N+1 a5 110 110.0 54.0
529 549 4v V-1 LY:] 50 103.0 61.0| 527 551 24 N= a5 110 110.0 54.0
554 524 4v V-1 43 50 103.0 61.0( 528 550 2v S= +Q 110 110.0 54.0
558 559 4v V-1 48 50 103.0 61.0| 533 535 1a N+1 aT 110 110.0 54.0
560 534 3NO-1 *5 50 103.0 61.0| 552 526 24 N= aT 110 110.0 54.0
624 654 4v V-1 43 50 103.0 610 622 656 14 N+1 LY 110 110.0 54.0
626 652 4v V-1 43 50 103.0 61.0| 653 625 24 N= aT 110 110.0 54.0
647 631 6v V-1 *A 50 103.0 61.0( 655 623 14 N+1 +3 110 110.0 54.0
655 623 4v V-1 43 50 103.0 61.0| 751 725 1lv N+1 49 110 110.0 54.0
660 633 4v O-1 oK 50 103.0 61.0| 753 723 24 N= 46 110 110.0 54.0
721 755 4v O-1 43 50 103.0 61.0| 757 758 1a N+1 v4 110 110.0 54.0
722 754 4v V-1 43 50 103.0 61.0( 822 825 14 N+1 v4 110 110.0 54.0
727 749 4v V-1 43 50 103.0 61.0| 829 857 1a N+1 *6 110 110.0 54.0
728 748 5v V-1 *A 50 103.0 61.0| 830 856 24 N= *2 110 110.0 54.0
729 747 6v O-1 v2 50 103.0 61.0| 929 957 1a N+1 46 110 110.0 54.0
753 723 4v V-1 a4 50 103.0 61.0| 560 534 INDO-1 a2 100 90.0 74.0
757 758 4v V-1 43 50 103.0 61.0| 859 827 INDV-1 a2 100 90.0 74.0
760 733 4v V-1 43 50 103.0 610 954 932 INO- vT 100 90.0 74.0
826 821 4v V-1 43 50 103.0 61.0| 621 657 INS= +Q 90 84.0 80.0
828 858 4v V-1 43 50 103.0 61.0| 632 634 INS= +Q 90 84.0 80.0
830 856 44 V-1 a4 50 103.0 61.0( 853 849 INS= +Q 90 84.0 80.0
831 855 4v V-1 43 50 103.0 61.0| 430 448 INV-1 a2 50 77.0 87.0
854 832 5vV-1 v7 50 103.0 61.0| 732 734 INV-1 3 50 77.0 87.0
860 851 4v V-1 43 50 103.0 610 735 731 INV-1 +8 50 77.0 87.0
922 925 4v V-1 48 50 103.0 61.0| 831 855 INV-1 a2 50 77.0 87.0
924 923 4v V-1 43 50 103.0 61.0| 423 455 Pass 38.0 126.0
926 921 4v V-1 43 50 103.0 61.0| 425 453 Pass 38.0 126.0
929 957 4v V-1 48 50 103.0 61.0| 428 450 Pass 38.0 126.0
930 956 4v V-1 43 50 103.0 61.0| 433 435 Pass 38.0 126.0
931 955 4v V-1 a4 50 103.0 61.0| 454 424 Pass 38.0 126.0
950 952 4v V-1 43 50 103.0 61.0| 458 459 Pass 38.0 126.0
853 849 44DS-1 a2 -100 60.0 104.0| 460 434 Pass 38.0 126.0
425 453 54D S-2 v3 -300 58.0 106.0| 523 555 Pass 38.0 126.0
632 634 3NO= aK -400 56.0 108.0| 525 553 Pass 38.0 126.0
446 432 4v V= +5 -420 36.0 128.0| 529 549 Pass 38.0 126.0
523 555 4v V= 2 -420 36.0 128.0| 530 548 Pass 38.0 126.0
530 548 4v V= v2 -420 36.0 128.0| 546 532 Pass 38.0 126.0
547 531 4v O= oK -420 36.0 128.0| 554 524 Pass 38.0 126.0
621 657 4v V= 2 -420 36.0 128.0| 558 559 Pass 38.0 126.0
622 656 4v V= 2 -420 36.0 128.0| 624 654 Pass 38.0 126.0
627 651 4v V= 2 -420 36.0 128.0| 627 651 Pass 38.0 126.0
628 650 4v V= 2 -420 36.0 128.0| 647 631 Pass 38.0 126.0
629 649 4v V= 2 -420 36.0 128.0| 648 630 Pass 38.0 126.0
735 731 4v V= v2 -420 36.0 128.0| 660 633 Pass 38.0 126.0
746 730 4v V= +3 -420 36.0 128.0| 721 755 Pass 38.0 126.0
751 725 4v V= 2 -420 36.0 128.0| 722 754 Pass 38.0 126.0
824 823 4v V= v2 -420 36.0 128.0| 724 752 Pass 38.0 126.0
829 857 4v V= +6 -420 36.0 128.0| 726 750 Pass 38.0 126.0
850 852 4v V= +3 -420 36.0 128.0| 728 748 Pass 38.0 126.0
859 827 4v V= v2 -420 36.0 128.0| 729 747 Pass 38.0 126.0
928 958 4y O= & K -420 36.0 128.0| 746 730 Pass 38.0 126.0
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959 927 4v V= 2 -420 36.0 128.0| 860 851 Pass 38.0 126.0
960 951 4v V= v2 -420 36.0 128.0| 922 925 Pass 38.0 126.0
422 456 4v V +1 v2 -450 8.0 156.0| 924 923 Pass 38.0 126.0
454 424 4v V +1 2 -450 8.0 156.0| 926 921 Pass 38.0 126.0
527 551 4v V +1 *A -450 8.0 156.0| 930 956 Pass 38.0 126.0
552 526 4v O +1 a K -450 8.0 156.0| 931 955 Pass 38.0 126.0
659 658 4v V+1 *Q -450 8.0 156.0| 950 952 Pass 38.0 126.0
724 752 4v V +1 *Q -450 8.0 156.0 | 953 949 Pass 38.0 126.0
732 734 4v V +1 v2 -450 8.0 156.0| 959 927 Pass 38.0 126.0
759 756 4v V +1 &A -450 8.0 156.0| 452 426 INS-1 +Q -100 1.0 163.0
954 932 4v V +1 *A -450 8.0 156.0| 522 556 INS-1 v6 -100 1.0 163.0
29 4 D1073 Basta kontrakt 30 & KKn4 Basta kontrakt
Nord v KKn943 4% O =-130 Ost v EKn1065 4v N =420
Alla + D1065 Ingen ¢ Kn862
»- & ¢ v & NT &Kn & ¢ v & NT
4« EKKN8 45 N3 9883 49832 & EDI105 N7 7 106 7
vD108 v765 S39883 v84 vD3 S66 957
¢ E87 492 O 104 4 4 8 ¢ 9753 ¢ KD10 06 6 376
K64 #ED98753 V 104 5 5 8 #1087 #EK93 V66 376
#9642 476
vE2 v K972
¢ KKn43 ¢E4
#Kn102 #D6542
Par Kontr ut Res Poang Par Kontr ut Res Poang
522 558 5&D O -2 *2 500 163.0 10| 423 457 3vyDN+1 vQ 630 164.0 0.0
555 525 3NV-5 v4 500 163.0 10| 529 551 4vDN-= v5 590 162.0 2.0
746 732 54D O -1 vA 200 160.0 40| 728 750 2¢D N +1 A 570 160.0 4.0
423 457 3NV-1 v3 100 109.0 55.0| 460 435 3vDN-= *A 530 158.0 6.0
424 456 3NV -1 v4 100 109.0 55.0| 625 655 2NO-5 *4 250 154.0 10.0
430 450 3NV-1 v4 100 109.0 55.0( 723 755 2N O-5 »2 250 154.0 10.0
434 446 24 O-1 vA 100 109.0 55.0| 754 724 2NO-5 *2 250 154.0 10.0
447 433 3& V-1 v3 100 109.0 55.0| 453 427 2N O -4 *2 200 140.0 24.0
453 427 3NV-1 v2 100 109.0 55.0( 523 557 2NO-4 *4 200 140.0 24.0
455 425 3NV-1 v3 100 109.0 55.0| 524 556 44 V-4 *] 200 140.0 24.0
459 421 3NV-1 v3 100 109.0 55.0| 531 549 2NO-4 *2 200 140.0 24.0
460 435 3NV-1 v3 100 109.0 55.0( 621 659 2NO-4 3 200 140.0 24.0
526 554 3NV-1 v3 100 109.0 55.0| 654 626 2N O -4 *2 200 140.0 24.0
529 551 3NV-1 v2 100 109.0 55.0| 722 756 44 O-4 ¢ A 200 140.0 24.0
530 550 3NV-1 v3 100 109.0 55.0( 827 855 44 V-4 LN, 200 140.0 24.0
531 549 3NV-1 v3 100 109.0 55.0| 828 854 2NO-4 *2 200 140.0 24.0
534 546 3NV-1 v3 100 109.0 55.0| 832 850 2NO-4 »2 200 140.0 24.0
547 533 3NV-1 v3 100 109.0 55.0( 932 950 2N O -4 *4 200 140.0 24.0
548 532 3NV-1 v3 100 109.0 55.0| 459 421 3v N+1 *A 170 123.0 41.0
559 521 540-1 *4 100 109.0 55.0| 729 749 3v N+1 &K 170 123.0 41.0
560 535 3NV-1 v3 100 109.0 55.0( 733 735 3v N+1 + K 170 123.0 41.0
621 659 3NV-1 v3 100 109.0 55.0| 822 821 3v N+1 *A 170 123.0 41.0
628 652 3NV-1 v3 100 109.0 55.0| 829 853 3v N+1 A 170 123.0 41.0
630 650 3NV-1 v2 100 109.0 55.0| 922 921 3v N+1 &A 170 123.0 41.0
633 647 5# 0O-1 a4 100 109.0 55.0| 422 458 2N O-3 *2 150 106.0 58.0
648 632 3NV-1 v3 100 109.0 55.0| 424 456 2NO-3 »4 150 106.0 58.0
649 631 3NV-1 v3 100 109.0 55.0( 428 452 2N O-3 »2 150 106.0 58.0
654 626 3NV-1 v3 100 109.0 55.0| 429 451 2NO-3 &4 150 106.0 58.0
656 624 3NV-1 v3 100 109.0 55.0| 649 631 2NO-3 »2 150 106.0 58.0
660 634 3NV-1 v3 100 109.0 55.0( 747 731 2NO-3 v2 150 106.0 58.0
723 755 3NV-1 v3 100 109.0 55.0| 857 825 2NO-3 v2 150 106.0 58.0
728 750 3NV-1 v3 100 109.0 55.0| 924 958 2¢ O-3 »4 150 106.0 58.0
729 749 3NO-1 v2 100 109.0 55.0( 926 956 44 O-3 v7 150 106.0 58.0
730 748 54 0O-1 v2 100 109.0 55.0| 929 953 INO-3 &4 150 106.0 58.0
733 735 54 0-1 vA 100 109.0 55.0| 960 949 2N O-3 *4 150 106.0 58.0
752 726 3NV-1 v2 100 109.0 55.0( 730 748 3v N= + K 140 94.0 70.0
754 724 3NV-1 v3 100 109.0 55.0| 430 450 2N O-2 &4 100 72.0 92.0
826 856 5# O -1 a4 100 109.0 55.0| 447 433 2NDO-1 *2 100 72.0 92.0
827 855 3NV-1 v3 100 109.0 55.0( 448 432 2NO-2 v2 100 72.0 92.0
829 853 3NO-1 v3 100 109.0 55.0| 522 558 2N O-2 *2 100 72.0 92.0
832 850 3NV-1 v3 100 109.0 55.0| 534 546 34 V-2 *] 100 72.0 92.0
851 831 3NV-1 v4 100 109.0 55.0( 548 532 34 V-2 LN, 100 72.0 92.0
852 830 5#0-1 vA 100 109.0 55.0| 553 527 2N O-2 *6 100 72.0 92.0
857 825 3NV-1 v4 100 109.0 55.0| 559 521 2NO-2 *4 100 72.0 92.0
859 823 3NV-1 v3 100 109.0 55.0( 560 535 2NO-2 *2 100 72.0 92.0
860 849 3NV-1 v2 100 109.0 55.0| 622 658 2NO-2 *2 100 72.0 92.0
922 921 3NV-1 v4 100 109.0 55.0| 628 652 2NO-2 »2 100 72.0 92.0
924 958 3NV-1 v3 100 109.0 55.0( 629 651 34 V-2 LN 100 72.0 92.0
926 956 3NV-1 v4 100 109.0 55.0| 721 757 2NO-2 *2 100 72.0 92.0
927 955 3NV-1 v9 100 109.0 55.0| 727 751 34 O-2 *J 100 72.0 92.0
929 953 3NV-1 v4 100 109.0 55.0( 752 726 2N O -2 *2 100 72.0 92.0
952 930 3NV-1 v4 100 109.0 55.0| 824 858 3NO-2 *2 100 72.0 92.0
960 949 3NV-1 v4 100 109.0 55.0| 851 831 2NO-2 »4 100 72.0 92.0
426 454 34 O +1 vA -130 52.0 112.0| 860 849 34 V-2 LN, 100 72.0 92.0
429 451 340 +1 v2 -130 52.0 112.0| 927 955 2N O-2 v2 100 72.0 92.0
448 432 34 O +1 vA -130 52.0 112.0| 952 930 2NO-2 v2 100 72.0 92.0
523 557 44 O= vA -130 52.0 112.0| 957 925 34 V-2 vA 100 72.0 92.0
524 556 44 0= vA -130 52.0 112.0| 426 454 2NO-1 &4 50 35.0 129.0
627 653 4# O = vA -130 52.0 112.0| 431 449 34 V-1 vA 50 35.0 129.0
959 923 4& V= v3 -130 52.0 112.0| 434 446 2NO-1 *4 50 35.0 129.0
828 854 4¢DS-1 s A -200 44.0 120.0| 526 554 2NO-1 *2 50 35.0 129.0
625 655 34DS-2 *4 -500 41.0 123.0| 547 533 2NO-1 »5 50 35.0 129.0
928 954 44D N-2 v3 -500 41.0 123.0| 623 657 2NO-1 v7 50 35.0 129.0
431 449 3NV +1 +5 -630 31.0 133.0| 633 647 2NO-1 *2 50 35.0 129.0
528 552 3NO+1 *3 -630 31.0 133.0| 656 624 2NO-1 a2 50 35.0 129.0
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623 657 3NV +1 +5 -630 31.0 133.0| 660 634 2NO-1 &2 50 35.0 129.0
629 651 3NV +1 +6 -630 31.0 133.0| 725 753 2NO-1 &4 50 35.0 129.0
721 757 3NV +1 +6 -630 31.0 133.0| 746 732 34 O-1 v2 50 35.0 129.0
747 731 ANV = +3 -630 31.0 133.0| 758 759 2NO-1 &2 50 35.0 129.0
758 759 3NV +1 +6 -630 31.0 133.0| 826 856 2NO-1 &2 50 35.0 129.0
957 925 3NV +1 *4 -630 31.0 133.0| 852 830 2NO-1 &2 50 35.0 129.0
622 658 3NV +2 a7 -660 20.0 144.0| 859 823 2NO-1 &2 50 35.0 129.0
722 756 3NV +2 v4 -660 20.0 1440 959 923 2N O-1 &2 50 35.0 129.0
725 753 3N O +2 a2 -660 20.0 144.0| 928 954 3v N-1 &A -50 18.0 146.0
422 458 3NV +3 a7 -690 10.0 154.0( 530 550 INO= &2 -90 16.0 148.0
553 527 3NV +3 +6 -690 10.0 154.0| 760 734 4vyDN-1 SA -100 14.0 150.0
727 751 3NV +3 a7 -690 10.0 154.0| 555 525 2NO= &4 -120 10.0 154.0
822 821 3NV +3 a7 -690 10.0 154.0| 630 650 2NO= &2 -120 10.0 154.0
824 858 3NV +3 +6 -690 10.0 154.0( 951 931 2NO-= &4 -120 10.0 154.0
932 950 3NV +3 »2 -690 10.0 154.0| 648 632 34 V= & -140 6.0 158.0
951 931 3NV +3 a2 -690 10.0 154.0 455 425 2NV +1 &2 -150 4.0 160.0
428 452 34D S-3 &4 -800 1.0 163.0( 627 653 34 V+1 vA -170 2.0 162.0
760 734 44DS-3 aA -800 1.0 163.0( 528 552 4vyDN-2 &A -300 0.0 164.0
31 « EKn9 Basta kontrakt 32 «D1092 Basta kontrakt
Syd v Kn643 3v S =140 Vast v 86 5v V =-650
NS ¢+ Knl10 oV + Kn1065
&#EK73 & ¢ v & NT &742 & ¢ v & NT
« D65 41082 N85 977 & K75 & Kn843 N17 132
vKD87 v2 S85977 v EK7 v DKn10942 S37142
+ ED853 ¢ K9742 O58 46 6 + 87 +3 O9 5 119 6
&Kn &D1085 V58 46F©6 #ED1095 #Kn8 V 95 119 6
& K743 «E6
v E1095 v53
+6 ¢ EKD942
#9642 #K63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
521 522 5¢DV-3 A 500 161.0 3.0 554 528 5vDV-2 *J 500 164.0 0.0
524 558 5¢DV-3 v6 500 161.0 3.0| 653 647 5v V-2 *J 200 162.0 2.0
629 659 5¢DV-3 v4 500 161.0 30| 852 854 5vV-1 *J 100 160.0 4.0
723 724 54DV -3 SA 500 161.0 3.0| 660 650 4¢ S-1 vK -50 158.0 6.0
423 459 4DV -2 v4 300 151.0 13.0| 529 553 4¢ S-2 vA -100 156.0 8.0
435 447 4e¢DV -2 &A 300 151.0 13.0| 629 659 3v V= *J -140 153.0 11.0
756 730 4¢DV-2 A 300 151.0 13.0| 731 755 3v V= +6 -140 153.0 11.0
830 821 4¢DV-2 *J 300 151.0 13.0| 425 457 5¢ S-3 vK -150 147.0 17.0
926 925 4¢DV-2 *J 300 151.0 13.0| 632 656 6¢ S-3 vA -150 147.0 17.0
956 950 5¢DV-2 &A 300 151.0 13.0| 726 721 4¢ S-3 vA -150 147.0 17.0
525 557 3NV-3 &A 150 143.0 210 729 757 4¢ N-3 vQ -150 147.0 17.0
621 628 5¢ V-3 &A 150 143.0 21.0| 421 422 3v O+2 s A -200 119.0 45.0
424 458 3v N= *2 140 127.0 37.0| 429 453 3v O+2 +K -200 119.0 45.0
427 455 3v N= *2 140 127.0 37.0| 432 450 3v V+2 *J -200 119.0 45.0
429 453 3v S= & 140 127.0 37.0| 448 434 3v V+2 *J -200 119.0 45.0
431 451 2v S+1 *J 140 127.0 37.0| 460 446 3v V+2 +6 -200 119.0 45.0
432 450 2v N+1 *4 140 127.0 37.0| 523 559 3v V+2 +6 -200 119.0 45.0
456 426 3v S= & 140 127.0 37.0| 524 558 3v O+2 + K -200 119.0 45.0
460 446 3v N= &8 140 127.0 37.0| 525 557 3v V+2 *J -200 119.0 45.0
653 647 3v N= *2 140 127.0 37.0| 531 551 3vV+2 +6 -200 119.0 45.0
731 755 3v S= *A 140 127.0 37.0| 548 534 3v V+2 *J -200 119.0 45.0
750 746 3v S= & 140 127.0 37.0| 556 526 3v O+2 s A -200 119.0 45.0
760 748 3v N= *2 140 127.0 37.0| 626 623 3v V+2 *J -200 119.0 45.0
849 857 3v S= & 140 127.0 37.0| 633 655 3v V+2 *J -200 119.0 45.0
852 854 3v S= & 140 127.0 37.0| 649 651 5¢ S-4 vA -200 119.0 45.0
860 853 3v S= *A 140 127.0 37.0| 723 724 3v O+2 *A -200 119.0 45.0
555 527 24 O-2 +6 100 107.0 57.0| 727 759 5¢ S-4 vA -200 119.0 45.0
560 546 3¢DV-1 *J 100 107.0 57.0| 758 728 3v V+2 *J -200 119.0 45.0
822 829 4¢ V-2 v4 100 107.0 57.0| 822 829 3v O+2 +K -200 119.0 45.0
855 851 5¢DV-1 &A 100 107.0 57.0| 824 827 3v V+2 +6 -200 119.0 45.0
924 927 4¢ V-2 *J 100 107.0 57.0| 831 859 3v V+2 *J -200 119.0 45.0
931 959 4e¢ V-2 &A 100 107.0 57.0| 856 850 3v O+2 *A -200 119.0 45.0
421 422 3¢ V-1 &A 50 83.0 81.0| 922 929 5¢ S-4 vA -200 119.0 45.0
523 559 3¢ V-1 *J 50 83.0 81.0| 931 959 5¢ S-4 vA -200 119.0 45.0
535 547 3¢ V-1 &A 50 83.0 81.0| 949 957 5¢ S-4 vA -200 119.0 45.0
549 533 4¢ V-1 &K 50 83.0 81.0| 454 428 2v V +4 a9 -230 93.0 71.0
632 656 3¢ V-1 *J 50 83.0 81.0| 532 550 3v O+3 43 -230 93.0 71.0
633 655 3¢ V-1 &A 50 83.0 81.0| 625 624 5¢DS-2 vA -300 85.0 79.0
634 654 3¢ V-1 &A 50 83.0 81.0| 631 657 5¢DS-2 vA -300 85.0 79.0
652 648 3¢ V-1 *J 50 83.0 81.0| 733 753 5¢DS-2 vA -300 85.0 79.0
658 630 5¢ V-1 &A 50 83.0 81.0| 849 857 5¢DS-2 vA -300 85.0 79.0
725 722 3¢ V-1 &K 50 83.0 81.0| 928 923 5¢DS-2 a2 -300 85.0 79.0
727 759 3¢ V-1 &K 50 83.0 81.0| 956 950 4¢DN-2 vQ -300 85.0 79.0
732 754 3¢ V-1 &A 50 83.0 81.0| 756 730 3NS-7 vA -350 78.0 86.0
734 752 INO-1 a3 50 83.0 81.0| 431 451 5¢DS-3 vA -500 72.0 92.0
747 749 3¢ V-1 *J 50 83.0 81.0| 560 546 5¢DN-3 vQ -500 72.0 92.0
828 823 3¢ V-1 *J 50 83.0 81.0| 725 722 5¢DS-3 vA -500 72.0 92.0
831 859 3¢ V-1 v4 50 83.0 81.0| 751 735 64DS-3 vA -500 72.0 92.0
832 858 3¢ V-1 *J 50 83.0 81.0| 960 953 5¢DS-3 vK -500 72.0 92.0
922 929 3¢ V-1 &K 50 83.0 81.0| 760 748 4v V= *J -620 65.0 99.0
454 428 1¢ V+1 &A -90 62.0 102.0| 930 921 4v O= *A -620 65.0 99.0
930 921 1¢ V+1 SA -90 62.0 102.0 | 423 459 4v O +1 *A -650 45.0 119.0
952 954 2¢ V= &A -90 62.0 102.0 | 427 455 4v V+1 *T -650 45.0 119.0
430 452 3v S-1 & -100 49.0 115.0| 449 433 4v V+1 *J -650 45.0 119.0
449 433 3v N-1 *2 -100 49.0 115.0| 530 552 4v O+1 *A -650 45.0 119.0
529 553 3v N-1 *2 -100 49.0 115.0 535 547 4v O +1 *A -650 45.0 119.0
554 528 3v N-1 a2 -100 49.0 115.0| 549 533 4v V+1 *J -650 45.0 119.0
556 526 4v N-1 *2 -100 49.0 115.0| 627 622 4v O +1 *A -650 45.0 119.0
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626 623 3v S-1 &J -100 49.0 115.0| 652 648 4v V+1 +J -650 45.0 119.0
649 651 4v N-1 *2 -100 49.0 115.0| 732 754 4v V+1 +5 -650 45.0 119.0
729 757 3v N-1 *2 -100 49.0 115.0| 734 752 4v V+1 *J -650 45.0 119.0
928 923 4v S-1 &J -100 49.0 115.0| 747 749 5v O= *A -650 45.0 119.0
932 958 3v N-1 *A -100 49.0 115.0| 750 746 4v V+1 *J -650 45.0 119.0
531 551 3¢ V= *J -110 36.0 128.0| 832 858 4v V+1 *J -650 45.0 119.0
548 534 3¢ V= *J -110 36.0 128.0| 855 851 4v O+1 *A -650 45.0 119.0
758 728 3¢ V= A -110 36.0 128.0( 924 927 4v V +1 *J -650 45.0 119.0
530 552 1¢ V+3 S A -130 27.0 137.0| 926 925 4v O+1 *A -650 45.0 119.0
726 721 3¢ V+1 A -130 27.0 137.0| 932 958 4v V +1 +J -650 45.0 119.0
733 753 3¢ V+1 A -130 27.0 137.0| 955 951 4v O+1 *J -650 45.0 119.0
824 827 3¢ V+1 S A -130 27.0 137.0| 424 458 5¢DS-4 vA -800 15.0 149.0
826 825 44 O= &K -130 27.0 137.0| 430 452 5¢DS-4 vA -800 15.0 149.0
960 953 3¢ V+1 &K -130 27.0 137.0| 435 447 5¢DS-4 vA -800 15.0 149.0
532 550 3¢ V+2 *J -150 19.0 145.0| 456 426 5¢DS-4 vA -800 15.0 149.0
856 850 3¢ V+2 A -150 19.0 145.0| 521 522 5¢DS-4 vA -800 15.0 149.0
448 434 2¢DO= *T -180 16.0 148.0| 555 527 5¢DS-4 vA -800 15.0 149.0
425 457 4vyDN-1 *3 -200 10.0 154.0| 621 628 5¢DS-4 vA -800 15.0 149.0
625 624 3v N-2 *2 -200 10.0 154.0| 634 654 5¢DN-4 &J -800 15.0 149.0
631 657 34 S-2 &J -200 10.0 154.0| 826 825 5¢DN-4 vQ -800 15.0 149.0
660 650 3v S-2 *J -200 10.0 154.0| 830 821 5¢DS-4 vK -800 15.0 149.0
955 951 3v S-2 &J -200 10.0 154.0| 860 853 5¢DS-4 vA -800 15.0 149.0
751 735 2¢ S-3 &J -300 3.0 161.0| 952 954 5¢DS-4 vA -800 15.0 149.0
949 957 3v S-3 *A -300 3.0 161.0| 658 630 5¢vDV= *J -850 2.0 162.0
627 622 5v N-4 *2 -400 0.0 164.0| 828 823 4vDO +1 *A -990 0.0 164.0
33 a4 Basta kontrakt 34 « D1054 Basta kontrakt
Nord v E1087652 6NT O =-990 Ost vKn 6v O =-980
Ingen ¢+ K4 NS ¢+ Knl10
»K62 & ¢ v & NT &#EKN9842 & ¢ v & NT
4 KKn865 4 EDI10 N14611 4 KKN962 &- N9 0071
v Kn4 vK3 S14611 v K643 v ED982 S90071
+ D6 ¢ EKn32 O 129 7 1212 + E53 + KD98742 O 3 12126 6
#DKn85 &E973 V 129 7 1212 »10 &7 V 3 12126 6
49732 « E873
vD9 v 1075
4109875 +6
104 #KD653
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
430 454 3v N-1 &7 -50 164.0 0.0 732 750 3NO-3 &3 150 164.0 0.0
522 523 34 V+2 vA -200 162.0 20| 449 435 7v V-1 &K 50 162.0 2.0
425 459 3NO= vQ -400 159.0 50| 929 924 4¢ O+2 &K -170 160.0 4.0
949 959 3NO= vQ -400 159.0 5.0 455 429 5¢ O+1 &K -420 157.0 7.0
446 448 44 O= vQ -420 153.0 11.0| 724 758 5¢ O+1 &K -420 157.0 7.0
756 726 44 O= a2 -420 153.0 11.0| 432 452 4v O+2 &K -480 134.0 30.0
931 922 44 O= vQ -420 153.0 11.0| 433 451 5v O+1 &K -480 134.0 30.0
953 955 44 V= vA -420 153.0 11.0| 525 559 5v O+1 &K -480 134.0 30.0
658 626 3N O +1 vQ -430 148.0 16.0| 530 554 5v V+1 &K -480 134.0 30.0
426 458 44 O +1 vQ -450 131.0 33.0( 549 535 4y O+2 &K -480 134.0 30.0
428 456 44 V +1 vA -450 131.0 33.0| 555 529 4v V+2 A -480 134.0 30.0
431 453 44 V +1 vA -450 131.0 33.0| 560 547 5v O +1 a4 -480 134.0 30.0
432 452 44 V +1 vA -450 131.0 33.0( 627 657 5v O+1 &K -480 134.0 30.0
530 554 44 V+1 vA -450 131.0 33.0| 651 633 5v V+1 A -480 134.0 30.0
549 535 44 V +1 vA -450 131.0 33.0| 656 628 5v O+1 &K -480 134.0 30.0
550 534 44 O +1 *T -450 131.0 33.0( 723 759 4v O+2 &K -480 134.0 30.0
625 659 44 V+1 vA -450 131.0 33.0( 725 757 4y V+2 A -480 134.0 30.0
650 634 4e V+1 vA -450 131.0 33.0| 729 753 5v V+1 &K -480 134.0 30.0
729 753 44 O+1 vQ -450 131.0 33.0| 730 752 5v O+l &K -480 134.0 30.0
730 752 44 O+1 vQ -450 131.0 33.0| 754 728 5v O+l &K -480 134.0 30.0
850 858 44 O+1 &T -450 131.0 33.0| 827 826 4y O +2 &K -480 134.0 30.0
853 855 44 V+1 vA -450 131.0 33.0( 860 854 4y O+2 &K -480 134.0 30.0
857 851 44 V+1 vA -450 131.0 33.0| 925 928 4v V +2 A -480 134.0 30.0
923 930 44 V+1 vA -450 131.0 33.0| 953 955 4v O +2 *Q -480 134.0 30.0
929 924 44 O+1 vQ -450 131.0 33.0| 956 952 5v O+1 &K -480 134.0 30.0
727 755 3N QO +2 T -460 114.0 50.0| 957 951 4v O +2 &K -480 134.0 30.0
424 421 44 O +2 vQ -480 71.0 93.0| 424 421 5v O+2 *6 -510 89.0 75.0
433 451 44 O +2 vA -480 71.0 93.0| 430 454 5v O +2 *6 -510 89.0 75.0
449 435 44 O +2 +9 -480 71.0 93.0| 431 453 4y O+3 +6 -510 89.0 75.0
450 434 44 V +2 vA -480 71.0 93.0| 450 434 5v O +2 *6 -510 89.0 75.0
460 447 4e V +2 vA -480 71.0 93.0| 522 523 44 O+3 *6 -510 89.0 75.0
524 521 44 V +2 vA -480 71.0 93.0| 524 521 4y O+3 +6 -510 89.0 75.0
525 559 44 O +2 T -480 71.0 93.0( 528 556 4v O+3 +6 -510 89.0 75.0
526 558 44 V +2 vA -480 71.0 93.0| 546 548 4v V +3 vJ -510 89.0 75.0
528 556 44 V +2 vA -480 71.0 93.0( 550 534 4v O+3 +6 -510 89.0 75.0
531 553 44 V +2 &2 -480 71.0 93.0| 624 621 4v V+3 *J -510 89.0 75.0
532 552 44 O +2 vA -480 71.0 93.0| 625 659 4v O +3 *6 -510 89.0 75.0
533 551 44 V+2 vA -480 71.0 93.0| 629 655 4y O+3 +6 -510 89.0 75.0
546 548 44 V +2 vA -480 71.0 93.0( 630 654 4v O+3 +6 -510 89.0 75.0
555 529 44 V +2 vA -480 71.0 93.0| 647 649 4v V+3 *J -510 89.0 75.0
560 547 44 V +2 vA -480 71.0 93.0| 650 634 4y O+3 +5 -510 89.0 75.0
624 621 44 V +2 a4 -480 71.0 93.0| 660 648 4v O +3 *6 -510 89.0 75.0
627 657 44 V+2 vA -480 71.0 93.0| 721 722 4v O+3 *6 -510 89.0 75.0
629 655 44 V+2 vA -480 71.0 93.0| 735 747 5v O +2 *6 -510 89.0 75.0
631 653 4e V+2 vA -480 71.0 93.0| 749 733 4y O+3 *6 -510 89.0 75.0
632 652 44 O +2 &T -480 71.0 93.0| 825 828 5v O +2 *6 -510 89.0 75.0
647 649 44 O +2 vQ -480 71.0 93.0| 849 859 4v O+3 *6 -510 89.0 75.0
656 628 44 O +2 vA -480 71.0 93.0| 853 855 4y O+3 *6 -510 89.0 75.0
660 648 44 O +2 vQ -480 71.0 93.0| 923 930 5v O +2 *6 -510 89.0 75.0
723 759 44 O +2 vA -480 71.0 93.0| 931 922 4y O+3 +6 -510 89.0 75.0
724 758 44 V +2 vA -480 71.0 93.0| 748 734 64 O= &K -920 61.0 103.0
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725 757 46 V +2 vA -480 71.0 93.0| 850 858 6¢ O= &K -920 61.0 103.0
731 751 4e V+2 vA -480 71.0 93.0| 932 921 64 O= &K -920 61.0 103.0
735 747 44 O +2 vQ -480 71.0 93.0| 960 954 6¢ O= &K -920 61.0 103.0
754 728 4 \ +2 vA -480 71.0 93.0| 422 423 6v O= &K -980 40.0 124.0
760 746 4e V +2 vA -480 71.0 93.0| 425 459 6y O= &0 -980 40.0 124.0
823 830 4e V+2 vA -480 71.0 93.0| 428 456 6v O= &K -980 40.0 124.0
825 828 44 O+2 vQ -480 71.0 93.0| 446 448 6y O= &K -980 40.0 124.0
827 826 44 V +2 vA -480 71.0 93.0 | 457 427 6y V= SA -980 40.0 124.0
829 824 44 V +2 vA -480 71.0 93.0| 460 447 6v O= &K -980 40.0 124.0
849 859 44 V +2 vA -480 71.0 93.0| 531 553 6v O= &K -980 40.0 124.0
860 854 44V +2 vA -480 71.0 93.0| 533 551 6v O= &K -980 40.0 124.0
925 928 44 O +2 vQ -480 71.0 93.0| 623 622 6v V= &A -980 40.0 124.0
932 921 44 V+2 vA -480 71.0 93.0| 631 653 6v O= &K -980 40.0 124.0
950 958 44 V +2 vA -480 71.0 93.0| 658 626 6v O= &K -980 40.0 124.0
956 952 54 V+1 vA -480 71.0 93.0| 727 755 6v V= &A -980 40.0 124.0
957 951 4e V +2 vA -480 71.0 93.0| 731 751 6v O= &K -980 40.0 124.0
960 954 44 O +2 vQ -480 71.0 93.0( 760 746 6v V= SA -980 40.0 124.0
422 423 3N O +3 vQ -490 19.0 145.0( 832 821 6v O= &3 -980 40.0 124.0
457 427 3N O +3 vQ -490 19.0 145.0| 857 851 6v V= &A -980 40.0 124.0
630 654 3NO+3 vQ -490 19.0 145.0| 927 926 6y O= &K -980 40.0 124.0
651 633 3N O +3 T -490 19.0 145.0| 426 458 6v O +1 v5 -1010 12.0 152.0
721 722 3N O +3 vQ -490 19.0 145.0( 526 558 6v O +1 vT -1010 12.0 152.0
732 750 3N O +3 vQ -490 19.0 145.0| 557 527 6v V+1 vlJ -1010 12.0 152.0
748 734 3NO+3 vQ -490 19.0 145.0| 632 652 6y O+1 s A -1010 12.0 152.0
749 733 3N O +3 T -490 19.0 145.0| 756 726 6v O +1 v5 -1010 12.0 152.0
832 821 3NO+3 vQ -490 19.0 145.0| 823 830 6v O+1 s A -1010 12.0 152.0
856 852 3N O +3 vQ -490 19.0 145.0| 829 824 6v O+1 v3 -1010 12.0 152.0
623 622 3vyDN-3 aA -500 8.0 156.0| 831 822 6v O+1 aA -1010 12.0 152.0
455 429 3N O +4 vQ -520 5.0 159.0| 856 852 6v O +1 v5 -1010 12.0 152.0
831 822 3NO+4 vQ -520 5.0 159.0| 949 959 6v O+1 +6 -1010 12.0 152.0
557 527 64 O= vQ -980 2.0 162.0| 950 958 6v O +1 +6 -1010 12.0 152.0
927 926 5vDN-5 s A -1100 0.0 164.0| 532 552 6vyDO= a3 -1210 0.0 164.0
35 #1083 Basta kontrakt 36 & E5 Basta kontrakt
Syd v 754 64 S D -4-800 Vast v Kn1094 3 N =110
ov 4103 Alla + 862
£#Kn10765 & ¢ v & NT SEK32 & ¢ v & NT
& Kn4 a2 N10OS@8DO « D83 & K97 N9 8 6 87
v K2 v EKn10986 S10080 vE53 vKD762 S986 87
+ EDKNn852 +¢ 96 O 1011125 6 +10743 ¢ KD 0447 46
»D43 SEK92 V 1011125 6 »874 #Kn109 V44746
« EKD9765 & Knl0642
vD3 v8
¢ K74 ¢+ EKn95
&8 D65
Par Kontr ut Res Poang Par Kontr ut Res Poang
525 522 5& 0-2 a A 200 163.0 10| 652 634 2NDN= vK 690 164.0 0.0
532 554 6vDO-1 & K 200 163.0 10| 458 428 3vDO-2 v8 500 160.0 4.0
432 454 24 S= vK 110 160.0 40| 558 528 3vDO-2 T 500 160.0 4.0
523 524 54 0-1 a A 100 155.0 9.0| 628 658 2¢vDO -2 v8 500 160.0 4.0
527 559 6v O-1 aA 100 155.0 9.0| 460 448 2vDO-1 &5 200 145.0 19.0
657 629 6v O-1 aA 100 155.0 9.0| 547 549 2¢vyDO-1 a] 200 145.0 19.0
731 753 5v O-1 a A 100 155.0 9.0| 550 546 3v O-2 a] 200 145.0 19.0
633 653 34 S-1 v6 -50 149.0 150( 631 655 3v O-2 &5 200 145.0 19.0
925 924 34 S-1 vK -50 149.0 150( 632 654 3v O-2 v8 200 145.0 19.0
526 521 44DS-1 vK -100 141.0 23.0( 746 748 2¢vDO-1 &6 200 145.0 19.0
531 555 34DS-1 vK -100 141.0 23.0( 755 729 2vDO-1 »2 200 145.0 19.0
760 747 44 N-2 vK -100 141.0 23.0( 757 727 2v O-2 &5 200 145.0 19.0
927 922 44DS-1 vK -100 141.0 23.0( 760 747 2¢vDO-1 a] 200 145.0 19.0
930 958 34DS-1 vK -100 141.0 23.0( 823 826 2¢vDO-1 a2 200 145.0 19.0
954 950 44 S-2 vK -100 141.0 23.0( 854 850 3v O-2 &Q 200 145.0 19.0
451 435 3 O= a A -110 134.0 30.0| 930 958 2¢vDO-1 &5 200 145.0 19.0
533 553 44 S- &3 -150 130.0 340| 529 557 24 S+2 v3 170 130.0 34.0
630 656 44 S-3 vK -150 130.0 34.0| 657 629 24 S+2 v3 170 130.0 34.0
860 852 54 S-3 vK -150 130.0 340| 929 959 1a S+3 &3 170 130.0 34.0
558 528 3v O+2 oK -200 125.0 39.0| 432 454 14 S+2 vA 140 115.0 49.0
631 655 54 S-4 vK -200 125.0 39.0| 523 524 24 S+1 &7 140 115.0 49.0
651 647 3v O+3 a A -230 122.0 42.0| 527 559 24 S+1 a3 140 115.0 49.0
429 457 44DS-2 v6 -300 103.0 61.0| 560 548 24 S+1 &8 140 115.0 49.0
433 453 44D S-2 vK -300 103.0 61.0| 651 647 24 S+1 *4 140 115.0 49.0
460 448 44D S-2 vK -300 103.0 61.0| 659 627 24 S+1 vA 140 115.0 49.0
547 549 44DS-2 vK -300 103.0 61.0| 660 649 24 S+1 &4 140 115.0 49.0
551 535 44D S-2 vK -300 103.0 61.0| 722 723 24 S+1 vA 140 115.0 49.0
556 530 54D S-2 *A -300 103.0 61.0| 724 721 24 S+1 LX) 140 115.0 49.0
560 548 44D S-2 vK -300 103.0 61.0| 725 759 24 S+1 &8 140 115.0 49.0
625 622 44D S-2 vK -300 103.0 61.0| 927 922 24 S+1 vA 140 115.0 49.0
632 654 4e4DS-2 vK -300 103.0 61.0| 954 950 24 S+1 vA 140 115.0 49.0
722 723 44DS-2 vK -300 103.0 61.0| 425 422 INN+1 »J 120 97.0 67.0
726 758 44D S -2 vK -300 103.0 61.0| 427 459 2NN-= v2 120 97.0 67.0
746 748 44D S -2 vK -300 103.0 61.0| 429 457 2NN= vQ 120 97.0 67.0
757 727 44DS-2 vK -300 103.0 61.0| 531 555 INN+1 »J 120 97.0 67.0
823 826 44DS-2 vK -300 103.0 61.0| 625 622 INN+1 v2 120 97.0 67.0
827 822 44DS-2 vK -300 103.0 61.0| 831 857 INN+1 & 120 97.0 67.0
855 849 44DS-2 vK -300 103.0 61.0| 447 449 24 N= vA 110 81.0 83.0
951 953 44D S-2 vK -300 103.0 61.0| 526 521 24 S= &7 110 81.0 83.0
955 949 44D S-2 vK -300 103.0 61.0| 556 530 24 S= vA 110 81.0 83.0
425 422 54D S-3 vK -500 78.0 86.0| 624 623 24 S= &4 110 81.0 83.0
431 455 44D S -3 vK -500 78.0 86.0| 731 753 24 S= &4 110 81.0 83.0
447 449 54D S -3 vK -500 78.0 86.0| 832 856 2¢ S+1 v3 110 81.0 83.0
534 552 54DS-3 vK -500 78.0 86.0| 851 853 24 S= +4 110 81.0 83.0
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626 621 54DS-3 vA -500 78.0 86.0| 855 849 24 S= v3 110 81.0 83.0
749 735 54DS-3 vK -500 78.0 86.0| 921 928 24 S= vA 110 81.0 83.0
960 952 44DS-3 vK -500 78.0 86.0| 925 924 24 N= vK 110 81.0 83.0
450 446 5¢ V= 3 -600 69.0 95.0| 431 455 2vO-1 »5 100 58.0 106.0
733 751 5¢ V= aT -600 69.0 95.0| 451 435 2vO-1 &5 100 58.0 106.0
529 557 4v O= s A -620 65.0 99.0| 456 430 2v O-1 »5 100 58.0 106.0
550 546 5¢ V+1 43 -620 65.0 99.0| 525 522 INO-1 a2 100 58.0 106.0
423 424 5v O= s A -650 44.0 120.0| 532 554 2v O-1 *6 100 58.0 106.0
426 421 5v O= aA -650 44.0 120.0| 533 553 2v O-1 »5 100 58.0 106.0
427 459 5v O = & K -650 44.0 120.0| 551 535 2v O-1 ] 100 58.0 106.0
456 430 5v O= s A -650 44.0 120.0| 648 650 2v O-1 ] 100 58.0 106.0
458 428 5v O= a K -650 44.0 120.0| 726 758 2v O-1 ] 100 58.0 106.0
624 623 5v O= s A -650 44.0 120.0| 728 756 2v O-1 ] 100 58.0 106.0
628 658 5v O = s A -650 44.0 120.0| 732 752 2v O-1 &5 100 58.0 106.0
724 721 5v O= A A -650 44.0 120.0| 827 822 2vO-1 a2 100 58.0 106.0
725 759 4v O +1 s A -650 44.0 120.0| 923 926 2v O-1 ] 100 58.0 106.0
728 756 5v O = s A -650 44.0 120.0| 423 424 INN= LN 90 32.0 132.0
732 752 5v O= s A -650 44.0 120.0| 426 421 INN= LN 90 32.0 132.0
755 729 5v O= *2 -650 44.0 120.0| 433 453 INN= LN 90 32.0 132.0
825 824 5v O-= s A -650 44.0 120.0| 630 656 INN= vK 90 32.0 132.0
829 859 5v O= s A -650 44.0 120.0| 633 653 INN= LN 90 32.0 132.0
830 858 5v O= s A -650 44.0 120.0| 749 735 INN= LN 90 32.0 132.0
831 857 5v O= s A -650 44.0 120.0| 750 734 INN= LN 90 32.0 132.0
851 853 4v O +1 s A -650 44.0 120.0| 821 828 INN= LN 90 32.0 132.0
929 959 4v O +1 s A -650 44.0 120.0| 830 858 INN= LN 90 32.0 132.0
931 957 5v O= s K -650 44.0 120.0| 931 957 INN= LN 90 32.0 132.0
434 452 4v O +2 s A -680 17.0 147.0| 951 953 INN= v2 90 32.0 132.0
652 634 4v O +2 s A -680 17.0 147.0| 955 949 INN= LN 90 32.0 132.0
659 627 5v O +1 s A -680 17.0 147.0| 960 952 INN= LN 90 32.0 132.0
660 649 4v O +2 a K -680 17.0 147.0| 534 552 1lv O= a2 -80 18.0 146.0
821 828 5v O +1 s A -680 17.0 147.0| 860 852 INO= a2 -90 16.0 148.0
832 856 4v O +2 8 -680 17.0 147.0| 434 452 3NN-1 &4 -100 12.0 152.0
921 928 5v O +1 aK -680 17.0 147.0| 450 446 3# N-1 + K -100 12.0 152.0
923 926 5v O +1 s A -680 17.0 147.0| 825 824 3¢ N-1 vK -100 12.0 152.0
750 734 5v O +2 8 -710 7.0 157.0| 626 621 3# N-2 LN -200 4.0 160.0
854 850 4v O +3 »8 -710 7.0 157.0| 730 754 3NN-2 vK -200 4.0 160.0
648 650 64D S -4 vK -800 3.0 161.0| 733 751 34 S-2 &4 -200 4.0 160.0
730 754 64DS-4 vK -800 3.0 161.0| 829 859 3NN-2 v6 -200 4.0 160.0
932 956 6v O= aK -1430 0.0 164.0| 932 956 2v N-2 *3 -200 4.0 160.0
37 « D108 Basta kontrakt 38 aE7 Basta kontrakt
Nord v K987532 3y N =140 Ost v 7532 14 S =80
NS ¢+ E9 ov + E10864
»2 & ¢ v & NT K4 & ¢ v & NT
#7632 » EK5 N57 9565 & Kn92 » KD6 N56 676
vKn4 vD106 S57955 vKn v ED1094 S566 76
¢ 105 + D632 085357 ¢ Kn52 + D93 O7 6 656
#EKN984 #K63 V85357 #E87532 #106 V76656
« Kn94 4108543
vE v K86
+ KKn874 * K7
#D1075 #DKn9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
732 721 2vyDN+2 s A 1070 164.0 0.0| 551 547 3¢ O-5 3 500 164.0 0.0
655 651 2vyDN+1 s A 870 162.0 20| 457 431 2NV -4 6 400 162.0 2.0
860 856 3¢DO -4 vA 800 160.0 40| 929 928 3NO-3 +6 300 160.0 4.0
734 758 4v¥DN= s A 790 158.0 6.0| 559 529 24 V-2 v3 200 154.0 10.0
430 458 3vyDN= s A 730 155.0 9.0| 624 631 INV-2 *4 200 154.0 10.0
951 922 3vyDN= & K 730 155.0 9.0| 753 749 4aV-2 s A 200 154.0 10.0
427 422 4y N= s A 620 148.0 16.0( 827 830 34 V-2 *A 200 154.0 10.0
524 525 4v N= s A 620 148.0 16.0( 849 824 INV-2 *4 200 154.0 10.0
656 650 4v N= s K 620 148.0 16.0 432 456 2¢ N+1 &T 110 145.0 19.0
726 727 4v N= s K 620 148.0 16.0( 452 446 24 S= vJ] 110 145.0 19.0
825 832 4y N= s A 620 148.0 16.0 527 522 2¢ N+1 & K 110 145.0 19.0
831 826 34 V-4 v5 200 142.0 22.0( 759 733 24 S= v6 110 145.0 19.0
526 523 2v N+2 s A 170 136.0 28.0( 424 425 3 V-1 s A 100 121.0 43.0
532 556 2v N +2 s A 170 136.0 28.0( 430 458 INV-1 6 100 121.0 43.0
729 724 3v N+1 s A 170 136.0 28.0( 433 455 INV-1 *4 100 121.0 43.0
759 733 2v N+2 s A 170 136.0 28.0 451 447 3 V-1 s A 100 121.0 43.0
855 857 3v N+1 s A 170 136.0 28.0( 460 449 INV-1 *4 100 121.0 43.0
451 447 24 V-3 *2 150 129.0 35.0| 526 523 INV-1 *4 100 121.0 43.0
849 824 34 V-3 *A 150 129.0 35.0| 528 521 INV-1 6 100 121.0 43.0
424 425 3y N= s A 140 88.0 76.0( 530 558 2v V-1 *Q 100 121.0 43.0
426 423 3v N= s A 140 88.0 76.0( 532 556 2NV-1 6 100 121.0 43.0
428 421 3y N= s A 140 88.0 76.0( 557 531 INV-1 6 100 121.0 43.0
433 455 2v N+1 s A 140 88.0 76.0( 630 625 INV-1 *4 100 121.0 43.0
435 453 2v N+1 s A 140 88.0 76.0( 652 654 INV-1 *4 100 121.0 43.0
457 431 3y N= s A 140 88.0 76.0( 722 731 INV-1 6 100 121.0 43.0
459 429 3y N= s K 140 88.0 76.0( 732 721 INV-1 *4 100 121.0 43.0
527 522 3vy N= s A 140 88.0 76.0( 746 756 INV-1 +6 100 121.0 43.0
528 521 3y N= LY 140 88.0 76.0( 829 828 INV-1 3 100 121.0 43.0
530 558 2v N+1 s K 140 88.0 76.0( 851 822 24 V-1 *A 100 121.0 43.0
551 547 3v N= s A 140 88.0 76.0( 927 930 INV-1 +8 100 121.0 43.0
552 546 2v N+1 +3 140 88.0 76.0( 931 926 INV-1 *4 100 121.0 43.0
559 529 3v N= s A 140 88.0 76.0( 951 922 3#V-1 a7 100 121.0 43.0
560 549 3v N= s A 140 88.0 76.0( 524 525 2¢ N= &T 90 99.0 65.0
624 631 2v N +1 s A 140 88.0 76.0( 950 923 2¢ N= &T 90 99.0 65.0
632 623 2v N+1 s A 140 88.0 76.0 428 421 24 S-1 v] -50 62.0 102.0
634 621 3v N= s A 140 88.0 76.0 434 454 24 S-1 vJ] -50 62.0 102.0
647 659 3v N= s A 140 88.0 76.0 435 453 24 S-1 vJ -50 62.0 102.0
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652 654 3v N= s A 140 88.0 76.0| 448 450 2¢ N-1 *9 -50 62.0 102.0
722 731 3v N= oA 140 88.0 76.0| 459 429 24 S-1 vl] -50 62.0 102.0
728 725 3v N= oK 140 88.0 76.0( 533 555 24 S-1 v] -50 62.0 102.0
730 723 3v N= s A 140 88.0 76.0| 534 554 24 S-1 v6 -50 62.0 102.0
735 757 3v N= oA 140 88.0 76.0| 548 550 24 S-1 vl] -50 62.0 102.0
746 756 3v N= oA 140 88.0 76.0 552 546 24 S-1 v] -50 62.0 102.0
750 752 2v N+1 aA 140 88.0 76.0| 560 549 24 S-1 vl] -50 62.0 102.0
753 749 2v N+1 s A 140 88.0 76.0| 622 633 24 S-1 vl] -50 62.0 102.0
754 748 3v N= oA 140 88.0 76.0 628 627 2¢ N-1 «5 -50 62.0 102.0
760 751 3v N= s A 140 88.0 76.0| 629 626 24 S-1 vl] -50 62.0 102.0
827 830 3v N= oA 140 88.0 76.0| 634 621 2¢ N-1 &T -50 62.0 102.0
829 828 3v N= 6 140 88.0 76.0( 648 658 2¢ N-1 &T -50 62.0 102.0
850 823 3v S= *T 140 88.0 76.0| 655 651 24 S-1 vl] -50 62.0 102.0
851 822 3v N= oA 140 88.0 76.0| 656 650 24 S-1 vl] -50 62.0 102.0
859 853 2v N+1 LX] 140 88.0 76.0| 660 653 24 S-1 v] -50 62.0 102.0
927 930 3v N= s A 140 88.0 76.0| 726 727 2¢ N-1 &T -50 62.0 102.0
949 924 3v N= oA 140 88.0 76.0| 728 725 24 S-1 vl] -50 62.0 102.0
952 921 3v N= oA 140 88.0 76.0| 729 724 2¢ N-1 oK -50 62.0 102.0
955 957 3v S= *T 140 88.0 76.0| 730 723 24 S-1 vl] -50 62.0 102.0
958 954 2v N +1 s A 140 88.0 76.0| 747 755 24 S-1 vA -50 62.0 102.0
959 953 3v N= oK 140 88.0 76.0( 750 752 24 S-1 v] -50 62.0 102.0
434 454 34 O-2 *2 100 42.0 122.0| 754 748 24 N-1 &T -50 62.0 102.0
534 554 3NO-2 *4 100 42.0 122.0| 831 826 24 S-1 v] -50 62.0 102.0
535 553 3NO-2 vA 100 42.0 122.0| 850 823 2¢ N-1 &T -50 62.0 102.0
629 626 34 V-2 ¢ A 100 42.0 122.0| 852 821 2¢ N-1 &T -50 62.0 102.0
660 653 24 V-2 ¢ A 100 42.0 122.0| 858 854 24 S-1 v] -50 62.0 102.0
852 821 34DV-1 ¢ A 100 42.0 122.0| 859 853 2¢ N-1 &T -50 62.0 102.0
950 923 34 V-2 v5 100 42.0 122.0| 860 856 24 S-1 v5 -50 62.0 102.0
557 531 2¢ S= v] 90 33.0 131.0| 949 924 24 S-1 v] -50 62.0 102.0
628 627 2¢ N= *3 90 33.0 131.0| 952 921 2¢ N-1 &T -50 62.0 102.0
432 456 24 V-1 *2 50 26.0 138.0| 955 957 2¢ N-1 &T -50 62.0 102.0
533 555 2NO-1 *4 50 26.0 138.0| 959 953 24 S-1 vl] -50 62.0 102.0
648 658 3# V-1 ¢A 50 26.0 138.0| 427 422 INV= +6 -90 23.0 141.0
649 657 34 V-1 *2 50 26.0 138.0| 632 623 INV= +4 -90 23.0 141.0
931 926 24 V-1 v5 50 26.0 138.0| 647 659 INV= ¢4 -90 23.0 141.0
448 450 4v N-1 2 -100 19.0 145.0| 649 657 2# V= aA -90 23.0 141.0
460 449 4y N-1 a A -100 19.0 145.0| 535 553 3¢ N-2 vA -100 13.0 151.0
452 446 24 V= *2 -110 12.0 152.0| 734 758 3¢ N-2 &T -100 13.0 151.0
548 550 24 V= ¢A -110 12.0 152.0| 735 757 24 S-2 v] -100 13.0 151.0
630 625 24 V= *2 -110 12.0 152.0| 760 751 24 S-2 vl] -100 13.0 151.0
747 755 24 V= *2 -110 12.0 152.0| 855 857 24 N-2 oK -100 13.0 151.0
929 928 24 V= *2 -110 12.0 152.0| 960 956 24 S-2 v] -100 13.0 151.0
622 633 2NO= *7 -120 4.0 160.0| 925 932 34 0= 43 -110 5.0 159.0
925 932 INO+1 ¢4 -120 4.0 160.0| 958 954 2v O= *Q -110 5.0 159.0
960 956 2N O = .7 -120 4.0 160.0| 426 423 3¢ N-3 oK -150 2.0 162.0
858 854 24 V+1 *2 -140 0.0 164.0| 825 832 34DN-2 &T -300 0.0 164.0
39 4 E5 Bésta kontrakt 40 410862 Bésta kontrakt
Syd v DKn1085 4¢ V =-130 Vast v D87 44 V =-420
Alla + D93 Ingen 498
«D75 & ¢ v & NT #EKNn73 & ¢ v & NT
43 4108764 N439909 4 EKNn97 &KD5 N23724
v3 v K62 S43999 vE v Kn53 S23724
¢ EKKn876 ¢ 542 O 6 102 3 3 ¢ EKn + D10632 O 119 5 107
#K10843 &E2 vV 6 102 3 3 #KD9862 #105 vV 119 5 107
4 KDKn92 443
vE974 v K109642
+ 10 ¢ K754
#Kn96 *4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
654 648 5vDO -6 aK 1700 164.0 0.0| 630 621 74DV -4 *A 800 164.0 0.0
431 459 4vDN= LY 790 162.0 20| 421 430 3NO-3 v9 150 155.0 9.0
650 652 3NN +2 ¢5 660 159.9 41| 527 524 5¢ O-3 v4 150 155.0 9.0
425 426 4v S+1 ¢A 650 154.9 9.1| 626 625 44 V-3 v7 150 155.0 9.0
427 424 5v S= ¢ A 650 154.9 9.1| 634 656 5¢ O-3 a5 150 155.0 9.0
928 931 4v S+1 ¢A 650 154.9 9.1| 851 824 3NO-3 v4 150 155.0 9.0
956 958 4v S +1 ¢A 650 154.9 9.1| 856 858 54 V-3 v7 150 155.0 9.0
730 758 3NN +1 2 630 149.8 142| 859 855 5¢ O-3 v4 150 155.0 9.0
434 456 4v S= ¢ A 620 137.7 26.3| 928 931 4v V-3 v7 150 155.0 9.0
446 454 4v N= *A 620 137.7 26.3| 449 451 3NO-2 vT 100 128.0 36.0
449 451 4v S= ¢ A 620 137.7 26.3| 521 530 3NO-2 vT 100 128.0 36.0
521 530 4v N= *4 620 137.7 263 525 526 3NO-2 v4 100 128.0 36.0
546 554 4v N= 2 620 137.7 26.3| 528 523 64DV-1 +9 100 128.0 36.0
558 532 4v S= +K 620 137.7 26.3| 529 522 3NV-2 v7 100 128.0 36.0
659 631 4v S= ¢ A 620 137.7 26.3| 533 557 44 V-2 v7 100 128.0 36.0
660 651 4v S= ¢A 620 137.7 26.3| 552 548 44 V-2 v7 100 128.0 36.0
752 746 4v S= +K 620 137.7 26.3| 558 532 64DV-1 v7 100 128.0 36.0
850 825 4v S= ¢ A 620 137.7 26.3| 622 629 6& V-2 46 100 128.0 36.0
860 857 4v S= ¢A 620 137.7 26.3| 627 624 44 V-2 v7 100 128.0 36.0
433 457 3NN= SA 600 125.5 385| 732 756 44 O-2 *4 100 128.0 36.0
529 522 5¢DV-1 oA 200 106.3 57.7| 735 753 64DV-1 +9 100 128.0 36.0
533 557 5¢DV-1 a A 200 106.3 57.7| 828 831 44 V-2 v7 100 128.0 36.0
534 556 5¢DO-1 oK 200 106.3 57.7| 850 825 64DV -1 vQ 100 128.0 36.0
552 548 54D O -1 & K 200 106.3 57.7| 860 857 3NO-2 v9 100 128.0 36.0
628 623 5¢DO-1 *T 200 106.3 57.7| 921 954 3NV-2 v7 100 128.0 36.0
653 649 5¢DO-1 oK 200 106.3 57.7| 926 949 44 V-2 v7 100 128.0 36.0
732 756 5¢DO-1 vA 200 106.3 57.7| 952 923 3NO-2 v6 100 128.0 36.0
733 755 5¢DO0O-1 oK 200 106.3 57.7| 953 922 3NO-2 v6 100 128.0 36.0
734 754 5¢DO-1 oK 200 106.3 57.7| 425 426 44 V-1 v7 50 87.0 77.0
751 747 5¢DV-1 oA 200 106.3 57.7| 427 424 5&V-1 v8 50 87.0 77.0
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830 829 5¢DV-1 vQ 200 106.3 57.7| 428 423 44 O-1 v2 50 87.0 77.0
921 954 5¢DV-1 s A 200 106.3 57.7| 429 422 6+ V-1 +8 50 87.0 77.0
926 949 5¢DO-1 a K 200 106.3 57.7| 431 459 3NO-1 v6 50 87.0 77.0
930 929 5¢DO-1 &K 200 106.3 57.7| 433 457 44 O-1 v7 50 87.0 77.0
950 925 54D O -1 s K 200 106.3 57.7| 434 456 44 V-1 v7 50 87.0 77.0
952 923 5¢4DO-1 o K 200 106.3 57.7| 453 447 44 V-1 v7 50 87.0 77.0
953 922 5¢DO-1 2 Q 200 106.3 57.7| 458 432 64 V-1 46 50 87.0 77.0
959 955 5¢DV-1 s A 200 106.3 57.7| 531 559 54 V-1 vQ 50 87.0 77.0
727 722 3v S+1 *A 170 87.1 769 633 657 4e V-1 v7 50 87.0 77.0
428 423 3v N= &A 140 82.0 82.0| 647 655 44 V-1 v7 50 87.0 77.0
647 655 3v N= *A 140 82.0 82.0| 653 649 4e V-1 v7 50 87.0 77.0
826 849 3y N= *A 140 82.0 82.0| 660 651 4¢ O-1 va 50 87.0 77.0
932 927 34 S= *A 140 82.0 82.0| 726 723 64 V-1 v7 50 87.0 77.0
553 547 5¢ V-1 s A 100 72.9 91.1| 748 750 64 V-1 v7 50 87.0 77.0
627 624 5¢ V-1 A A 100 72.9 91.1| 752 746 64 V-1 3 50 87.0 77.0
630 621 5¢ V-1 s A 100 72.9 91.1| 760 749 5¢ O-1 &4 50 87.0 77.0
757 731 5¢ O-1 s K 100 72.9 91.1| 821 854 44 V-1 v7 50 87.0 77.0
856 858 5¢ O-1 s A 100 72.9 91.1| 830 829 44 V-1 v7 50 87.0 77.0
421 430 4y N-1 &A -100 50.6 113.4| 852 823 44 V-1 a2 50 87.0 77.0
435 455 4y N-1 *A -100 50.6 113.4| 950 925 3NV-1 v7 50 87.0 77.0
452 448 4y N-1 *A -100 50.6 113.4| 751 747 2vDS-1 &K -100 64.0 100.0
458 432 4y N-1 *A -100 50.6 1134 | 930 929 24 V= v7 -110 62.0 102.0
460 450 4y N-1 *A -100 50.6 113.4| 650 652 44 V= v7 -130 59.0 105.0
525 526 4y N-1 *A -100 50.6 1134 659 631 34V +1 v7 -130 59.0 105.0
528 523 4v N-1 *A -100 50.6 113.4| 460 450 3%V +2 +9 -150 52.0 112.0
531 559 4y N-1 *A -100 50.6 113.4| 632 658 44 O +1 v7 -150 52.0 112.0
535 555 5v S-1 ¢A -100 50.6 1134 | 724 725 44V +1 v7 -150 52.0 112.0
560 550 4v N-1 *A -100 50.6 1134 | 826 849 34V +2 v7 -150 52.0 112.0
622 629 4v N-1 *A -100 50.6 113.4| 932 927 44V +1 v7 -150 52.0 112.0
626 625 4v N-1 *A -100 50.6 113.4| 960 957 3vDS-2 &K -300 46.0 118.0
633 657 4v N-1 *A -100 50.6 113.4| 452 448 5 V= v7 -400 36.0 128.0
634 656 4v N-1 *A -100 50.6 113.4| 553 547 54 V= v7 -400 36.0 128.0
724 725 4v S-1 ¢A -100 50.6 1134 | 727 722 54 V= v7 -400 36.0 128.0
759 729 4v N-1 &K -100 50.6 1134 | 728 721 54 V= v7 -400 36.0 128.0
859 855 4v N-1 *A -100 50.6 113.4| 733 755 5& V= vQ -400 36.0 128.0
453 447 4¢ O= a K -130 28.4 135.6| 757 731 3NO= a4 -400 36.0 128.0
549 551 3¢ O+1 & K -130 284 135.6| 759 729 3NO= +5 -400 36.0 128.0
735 753 3¢ V+1 vQ -130 284 135.6| 853 822 54 V= v7 -400 36.0 128.0
951 924 4e¢ V= vQ -130 28.4 135.6| 951 924 54 V= v7 -400 36.0 128.0
960 957 4¢ O= 2 Q -130 284 135.6| 560 550 44 V= a4 -420 23.0 141.0
728 721 4vyDN-1 *A -200 19.2 1448 | 628 623 44 O= &4 -420 23.0 141.0
832 827 5vS-2 *A -200 19.2 1448 | 654 648 44 O= *3 -420 23.0 141.0
851 824 5v N-2 *A -200 19.2 1448 | 956 958 44 V= v7 -420 23.0 141.0
852 823 5v S-2 *A -200 19.2 144.8| 446 454 3NV +1 46 -430 17.0 147.0
726 723 5v S-3 ¢A -300 14.2 149.8| 832 827 3NO+1 &7 -430 17.0 147.0
429 422 5vDN-2 *A -500 12.2 151.8| 549 551 44 V+1 a2 -450 13.0 151.0
760 749 4¢DV= vQ -710 8.1 155.9| 730 758 54 O= &4 -450 13.0 151.0
821 854 4¢DV= vQ -710 8.1 155.9| 435 455 44 V+2 v7 -480 10.0 154.0
853 822 4¢DV= s A -710 8.1 155.9| 546 554 5vDS-3 s A -500 8.0 156.0
527 524 3¢DO+1 & K -870 2.0 162.0| 534 556 54DV = v6 -550 3.0 161.0
632 658 3¢DO +1 a K -870 2.0 162.0| 535 555 54DV = 3 -550 3.0 161.0
748 750 3¢D O +1 & K -870 2.0 162.0| 734 754 54DV = v7 -550 3.0 161.0
828 831 40%/40% 65.6 65.6 959 955 54DV = v7 -550 3.0 161.0
41 4 D1032 Basta kontrakt 42 ~E742 Basta kontrakt
Nord v K7642 4% O =-130 Ost vE1076 6NT S = 1440
ov ¢ E95 Alla ¢ KKn5
&2 & ¢ v & NT & KKn LK & NT
« EKn8 4654 N2 86 6 4 4Knl0 &K9 N7 1 1212
vE vD10985 S 2866 4 v98532 vK S71 1212
¢Kn642 +3 O 104 6 6 7 + D96 + 874 061 11
#Kn9743 &#EKD5 V 104 6 6 7 «D92 #10876543 V61 11
« K97 # D8653
vKn3 v DKn4
+ KD1087 ¢ E1032
#1086 &E
Par Kontr ut Res Poang Par Kontr ut Res Poang
660 652 4vDO -4 ¢+ K 1100 164.0 0.0| 428 425 44 S+2 +6 680 155.9 8.1
621 632 54DV -2 3 500 162.0 2.0| 460 451 44 S+2 v9 680 155.9 8.1
432 421 3NV-4 3 400 160.0 40| 560 551 44 S+2 v9 680 155.9 8.1
426 427 6% 0O -3 + K 300 157.0 7.0| 628 625 44 S+2 v8 680 155.9 8.1
928 927 64 0 -3 + K 300 157.0 7.0| 731 759 44 S+2 v2 680 155.9 8.1
429 424 3NV -2 a2 200 142.0 22.0| 832 823 54 S+1 v9 680 155.9 8.1
450 452 3NV-2 a2 200 142.0 22.0| 858 852 44 N+2 v9 680 155.9 8.1
522 531 5&V-2 *A 200 142.0 22.0| 928 927 44 S+2 *Q 680 155.9 8.1
535 557 3NV-2 3 200 142.0 220 951 959 4e S+2 v6 680 155.9 8.1
628 625 3NV -2 43 200 142.0 22.0| 426 427 44 S+1 v8 650 103.3 60.7
634 658 3NV-2 3 200 142.0 22.0| 435 457 44 S+1 v8 650 103.3 60.7
655 649 2v O-2 + K 200 142.0 22.0| 446 456 4e S+1 ] 650 103.3 60.7
725 726 5# V-2 a2 200 142.0 22.0| 447 455 44 N+1 v2 650 103.3 60.7
729 722 3NV -2 43 200 142.0 22.0( 453 449 44 S+1 a2 650 103.3 60.7
832 823 3NV-2 3 200 142.0 22.0| 454 448 44 S+1 ] 650 103.3 60.7
850 821 54D O-1 + K 200 142.0 22.0| 522 531 44 S+1 *2 650 103.3 60.7
854 856 3NV-2 a2 200 142.0 22.0| 526 527 44 S+1 v9 650 103.3 60.7
957 953 3NV-2 3 200 142.0 220 529 524 44 S+1 ] 650 103.3 60.7
654 650 2¢DS= vA 180 128.0 36.0| 535 557 44 S+1 aT 650 103.3 60.7
826 829 24 S+2 vA 170 126.0 38.0| 547 555 44 S+1 v9 650 103.3 60.7
422 431 24 S+1 vA 140 124.0 40.0| 550 552 44 S+1 ] 650 103.3 60.7
749 751 24 S+2 vA 130 122.0 42.0| 553 549 44 S+1 ] 650 103.3 60.7
851 859 3¢ S= vA 110 119.0 45.0| 559 533 44 S+1 v2 650 103.3 60.7
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